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S.Y. B.A. Examination, 2011

SOCIAL WORK

General Paper

                          i) Introduction : Fields of Social Work

ii) Population Education

(2008 Pattern)

Time : 3 Hours Max. Marks : 80

           N.B.: i) All questions are compulsory.

ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each. 10

i) Explain the importance of Correctional Welfare.

ii) Describe the problems of aged.

iii) Explain the problems of tribal community.

iv) State the concept of Population Education.

2. Answer any four of the following in 100 words each : 20

i) Explain the need of Medical Social Work.

ii) Explain the causes of poor standard of living and suggest remedies.

iii) “The effect of large family size on family life”. Discuss.

iv) Explain the concept of Child Welfare.

v) State the problems of Urban Community.

vi) Highlight on the problems of youth.
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3. Answer any three of the following in 200 to 250 words each. 30

i) Explain the factors affecting on population growth.

ii) Explain Govt. Schemes for Welfare of Backward Classes.

iii) State the causes of unemployment and its effects on individual, family and
community.

iv) Write a detail note on “Labour Welfare”.

v) Highlight on the “various fields of Social Welfare”.

4. Answer any one of the following in 500 words : 20

i)  Discuss on “various approaches of Rural Development”.

ii) Write an essay on “Population Explosion”.
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S.Y.B.A. Examination, 2011
EDUCATION (General – 2)

(2008 Pattern)
Time : 3 Hours Max. Marks :80

 Instructions : 1) Black figures to the right indicate full marks.
2) All questions are compulsory.

1. Write the answers of the following questions in 50 words each (any two) : 10

1) Write the importance of computer education.

2) Explain the importance of Open University.

3) Explain the concept of Heredity.

4) Explain the characteristics of Social Institution.

2. Write short notes in 100 words each (any four) : 20

1) Explain the concept of forgetting.

2) Give the objectives of ‘Shreeniketan’.

3) Law of learning according to Thorndike.

4) Explain the project method.

5) Explain the difference between growth and development.

6) Characteristics of learning process.

3. Answer the following questions in 200 to 250 words each (any three) : 30

1) What is Vocational Education ? Explain the importance of vocational
education.

2) Explain the role and functions of school in development of democratic

values.
P.T.O.
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3) What is Secondary Education ? Write the objectives of secondary education
with reference to National Education Policy, 1986.

4) What is insight method of learning ? Explain its nature and importance.

5) Explain the characteristics of Basic Education according to Mahatma Gandhi.

6) What is Memory ? Explain the various stages of process of memory.

4. Write the answer of the following question in 500 words (any one) : 20

1) Explain the characteristics of physical, mental, emotional and social
development at childhood stage.

2) What is learning ? Explain in detail the factors affecting learning.
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Total No. of Questions—5] [Total No. of Printed Pages—4+2

[4001]-201

S.Y. B.A. EXAMINATION, 2011

COMPULSORY ENGLISH

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

(Text Prescribed : Reflections—II)

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two of the following : [16]

(1) Explain the views of Chief Seattle and his people about land

and nature.

(2) How did the two chance meetings with JRD Tata change Sudha

Murthy’s life ? Discuss fully.

(3) ‘The Three-Piece Suit’ is a cautionary story that warns you

against the dangers of Pride. Do you agree ? Give examples

from the story to support your answer.

2. Attempt any two of the following : [16]

(1) Comment on how O. Henry’s story ‘After Twenty Years’ brings

out the conflict between duty and friendship.
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(2) Bring out the element of humour in R. K. Narayan’s story

‘The Engine Trouble’.

(3) Describe the humiliating experience of the speaker in ‘Punishment

in Kindergarten’.

3. Attempt any two of the following : [16]

(1) Write a resume for the job of a computer operator cum Receptionist

in a reputed company.

(2) Write a review of a movie you have recently seen.

(3) Write an imaginative piece about how you felt and behaved

when you met an old friend after many years.

4. Attempt any eight of the following : [16]

(1) Fill in the blanks with the correct words :

(a) As soon as the news about my victory became public

knowledge, messages of.....................poured in.

(congratulations/praise)

(b) The man......................on his son’s toy and broke it.

(stepped/watched)

(2) Use the following phrases in your own sentences :

(a) grew up

(b) look after.
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(3) Choose the correct meaning of the underlined metaphors given

in brackets :

(a) It is an uphill task to finish this project on time.

(difficult work/easy job)

(b) He is a snake when it comes to business deals.

 (dangerous, untrustworthy/believable, predictable)

(4) Place an appropriate interjection and complete the sentence :

(a) ................. ! Leave that dog alone ! (Hey/Ugh)

(b) ................. ! I cut my finger.  (Ouch/Hurrah)

(5) Use a suitable word in the given blank :

(a) They were all gasping and...................by the time they

reached the top of the hill.  (breathless/tireless)

(b) There was no need for you to swim across the river

in spate. That was a...................action of yours.

(thoughtless/motionless)

(6) Choose the appropriate binomial and fill in the blank :

(a) As humans who live in a society, each of us has to

help the other. After all, none of us can manage without

some.................... . (give and take/pick and choose)

(b) Go and visit my cousin when you are in Delhi. He will

take good care of you and.....................you.

(wine and dine/eat and drink)
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(7) Use the following expressions in your own sentences :

(a) Plenty

(b) Several of.

(8) Write the meaning of the following idioms :

(a) if looks could kill

(b) hang one’s head.

(9) Insert linkers in the following blanks :

(a) I bought several items..................held them in my arms.

(and/but)

(b) I salute all men and women of India.................fought for

our freedom. (who/when)

(10) Do as directed :

(a) It sounds very interesting.

(Make an exclamatory sentence)

(b) Man is not immortal.

(Make a positive sentence)

5. Attempt any eight of the following : [16]

(1) Fill in the blanks with suitable prepositions :

(a) You may use words.......................disguise your thoughts.

(to/for)

(b) I agreed to write...................the subject. (on/in)
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(2) Use the prefix mis- to form two words.

(3) Write antonyms of :

(a) Simple

(b) Possible.

(4) Insert the correct verb in the following sentences :

(a) Sudesh angrily...................the door. (tossed/slammed)

(b) Most children.....................a mess while playing.

(do/make)

(5) Change the following into indirect speech :

(a) The lady said to her neighbour, “They’re even contesting

our second class seats.”

(b) My wife said, “How was your dinner date ?”

(6) Add a question tag :

(a) The poor have no other place to go.

(b) I engaged an elephant to pull the engine.

(7) Fill in the blanks with an appropriate conjunction :

(a) The mother......................daughter are adept at saying nice

things to people. (and/as)

(b) Sandeep Gajakas started a laundry service for

shoes....................his father did not like it. (but/or)
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(8) Frame questions out of the following sentences :

(a) Henry Ford founded Ford Motor Company.

(b) I am not aware of the difficulties.

(9) Insert a suitable article in the given blank :

(a) She waited at......................door with her coat on.

(a/an/the)

(b) It is.......................sin to be rude to books. (a/an/the)

(10) Punctuate the following sentences :

(a) pan is the greek god of nature

(b) the narrator said ive no spade to follow men like

them
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S.Y. B.A. EXAMINATION, 2011

MARATHI (ejkBh)

G-2 : vk/kqfud ejkBh lkfgR; vkf.k mi;ksftr ejkBh

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

ikB~;iqLrds :— (i) dFkkxkSjo

(ii) vkepk cki vku~ vkEgh

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

1. [kk«h« izðukaph mŸkjs f«gk %

(v) ðkqº«s[kukph ladYiuk FkksMD;kr Li"V djk- [10]

fdaok

[kk«h« mrkÚ;kps eqfÊr fpUgkuqlkj eqfÊr ðkks/ku djk %

ejkBh gh «odjp egkjk"V™kph jktHkk"k Eg.kwu ?kksf"kr dj.;klkBh fo/kku eMˇkiq<s

fo/ks;d ekaM.;kP;k n`"Vhus ðkklukus ;kiwohZp ik≈« mp«« vkgs- ðkklu O;ogkj

laiq.kZi.ks ejkBhr pk«o.;kph ifg«h ik;jh Eg.kwu ljdkjh dk;kZ «;krwu izðkklukP;k

dkeklkBh loZ Fkjkoj ejkBh Hkk"ksP;k okijkl izkslkgu ns.;kps ðkklukus Bjfo«s

vkgs gsrq gk dh] ðkklu O;ogkjkrh« ejkBhdj.k lqjˇhri.ks ?kMwu ;kos- loZ

loZ ljdkjh deZpkÚ;kauh ejkBh Hkk"ksps iqjsls Kku laiknu djkos vkf.k R;k

Hkk"kspk vkiY;k dkedktkr ðkD; frrD;k tkrhr tkLr iek.kkr mi;ksx djkok-
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(c) [kk«h fn«s«k vðkqº mrkjk iqUgk ðkqº«s[ku fu;ekuqlkj f«gk % [10]

Hkk"kkrj gh iqufuferhZ vkgs- eqˇ Hkk"ksrh« fopkj fdaok ladYiuk fdaok vuqHko

vki.k uhVi.ks xzg.k d: ðkdrks o nqlÚ;k Hkk"ksr rks lÿfer dj.;klkBh

R;kgh Hkk"ksph ;ksX; tk.k Hkk"kkarjdkjk«k vl«h ikfgts- dks.kR;kgh Hkk"ksps mre

Kku vkiY;k«k vkgs vls] tsOgk vki.k Eg.krks rsOgk R;k Hkk"ksrh« ðkCnlaxzg]

R;k Hkk"ksps O;kdj.k] lkekthd vkf.k ok≥e;hu ladsr] lkaLœrhd vkf.k oSpkfjd

ikðoZHkqeh vkiY;k«k Kkr vkgs] vls x`ghr /kj«s«s vlrs-

fdaok

[kk«h fn«s«s vðkqº ðkCn ðkqº Lo:ikr f«gk (dks.krsgh ngk) %

(1) rkjhd

(2) /kkehZd

(3) fuew«Zu

(4) frFkZ{ks=

(5) inO;qrj

(6) ifj{kd

(7) ofM«

(8) ts"B

(9) ijarw

(10) tkxrhfddj.k

(11) fÿaMkx.k

(12) efuðkk-
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(d) [kk«h«iSdh dks.krsgh ngk ikfjHkkf"kd ðkCn f«gk % [10]

(1) Application

(2) Cashier

(3) Computer

(4) Dean

(5) University

(6) Duration

(7) Fund

(8) Interview

(9) Policy

(10) Software

(11) True-Copy

(12) Audit

(13) Director

(14) Graduate

(15) Circular

(16) Passport

(17) Radio

(18) Seminar

(19) Trophy

(20) X-Ray.



[4001]-202 4

2. (v) [kk«h«iSdh dks.kR;kgh ikp izðukaph mŸkjs izR;sdh 20 ðkCnkar f«gk % [5]

(1) dFksps ew«?kVd dks.krs vkgsr \

(2) dFksph dks.krhgh ,d O;k[;k f«gk-

(3) dFksps dks.krsgh nksu izdkj f«gk-

(4) «?kqdFksps tud dks.k \

(5) uodFksps tud dks.kk«k eku«s tkrs \

(6) lq#okrhP;k dk«[kaMkr ejkBh «?kqdFkk le`º dj.kkjh fu;rdkf«ds

dks.krh \

(7) dks.kR;kgh nksu nf«r dFkkdkjkaph ukos f«gk-

(c) [kk«h«iSdh dks.kR;kgh ikp izðukaph mŸkjs izR;sdh 20 ðkCnkar f«gk % [5]

(1) vkRepfj= Eg.kts dk; \

(2) vkRepfj= «s[kukr izkeq[;kus dks.krs nks"k vk<ˇrkr \

(3) pfj=«s[kukr izkeq[;kus dks.kR;k xks"Vh egŸokP;k ekuY;k tkrkr \

(4) dks.kR;kgh nksu nf«r vkRedFkukaph ukos f«gk-

(5) nf«r lkfgR;krh« ifg«s vkRedFku dks.krs \

(6) dks.kR;kgh nksu fp=iV d«koarkaP;k vkRepfj=kph ukos f«gk-

(7) jktdh; {ks=kðkh fuxMhr vl.kkÚ;k nksu vkRepfj=kaph ukos f«gk-

3. (v) [kk«h«iSdh ,dk izðukps mŸkj 50 ðkCnkar f«gk % [5]

(1) ejkBh dFksph okVpk« FkksMD;kr lkaxk-

(2) dFksrh« ^okrkoj.kfufeZrh* ;k ?kVdkps egŸo Li"V djk-
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(c) [kk«h«iSdh ,dk izðukps mŸkj 50 ðkCnkar f«gk % [5]

(1) vkRepfj= vkf.k vkRedFku ;ke/kh« lkE;&Hksn Li"V djk-

(2) pfj=&«s[kukps Lo:i FkksMD;kr lkaxk-

4. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 150 ðkCnkar f«gk % [15]

(v) (1) xkMxhˇkauh [kqVeqVÓkaP;k pkˇhps fp= dls js[kkVˇs vkgs \

(2) ^vax.kkrh« iksiV* ;k dFksrh« euksfoð«s"k.k-

(c) (1) MkW- ujsaÊ tk/ko vkiY;k vkthP;k nwjn`"Vhi.kkfo"k;h dks.krs vuqHko ekaMrkr \

(2) viwokZ tk/ko ;kaps O;fDrfp= js[kkVk-

5. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 150 ðkCnkar f«gk % [15]

(v) (1) ^Hkwd* ;k dFksrwu nf«r thoukpk dks.krk vkðk; ckcqjko ckxw«kauh ekaM«k

vkgs \

(2) Jhjke xqansdj ;kauh ^«xke* ;k dFksr xzkeh.k thoukps dks.krs okLro

js[kkV«s vkgs \

(c) (1) ^vkepk cki vku~ vkEgh* ;k vkRepfj=krwu nkeksnj tk/ko ;kaP;k O;fDreŸokps

dks.krs iS«w ikgk;«k feˇrkr \

(2) ^^pSrU;kus lˇlˇ.kkjs O;fDreŸo Lodr̀ZRokoj vQkV ;ðk fě ow ðkdrs-**

;k fo/kkukpk izR;; MkW- ujsaÊ tk/ko ;kaP;k ckcrhr dlk ;srks \
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G-2 : O;kogkjhd o mi;ksftr ejkBh

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

1. [kk«h«iSdh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkar f«gk % [20]

(1) nSuafnu O;ogkjkrh« Hkk"ksis{kk dk;kZ«;hu Hkk"ksP;k osx ši.kkps nksu foðks"k f«gk-

(2) dk;kZ«;hu i= O;ogkjkps nksu oSfðk"VÓs f«gk-

(3) uksdjhfo"k;d vtkZrh« nksu izeq[k ckch f«gk-

(4) bfròŸk «s[kukps nksu Qk;ns f«gk-

(5) fVIi.kh «s[kukps nksu mÌsðk f«gk-

(6) ekfgrhij fVIi.kh Eg.kts dk; \

(7) i=«s[kukps nksu foðks"k f«gk-

(8) ,M~l laca/kh ,d ?kks"kokD; r;kj djk-

(9) Lejf.kdk «s[kukps nksu izdkj f«gk-

(10) ifji=d Eg.kts dk; \

(11) fufonk «s[kukps nksu mÌsðk f«gk-

(12) ekfgrhi=dkps nksu izdkj f«gk-

(13) lqo.kZ egksRloh o"kZ fdrh o"kk±uh lktjs ds«s tkrs \
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2. [kk«h«iSdh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) uksdjhfo"k;d vtkZps Lo:i Li"V djk-

(2) vgok«kRed bfro`Ÿkkps foðks"k f«gk-

(3) fVIi.kh «s[kukph vkoð;drk Li"V djk-

(4) Lejf.kdk «s[kukps Lo:i f«gk-

3. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 150 ðkCnkar f«gk %

(v) iq<h« fo"k;koj bfro`Ÿk r;kj djk % [10]

^gkx.knkjh eqDr xko eksfgesr* lgHkkxh gks.;klanHkkZr okMk xkoP;k xzke iapk;rhrQsZ

xzkelHkk cks«ko.;kr vk«h gksrh-

fdaok

<kdk š ;sFks uohu ,l- Vh- cl lq: dj.;klanHkkZr xzkeLFkkaP;k orhus vkxkj

izeq[kkauk fouarh i= f«gk-

(c) ck«dkexkjkP;k izðukoj rqEgh o rqeP;k fe=kauh f«fg«sY;k «s[kkapk laxzg izdkfðkr

djko;kpk vkgs- R;klkBh fufonk «s[ku r;kj djk- [10]

fdaok

Kku izlkjd eaMˇkps d«k] okf.kT; o foKku egkfo|k«;] vkSjaxkckn egkfo|k«;kP;k

izosðk izfÿ;sph ekfgrh ns.kkjs ekfgrh i=d r;kj djk-
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4. (v) Jh lnkfðko x.kir eksjs ;kapk iq.ks ftYgk ifj"knsdMs varj ftYgk cn«hlkBh

vtZ vk«s«k vkgs- ;koj ek- fðk{k.kkf/kdkjh ;kaP;klkBh fVIi.kh f«gk-

(300 ðkCn) [15]

fdaok

fuea=.k i= r;kj djk %

fo"k;µegkfo|k«;kps okf"kZd Lusglaes«u- (300 ðkCn)

(c) e- Qq«s fðk{k.k izlkjd eaMˇkP;k okf"kZd vgok«kph :ijs"kk r;kj djk-

(300 ðkCn) [15]

fdaok

tkghj fuosnukps Lo:i lkaxwu efgaÊk vW.M efgaÊk daiuh f«-] lkriwj] ukfðkd

;k m|ksx lewgkus vkiY;k dkexkjkauk 50% cksul tkghj ds«k vkgs- ;k lacaËkh

tkghj fuosnu r;kj djk-
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S.Y. B.A. EXAMINATION, 2011

MARATHI (ejkBh)

foðððððks"kLrj] vH;klif=dk ÿekad&1

˝ejkBh lkfgR;krh« fofo/k izokg (ukVd@dknEcjh)˛

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

ikBÓiqLrds % (1) ^r`rh;jRu*µe- tksfrjko Qq«s-

(2) ^gkY;k gkY;k nq/kw ns*µckckjko eqlˇs-

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) loZ izðukauk leku xq.k vkgsr-

1. (v) [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 100 ðkCnki;±r f«gk % [9]

(1) ukVdkps Lo:i Li"V djk-

(2) ukVdkps iz;ksx ewY; Eg.kts dk; \

(3) ukVd vkf.k dknacjh ;krh« Qjd Li"V djk-

(4) ,dkafddk ;k ukVÓ izdkjkps Lo:i Li"V djk-

(5) ukVdkrh« Loxrkps egRo Li"V djk-

(c) [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 100 ðkCnki;±r f«gk % [9]

(1) dknacjh ;k ok≥~e; izdkjkps Lo:i Li"V djk-

(2) dknacjhps ?kVd dks.krs rs f«gk \
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(3) ,sfrgkfld dknacjh Eg.kts dk; rs f«gk \

(4) dknacjhrh« fuosnukps egRo Li"V djk-

(5) dknacjh vkf.k dFkk ;ke/kh« Qjd Li"V djk-

2. (v) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 100 ðkCnki;±r f«gk % [6]

(1) laxhr ukVd vkf.k x| ukVd ;krh« Qjd f«gk-

(2) jktdh; ukVdkaph ekfgrh f«gk-

(3) ukVdkrh« laxhrkps egRo Li"V djk-

(4) ukVdkrh« okrkoj.kfufeZrhlkBh dks.kdks.kR;k xks"Vhapk mi;ksx gksrks] rs

f«gk \

(c) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 100 ðkCnki;±r f«gk % [6]

(1) dknacjh gk ok≥~e; izdkj dlk O;kid vkgs] rs Li"V djk-

(2) L=hoknh dknacjhdkjkaph FkksMD;kr ekfgrh f«gk-

(3) jktdh; dknacÚ;k vkf.k R;kaps «s[kd ;kaph FkksMD;kr ekfgrh f«gk-

(4) pfj=kRed dknacjhph oSfðk"VÓs f«gk-

3. (v) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnki;±r f«gk % [10]

(1) egkRek Qq«sapk dks.krk fopkj ^r`rh; jRu* ukVdkrwu vk«s«k vkgs \

(2) ^r`rh; jRu* ukVdkrh« tksxkbZP;k irhps O;fDrfp=.k djk-

(3) ^r̀rh; jRu* ;k ukVdkP;k ðkh"kZdkpk vUo;kFkZ Li"V djk-

(4) ^r`rh; jRu* ;k ukVdkps Hkk"kkfoðks"k Li"V djk-
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(c) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnki;±r f«gk % [10]

(1) ^gkY;k gkY;k nq/kw ns* ;k dknacjhe/kh« okrkoj.kkps foospu djk-

(2) lksckps nq%[k dks.krs gksrs] rs f«gk \

(3) ðkadj ikV«kps O;fDrfp=.k djk-

(4) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrwu fofo/k ukR;kaps nðkZu dls ?kMrs]

rs Li"V djk-

4. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 150 ðkCnkr f«gk % [15]

(v) (1) ^r`rh; jRu* ;k ukVdkrh« tksxkbZP;k O;fDreRokps foðks"k Li"V djk-

(2) ikÊh ;k O;fDrjs[ksps O;fDrfp= Li"V djk-

(c) (1) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrwu «s[kdkus xjhc ðksrdÚ;kps dls fp=.k

ds«s«s vkgs rs f«gk \

(2) vkulk vkf.k U;kuck ;kaP;k lalkjfp=kps nðkZu ^gkY;k gkY;k nq/kw ns*

;k dknacjhrwu dls ?kMfo«s«s vkgs] rs Li"V djk \

5. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 300 ðkCnkr f«gk % [15]

(v) (1) ^r`rh; jRu* ;k ukVdkpk FkksMD;kr vkðk; f«gk-

(2) ^r`rh; jRu* ;k ukVdkrh« fonq"kdkps egRo dks.krs rs Li"V djk \

(c) (1) ^xzkeh.k ðkksdkfRedk Eg.kwu* ^gkY;k gkY;k nq/kw ns* ;k dknacjhps ijh{k.k

djk-

(2) ^gkY;k gkY;k nq/kw ns* ;k dknacjhps Hkk"kkfoðks"k Li"V djk-
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MARATHI (ejkBh)

foðððððks"kLrj izðððððuif=dk ÿekad&2

(e/;;qxhu ejkBh ok≥~e;kpk bfrgkl % izkjaHk rs 1818) (LFkw«)

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps xq.k n”kZforkr-

1. iq<h«iSdh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkar f«gk (izR;sd xVkrh« dks.krsgh ikp) % [20]

(v) (1) ejkBh Hkk"kk o lkfgR;kpk mxe ðkks/k.;kps egRokps lk/ku dks.krs \

(2) eqdqanjktkaP;k xzaFkkph ukos f«gk-

(3) /koˇs Eg.kts dk; \ rs dks.kh f«fg«s \

(4) KkunsokaP;k xzaFkkph ukos f«gk-

(5) ^≈l Mksaxk ijh jl uOgs Mksaxk* gk vHkax dks.kh f«fg«k \

(6) Hkk#Ms gh dkO;jpuk dks.kR;k larkeqˇs izfln~/khl vk«h \

(7) Qknj ÿqvk ;kauh dks.krk xzaFk f«fg«k \

(c) (1) lar rqdkjkekaps iw.kZ uko f«gk-

(2) d#.kk"Vds dks.kh f«fg«h \
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(3) eqDrsðojkaP;k xzaFkkaph ukos f«gk-

(4) ejkBhrh« ifg«h c[kj dks.krh \

(5) ^;FkkFkZnhfidk* gk xzaFk dks.kh f«fg«k \

(6) ^lqanjk euke/;s Hkj«h* gh «ko.kh dks.kh f«fg«h \

(7) ^Hkk≈lkgsckaph c[kj* dks.kh f«fg«h \

2. iq<h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 50 ðkCnkar f«gk % [10]

(v) (1) ^/koˇs* ;k dkO;jpuspk ifjp; f«gk-

(2) ^foosd fla/kq* ;k xzaFkkpk vkðk; Li"V djk-

(c) (1) ^ne;arhLo;aoj* ;k vk[;kudkO;kph ekfgrh f«gk-

(2) ijðkjkekP;k «ko.;kaps foðks"k f«gk-

3. iq<h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 150 ðkCnkar f«gk % [20]

(v) (1) ukensokaP;k dkO;fufeZrh ekxh« izsj.kk Li"V d:u R;kaP;k ^Kkusðoj pfj=*

;k xzaFkkph ekfgrh f«gk-

(2) ,dukFkkaP;k ^Hkk:M* jpusps xq.kfoðks"k f«gk-

(c) (1) j?kqukFk iafMr ;k iafMrdfoP;k ok≥~e;hu drqZRokpk vk<kok ?;k-

(2) isðkosdk«hu c[kjhaps Lo:i Li"V djk-
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4. iq<h«iSdh ,dk izðukps mŸkj 300 ðkCnkar f«gk % [15]

(1) egkuqHkkoh; x| pfj=ij ok≥~e;kpk ifjp; ns≈u R;kph xq.koSfðk"VÓs Li"V

djk-

(2) KkusðojkaP;k lkfgR;lainsps vkðk;lkSan;Z o xq.koSfðk"VÓs foðkn djk-

5. iq<h«iSdh ,dk izðukps mŸkj 300 ðkCnkar f«gk % [15]

(1) lar esˇÓkrh« larkP;k vHkaxok.khps Lo:i Li"V djk-

(2) c[kjhph O;k[;k lkaxwu dks.kR;kgh nksu c[kjhaph ekfgrh f«gk-
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S.Y. B.A. EXAMINATION, 2011

fganh lkekU;µ2

HINDI [G-2]

(dgkuh] Nk;koknksŸkj dkO; ,oa ys[ku)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

ikB~;&iqLrdsa :— (i) dFkk fogkjµlaik- MkW- lqjs'k dqekj tSu

  MkW- oh.kk eupankA

(ii) dkO;&dqlqekoyhµlaik- MkW- lqjs'k dqekj tSu

           MkW- Ωpk 'kekZ

(Nk;koknksŸkj dkO;)

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(i) ^cM+s ?kj dh csVh* dgkuh dh ukf;dk dk pfj=&fp=.k dhft,A

(ii) ^ijnk* dgkuh dk vk'k; Li"V dhft,A

2. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(i) ^gesa u ck°/kks izkphjksa esa* dfork dk vk'k; Li"V dhft,A

(ii) ^iszr dk c;ku* dfork esa fpf=r leL;k ij izdk'k Mkfy,A
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3. fuEufyf[kr esa ls fdUgha nks vorj.kksa dh llanHkZ O;k[;k dhft, % [16]

(i) ^^rHkh esjs eu esa ;g ckr vk;h Fkh

fd Bhd gS] ;g vPNh gS]

mnkl gS] ij lPph gS %

blh dh lk°oyh Nk°o esa dqN nsj jgw°xk

blh dh lk°l dh ygj ij cgw°xkA**

(ii) ^^fdUrq----------------------

Hkw[k ;k {kq/kk uke gks ftldk

,slh fdlh O;kf/k dk irk ugha gedks

lko/kku egkjkt]

uke ugha] yhft,xk

gekjs le{k fQj dHkh Hkw[k dk !!**

(iii) ^^eSa fcYdqy vfUre vkSj fn[kkrk gw°µ

;k Hkhrj tk dj iwN vkb,] vkiA

gS xhr cspuk oSls fcYdqy iki_

D;k d:° exj ykpkj gkjdj

xhr csprk gw°A**

(iv) ^^ge iaNh mUeqDr xxu ds

fiatjcº u jg ik;saxs

dud&rhfy;ksa ls Vdjkdj

iqyfdr ia[k VwV tk;saxsA**
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4. (v) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [8]

(i) ^ikrduk'kue~* dgkuh dk ghjkA

(ii) ^Li'kZ* dgkuh ds 'kh"kZd dh lkFkZdrkA

(iii) ^Bsl* dgkuh dh fo'ks"krk,°A

(vk) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [8]

(i) ^lUukVk* dfork dk vk'k; fyf[k,A

(ii) ^t; gks* dfork dk HkkokFkZ vius 'kCnksa esa fyf[k,A

(iii) ^eq>s vkt g°luk pkfg,* dfork dk O;aX;A

5. fuEufyf[kr esa ls foKkiu vFkok O;kolkf;d i= dk izk:i rS;kj dhft, %

(v) u;s eksckby daiuh ds gSaMlsV dk vkd"kZd ,oa yqHkkouk foKkiu rS;kj

dhft,A [8]

vFkok

,ou lk;dy daiuh] lkrkjk] ek- O;oLFkkid] ghjks lk;dy daiuh] eqacbZ&14

ds uke ,tsalh ekaxus gsrq O;kolkf;d i= fy[krh gSA

(vk) fuEufyf[kr okD;ksa esa ls fdUgha pkj okD;ksa dks ldkj.k 'kqº djds fQj ls

fyf[k, % [8]

(i) ojn us ,d iqLrd [kjhnkA

(ii) vt; xkus dh dljr dj jgk gSA

(iii) 'kke us jktk dks ipkl #i, dh uksV nhA

(iv) ea=h th dk gLrk{kj lqUnj gSA

(v) cxhpk esa 'khry ok;w cg jgk gSA

(vi) dy unh esa ck<+ vk;k FkkA
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iz;kstuewyd fganhµG-2 (oSdfYid)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr iz'uksa esa ls fdUgha vkB ds laf{kIr mŸkj fyf[k, % [16]

(1) iz;kstuewyd fganh dh ladYiuk crkb,A

(2) okf.kT; dh ,oa O;kikj dh fganh dh tkudkjh nhft,A

(3) cSafdax i=kpkj ds nks izdkj crkb,A

(4) tulapkj ek/;e ds dk;Z fyf[k,A

(5) fjiksrkZt fdls dgrs gSa \

(6) laoknnkrk dh nks ;ksX;rk,° crkb,A

(7) foKkiu dk egRo crkb,A

(8) 'kCn&;qXe fdls dgrs gSa \

(9) nsoukxjh dEI;wVj dk ifjp; nhft,A

(10) ek/;e ds vk/kkj ij nks foKkiuksa ds nks izdkj crkb,A
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2. (v) fuEufyf[kr 'kCn&;qXeksa esa ls fdUgha pkj ds vFkZ crkdj okD; esa iz;ksx

dhft, % [8]

(1) vHk;&mHk;

(2) vfy&vyh

(3) fdyk&dhyk

(4) ikuh&ikf.k

(5) jkt&jkt+

(6) fnu&nhuA

(vk) fuEufyf[kr esa ls fdlh ,d ?kVuk@izlax dh laoknkRed vfHkO;fDr

fyf[k, % [8]

(1) fdlh nq?kZVuk dk vk°[kksa ns[kk gkyA

(2) vius fe= ls ;k=k o.kZu laca/kh ckrphrA

3. (v) fuEufyf[kr esa ls fdlh ,d ij vkdk'kok.kh ds fy, foKkiu dk uewuk rS;kj

dhft, % [8]

(1) [kk| rsy daiuh dk foKkiuA

(2) ckt+kj esa vk;k u;k Ldwy cSxA

(vk) fuEufyf[kr esa ls fdlh ,d ij nwjn'kZu ds fy, foKkiu dk uewuk rS;kj

dhft, % [8]

(1) ckyksi;ksxh oLrqvksa dh izn'kZuhA

(2) ckyksa dk lkcq.kA
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4. fuEufyf[kr esa ls fdUgha pkj y?kwŸkjh; iz'uksa ds mŸkj fyf[k, % [16]

(1) iz;kstuewyd fganh dh iz;qfDr;k° ,oa 'kSfy;k° crkb,A

(2) cSafdax i=kpkj dk egRo crkb,A

(3) O;kolkf;d i=kpkj ds izdkj Li"V dhft,A

(4) lk{kkRdkj@HksaVokrkZ dk Lo:i fo'kn dhft,A

(5) baVjusV dk egRo crkb,A

5. fVIif.k;k° fyf[k, (5 esa ls 4) % [16]

(1) dk;kZy;hu fganh

(2) lapkj ek/;e ds {ks= esa fganh

(3) foKkiu vkSj fganh

(4) laoknnkrk dh dk;Ziºfr

(5) foKkiu ds Qk;nsA
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S.Y. B.A. EXAMINATION, 2011

fganh fo'ks"kµI

dkO;'kkL= (Hindi Special–I)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdUgha nl iz'uksa ds mŸkj la{ksi esa fyf[k, % [20]

(1) dkO; dh dksbZ ,d laLœr ifjHkk"kk fyf[k,A

(2) dkO; ds dkj.k crkb,A

(3) ^vfHk/kk* 'kCn&'kfDr fdls dgrs gSa \

(4) ukVd dh ifjHkk"kk fyf[k,A

(5) jl ds vax fyf[k,A

(6) eqDrd dkO; ds Hksn fyf[k,A

(7) ^ohj* jl dk LFkk;h Hkko D;k gS \

(8) vkykspuk dh ifjHkk"kk fyf[k,A

(9) jl dh ifjHkk"kk nhft,A

(10) dkO; ds dksbZ pkj iz;kstu fyf[k,A

(11) fuca/k ds xq.k fyf[k,A

(12) ^lkfgR;* 'kCn dk vFkZ D;k gS \

(13) xhfrdkO; dh nks fo'ks"krk,° fyf[k,A
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2. fuEufyf[kr esa ls fdUgha nks Nanksa ds y{k.k crkdj lksnkgj.k Li"V dhft, % [10]

(1) nksgk

(2) gfjxhfrdk

(3) f'k[kfj.kh

(4) eankÿkarkA

3. fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mŸkj fyf[k, % [20]

(1) vkpk;Z Hkkeg }kjk izfrikfnr dkO; dh ifjHkk"kk Li"V dhft,A

(2) izfrHkk dk Lo:i Li"V dhft,A

(3) cqfº rRo dk ifjp; nhft,A

(4) egkdkO; dk Lo:i le>kb,A

(5) vkykspd ds nks xq.k foLrkj ls fyf[k,A

(6) jl lw= crkdj LFkk;hHkko dks Li"V dhft,A

4. fuEufyf[kr esa ls fdUgha rhu iz'uksa ds mŸkj foLrkj ls fyf[k, % [30]

(1) laLœr rFkk fganh ds fo}kuksa }kjk dh xbZ dkO; dh izeq[k ifjHkk"kkvksa dks

Li"V dhft,A

(2) dkO; ds gsrq fyf[k,A

(3) ,dkadh dh ifjHkk"kk nsdj ,dkadh vkSj ukVd dh rqyuk dhft,A

(4) dkO; ds rRoksa ij izdk'k Mkfy,A

(5) dgkuh ds izeq[k rRoksa dk foospu dhft,A
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S.Y. B.A. EXAMINATION, 2011

HINDI (fganh)

Special Paper II

(ukVd] miU;kl vkSj e/;;qxhu fganh dkO;)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

ikB~;&iqLrdsa :— (i) cdjhµlosZ'ojn;ky lDlsukA

(ii) nkSM+µeerk dkfy;kA

(iii) dkO;&dqatµe/;;qxhu dkO;

MkW- ts- vkj- cksjls] MkW- Ωpk 'kekZA

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkjiwoZd fyf[k, % [16]

(1) ^vkt dh ;qok ih<+h dSfj;j ds fy, ikfjokfjd laca/kksa dks Hkwyrh tk jgh

gSA*µ^nkSM+* miU;kl ds vk/kkj ij Li"V dhft,A

(2) ^nkSM+* miU;kl ds izeq[k ik= iou dk pfj=&fp=.k dhft,A

2. fuEufyf[kr iz'u dk mŸkj foLrkjiwoZd fyf[k, % [16]

ehjk dh fojg&Hkkouk ij izdk'k Mkfy,A
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vFkok

fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, %

(i) dchj dh Hkk"kkA

(ii) ^in~ekor* dk lkSan;Z&o.kZuA

(iii) fcgkjh dh dkO;dykA

(iv) lwjnkl dk Jhœ".k ckyyhyk o.kZuA

3. (v) fuEufyf[kr vorj.kksa esa ls fdlh ,d dh llanHkZ O;k[;k dhft, % [8]

(1) ^^ekSlh yksx ds ;gk° Vkbe dh ikcanh cgqr FkhA g∂rs esa nks&,d

fnu Hkw[kk jguk iM+rk FkkA dbZ ckj ge yksx Vwj ij jgrs gSaA rc

Hkh iwjs iSls nsus iM+rs Fks ekSlh dksA**

(2) ^^rqe bl ikuh dh ,d cw°n vxj ek;ÿksLdksi ds uhps ns[k yks rks

dHkh u fi;ksA**

(vk) fuEufyf[kr vorj.k dh llanHkZ O;k[;k dhft, % [8]

^^erckjkS cknj vk;SA

gfj dks lus lks dcgw° u yk;SA

nknqj eksj iihgk cksyS] dks;y lcn lq.kk;SA

dkjh v°f/k;kjh fctyh peds] fcjgf.k vfr Mjik;SA

xktS cktS iou e/kqfj;k] esgk vfr >kM+ yk;SA

bd dkjh fcjgk vfr ukjh] ehjk° eu gfj Hkk;S˚**

vFkok

^^rU=h&ukn&dfoŸk&jl ljl jkx jfr jaxA

vucwM+s cwM+s rjs] tks cw<+s lc vax˚**
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4. fuEufyf[kr iz'u dk mŸkj foLrkjiwoZd fyf[k, % [16]

^^nqtZuflag vkt ds Hkz"V usrk dk izfrfuf/kRo djrk gSA** ^cdjh* ukVd ds vk/kkj

ij Li"V dhft,A

vFkok

fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, %

(i) ^cdjh* ukVd esa /kkfeZd va/kfo'oklA

(ii) deZohj dk pfj=&fp=.kA

(iii) ^cdjh* ukVd dk xzkeh.k thouA

5. fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [16]

(i) ^LVSyk* dk pfj=&fp=.kA

(ii) ^nkSM+* miU;kl esa fpf=r ifjos'kA

(iii) ^nkSM+* miU;kl dk mÌs';A
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S.Y. B.A. EXAMINATION, 2011

SANSKRIT (G-II)

(Raghuvamsha Canto V and VI,

Bhagavadgita Chapter III to VI)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(i) loZ izðu vfuok;Z-

(ii) mtohdMh« vad laiw.kZ xq.k n”kZforkr-

1. (A) Translate into English or Marathi any two of the following

passages : [8]

[kk«h«iSdh dks.kR;kgh nksu i| mrkÚ;kaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(i) re/ojs fo‹oftfr f{krh'ka fu%'ks"kfoJkf.kr dks"ktkre~A

mikRrfo|ks xq#nf{k.kkFkhZ dkSRl% izisns ojrUrqf'k";%˚

(ii) vI;xz.kheZU=œrke`rh.kka dq'kkxzcqºs dq'k«h xq#LrsA

;rLRo;k Kkue'ks"kekIra «ksdsu pSrU;feoks".kj'es%˚

(iii) vdk;ZfpUrkledk«eso izknqHkZoa‹pki/kj% iqjLrkr~A

vUr%'kjhjs"ofi ;% iztkuka izR;kfnns'kkfou;a fousrk˚
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(B) Explain with reference to the context any two of the

following : [8]

[kk«h«iSdh dks.kR;kgh nksgksaps lanHkkZlfgr Li"Vhdj.k djk %

(i) uklkS u dkE;kS u p osn lE;XÊ"Vqa u lk fHkUu#fpfgZ «ksd%A

(ii) vkik|rs u O;;eUrjk;S% dfPpUeg"ksZfL=fof/ka riLrr~A

(iii) i;kZ;ihrL; lqjSfgZeka'kks% d«k{k;% '«k?;rjks fg o`ºs%A

2. Write an essay type answer to any one of the following : [16]

[kk«h«iSdh dks.kR;kgh ,dk iz'ukps lfoLrj mRrj f«gk %

(i) Critically appreciate the fifth canto of j?kqoa'k-

j?kqoa'kkP;k ikpO;k lxkZps foospd jlxzg.k djk-

(ii) Give a detailed account of similes depicted in the sixth canto

of j?kqoa'k-

lgkO;k lxkZe/;s of.kZ«sY;k miekaps lfoLrj o.kZu djk-

3. Explain into English or Marathi any two verses of the following : [16]

[kk«h«iSdh dks.kR;kgh nksu '«ksdkaps baxzth fdaok ejkBhr Li"Vhdj.k djk %

(i) desZfUÊ;kf.k la;E; ; vkLrs eulk Leju~A

bfUÊ;kFkkZfUoew<kRek feF;kpkj% l mP;rs˚

(ii) ;=ksijers fpRra fu#ºa ;ksxlso;kA

;= pSokReukRekua i';UukRefu rqO;fr˚

(iii) ukn«s dL;fpRikia u pSo lqœra foHkq%A

vKkusuko`ra Kkua rsu eqgÓfUr tUro%˚
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4. Write an essay type answer to any one of the following : [16]

dks.kR;kgh ,dk iz'ukps lfoLrj mRrj f«gk %

(i) Summarise the sixth chapter of Bhagavadgita.

xhrsP;k lgkO;k v/;k;kpk lkjka'k f«gk-

(ii) Discuss the concept of ^deZ;ksx* with the help of third chapter

of Hkxon~xhrk-

Hkxon~xhrsP;k frlÚ;k v/;k;kP;k vk/kkjs ^deZ;ksx* gh ladYiuk Li"V djk-

5. Write a short note on any one from sections A and B each :

^v* vkf.k ^c* foHkkxkrh« izR;sdh ,dkoj laf{kIr Vhik f«gk %

Section A

(foHkkx ^v*)

(i) Character sketch of Aja.

vtjktkps O;fDrfp=.kA

(ii) Description of nature in the fifth canto of Raghuvamsha.

j?kqoa'kkP;k ikpO;k lxkZrh« fulxZo.kZuA [8]

Section B

(foHkkx ^c*)

(i) Yogabhrastah.

;ksxHkz"V%A

(ii) Loksamgraharth Karma.

«ksdlaxzgkFkZ deZA [8]
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SANSKRIT (S-I)

dkO;'kkL=foe'kZ] o`Rrfopkj o dkSfV«h; vFkZ'kkL= (vf/kdj.k 1] 6)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

osˇ % rhu rkl ,dw.k xq.k % 80

1. (A) Explain into English or Marathi any two of the following : [8]

iq<h«iSdh dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr Li"Vhdj.k djk %

(i) fu;frœrfu;ejfgrka g«knSde;heuU;ijrU=ke~A

(ii) ^'kfDr%* dfoRocht:i% laLdkjfo'ks"k%] ;ka fouk dkO;a u izljsr~A

(iii) bfr =;% leqfnrk%] u rq O;Lrk%A

(B) Explain with Sanskrit definition and Sanskrit illustration any

two of the following figures of speech : [8]

laLœre/kh« «{k.k vkf.k mnkgj.k lkaxwu iq<h«iSdh dks.kR;kgh nksu v«adkjkaps

Li"Vhdj.k djk %

(i) miek

(ii) mies;ksiek

(iii) llUnsg

(iv) vizLrqriz'kalkA
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2. How has Mammata differentiated the world of creator from the creation

of poet ? [16]

dfoph l`"Vh o cz„nsokph l`"Vh d'kh fHkUu vkgs rs eEeVkus dls Li"V ds«s vkgs \

Or

(fdaok)

Discuss the definition of Kavya according to Mammata.

eEeVkus lkafxr«sY;k dkO;«{k.kkph ppkZ djk-

3. (A) Explain with reference to the context any two of the following : [8]

iq<h«iSdh dks.kR;kgh nksgksaps lanHkkZlg Li"Vhdj.k djk %

(i) Lo/keksZ czk„.kL;k/;;ue/;kiua ;tua ;ktua nkua izfrxzg‹pA

(ii) vkUohf{kdh =;h okrkZ n.Muhfr‹psfr fo|k%A

(iii) rh{.kn.Mks fg Hkwrkukeq}stuh;ks HkofrA

(B) Explain with Sanskrit definition and Sanskrit illustration any

two of the following metres : [8]

laLœre/kh« «{k.k vkf.k mnkgj.k lkaxwu iq<h«iSdh dks.krhgh nksu o`Rrs Li"V

djk %

(i) vk;kZ

(ii) misUÊotzk

(iii) Hkqt≥~xiz;kr

(iv) 'kkf«uhA
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4. Explain the topics discussed by Kautilya any one of the following : [16]

dkSfVY;kus pfpZ«sY;k dks.kR;kgh ,dk fo"k;koj ppkZ djk %

(i) fo|kleqn~ns'k%µr= vkUohf{kdhLFkkiuk

(ii) Lofo"k;s œR;kœR;i{kj{k.ke~A

5. Write a critical paragraph each on any one from A and B :

iq<h«iSdh ^v* vkf.k ^c* foHkkxkrwu dks.kR;kgh ,dkoj foospd ifjPNsn f«gk %

Section A

(^v* foHkkx)

(i) The seven parts of state.

jkT;kph lkr vaxsA

(ii) Various mi/kk for Amatyas.

fofo/k mi/kkµvekR;kalkBh dlksVÓk- [8]

Section B

(^c* foHkkx)

(i) dkO;gsrwA

(ii) vfHk/kkA [8]
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SANSKRIT (S-II)

(osnlkSjHk)

(Vedasaurabha)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(i) loZ izðu vfuok;Z vkgs-

(ii) mtohdMh« vad laiw.kZ xq.k nðkZforkr-

1. (A) Translate into English or Marathi any two of the following

Mantras with necessary notes : [6]

[kk«h«iSdh dks.kR;kgh nksu ea=kaps vkoð;d Vhislg baxzth fdaok ejkBhr vuqokn

f«gk %

(1) osn eklks /k`rozrks }knðk iztkor% A

osnk ; mitk;rs˚

(2) vPNk on rola xhfHkZjkfHk% Lrqfg itZU;a uelk fooklA

dfuÿn n~o`"kHkks thjnkuw jsrks n/kkR;ks"kf/k"kq xHkZe~˚

(3) iq#"k ,osna lo± ;n~Hkwra ;Pp HkO;e~A

mrke`rRoL;sðkkuks ;nUusukfrjksgfr˚

P.T.O.
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(B) Write an essay type answer to any one of the following : [10]

[kk«h«iSdh dks.kR;kgh ,dkps lfoLrj mŸkj f«gk %

(1) Describe critically the deity ‘Indra’ in the Rigveda.

ΩXosnkrh« bUÊ ;k nsorsps fpfdRld o.kZu djk-

(2) Critically describe the ‘Usas-Sukta
&

 you have studied.

rqEgh vH;kl«sY;k m"kl~ lwDrkps foospd o.kZu djk-

2. (A) Translate into English or Marathi any two of the following

Mantras with necessary notes : [6]

[kk«h«iSdh dks.kR;kgh nksu eU=kaps vkoð;d Vhislg baxzth fdaok ejkBhr vuqokn

f«gk %

(1) bgSokfHk fo ruwHks vkRuhZ bo T;k;kA

okpLifrfuZ ;PNrq e∏;sokLrq ef; ‹kzqre~˚

(2) /k#";fl ðkk«s o`gPNUnk% iwfr/kkU;kA

vk Rok oRlks xesnk dqekj vk /ksuo% lk;ekLiUnekuk%˚

(3) ;r~ rs viksnda fo"ka rr~ r ,rkLoxzHke~A

x`∫.kkfe rs e/;eeqŸkea jleqrkoea fHk;lk usðknknq rs˚

(B) Write an essay type answer to any one of the following : [10]

[kk«h«iSdh dks.kR;kgh ,dkps lfoLrj mŸkj f«gk %

(1) Discuss the various subjects dealt in the Atharvaveda.

vFkoZosnkrh« fofo/k fo"k;kaph lfoLrj ppkZ djk-

(2) Explain different names of the Atharvaveda.

vFkoZosnkph vU;kU; ukos Li"V djk-
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3. (A) Explain with reference to the context any one of the

following : [6]

[kk«h«iSdh dks.kR;kgh ,dkps llanHkZ Li"Vhdj.k f«gk %

(1) rs lksea jktkue~ vdqoZu~A

(2) otzks oS ;wi%A

(B) Write an essay type answer to any one of the following : [10]

[kk«h«iSdh dks.kR;kgh ,dkps lfoLrj mŸkj f«gk %

(1) Describe the rite of Vpanayana according to the

Shatapathabrahmana.

ðkriFkczzk„.kkuqlkj miu;ufo/khps o.kZu djk-

(2) Critically examine the Manumatsya story.

euqeRL;dFksps fpfdRld ijh{k.k djk-

4. (A) Explain with the reference to the context any one of the

following : [6]

[kk«h«iSdh dks.kR;kgh ,dkps lanHkkZlfgr Li"Vhdj.k djk %

(1) vfo|;k e`R;aaq rhRokZ fo|k;ke`reqðursA

(2) u foŸksu riZ.kh;ks euq";%A

(B) Write an essay type answer to any one of the following : [10]

[kk«h«iSdh dks.kR;kgh ,dkps lfoLrj mŸkj f«gk %

(1) Describe Aruni’s preaching to Shwetaketu.

vk#f.kus ‹osrdsrw«k fn«s«k minsðk Li"V djk-

(2) Explain the dialogue between Yama and Nachiketa.

^;eufpdsr* laokn Li"V djk-
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5. (A) Write a critical note on any one of the following : [6]

[kk«h«iSdh dks.kR;kgh ,dkoj foospd ifjPNsn f«gk %

(1) Important peculiarities of the Vedic Language.

oSfnd Hkk"ksph izeq[k oSfðk"VÓs-

(2) Dialogue hymns in the Rigveda.

ΩXosnkrh« laoknlwDrs-

(B) Write critical notes on any two of the following : [10]

[kk«h«iSdh dks.kR;kgh nksgksaoj foospd ifjPNsn f«gk %

(1) Sarpavishnashana Sukta.

liZfo"kukðku lwDr-

(2) Sacrifice of Apamarga.

vikekxZ gkse-

(3) Answer of the Yajnavalkya  in the Janak Sabha.

;kKoYD;kps tudlHksrh« mŸkjA
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S.Y. B.A. EXAMINATION, 2011

ARDHAMAGADHI  [Prakrit] (G-2)

(i) vxMnŸkeqf.kvŸkdgk (Vashudev Hindee)

(ii) vHk;D[kk.ka of vEcnso (Ambdev Virachit)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate into English or Marathi any two from the following : [8]

iq<hyiSdh dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(i) vfRFk bgso dkslach, u;jh, gfjls.kks uke jk;k A rLl ; vXxefglh

/kkfj.kh nsoh A rLl ; j..kks vePpks lqcqºh uke A rLl ; HkTtk flagyh

uke A rhls ; iqŸkks vk.kanks uke] lks ; vga vklh A rRFk ; ee vlqg

dEeksn,.ka dqÎjksxks tkvks A rrks rs.k jksxs.ka larIiek.kks vIik.ka p funarks vkm

v.kqikysfe A

(ii) bea p ,RFk tqra* fr ,lk lkenrk lOokyadkj foHkwfl;k jgrqaMs iflf<yvgksoRFkk

Bk;m A ,bZ, :okosfl;pD[kw garOoks A rrks es Bfo;k lkenrk jgrqaMLl

iqjrks A rrks lks :o&tksOo.k fodklfofEg; fg;rks rRFkx;fnÎh A rrks ls

e;k fogya fnfÍ tkf.k≈.ka uhyqIiylf;xkls.k vkjkeqg.ks Fk.ki,ls vkgrks A

rrks lks rqjxkvks m;fj≈.k Hk.kbµ A

ukga ck.ks.k gvks] gvks fe ck.ks.k exjdsmLl A

tks HkaM.ks i;Ÿkks] efgyk.k eqga iyks,fe A
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(iii) rrks ; ls r#.kks ra r#f.ka nsomys Bos≈.k vfXxdkj.kk xrks A rko ; vEg

Hkk;.kk vfXxleqXxks mX?kkfMrks A lk ; Hkf.k;k µ vga rs Hkrkja fookMs≈.k

rqea ?ksPNkfe] tb ; jgLles;a djsfl rk rqea fi ufRFk fŸk A rh, Hkf.k;a

µ vga pso .ka ekj;kfe A rrks rs.k vEg Hkkm.kk yfo;a µ fdg rqea

ekjsfgfl \ rh, Hkf.k;a µ ,l vfXxa ?ksŸkw.k ,fgfr] ee ; gRFks vflyfÍ

nkfgb] rrks vga rLl vfXxa tkfyarLl lhla fNankfe fŸk A rvks vEg Hkkm.kk

vCHkqox;a A

2. Explain with reference to the context any two of the following : [8]

iq<hyiSdh dks.kR;kgh nksgksaps lanHkkZlg Li"Vhdj.k djk %

(i) fda uq ,;Ll Hko.kLl nso;k gksTta \ mnkgq ek.kqfl fŸk \

(ii) xaxk, okyq;a lk;js ty fgeorks ; ifjek.ka A

tk.kafr cqfºeark] efgyfg;;a u tk.kafr A

(iii) tks ; u nqfg, nqfgvks] rLl u nqD[ka dgs;Ooa A

3. Attempt any one question : [16]

dks.kR;kgh ,dk iz'ukps mŸkj fygk %

(i) Give the character sketch of vxMnŸk-

vxMnŸkkps O;f‰fp=.k djk-

(ii) Describe the heroic deeds of vxMnŸk on his way to mTts.kh-

mTts.khyk tkrkuk vxMnŸkkus dsysY;k ijkÿeh œR;kaps o.kZu djk-
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4. Write a critical paragraph on any one of the following : [8]

iq<hyiSdh dks.kR;kgh ,dk fo"k;koj foospd ifjPNsn fygk %

(i) Military training of vxMnŸk-

vxMnŸkkps y"djh izf'k{k.k-

(ii) mTtk.ktŸkk-

5. Translate any two of the following stanzas into English or

Marathi : [8]

iq<hyiSdh dks.kR;kgh nksu 'yksdkaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(i) ^eT> dqejk.k eT>s gksgh dks /kj/kqjk/kj.k/khjks A

lslks o egkHkksxks pqMkef.k jaft;k fljXxks AA

b; fpfra≈.k fla/kqjrqjaxek∑mTt jg ojkb..ka A

iTtkykob l;ya pmfÌfla ft..klkyfxga AA

(ii) cgqHkfUu≈.k earh.k fo.k;o;.kkf.k rD[k.ka dqejks A

t.kepj.kkoyks;.k leqLlqvks iHk.kb lq.kana AA

lqa;.kq eg t.k;ysgks leqLlqvks rk vga xfeLlkfe A

rqe, iq.k lljhja ikys;Ooa i;Ÿks.k AA

(iii) Hkks u;jt.kk rqEgk.ka uk;xks ,l paMiTtksvks A

fuTtb cºks vHk,.k ^r;.kq /kkob t.kks l;yks AA

fda ,l bea taib ^i;afi, Hk.kb vHk;ojearh A

eT> df.kV~Bks Hkk;k dEeolk okmyhgwvks AA
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6. Explain with reference to the context any two of the

following : [8]

iq<hyiSdh dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(i) ^js js ! tks ta fx.gb fnUua ra rLl lOoa fi A

(ii) ^jk;fxgu;j ijadqÏk xkscky;a* fŸk i;a A

(iii) fu;Nk; Oo ujslj ifjgfjOok i;k u r, A

7. How were the princes tested by the king izlsuftr \ [16]

izlsuftr jktkus jktdqekjkaph ijh{kk d'kh ?ksryh \

Or

(fdaok)

What do you know about the narrative style of vkeznso \

vkeznsokP;k fuosnu 'kSyhfo"k;h rqEgkl dk; ekfgrh vkgs \

8. Write critical paragraph on any one of the following : [8]

iq<hyiSdh dks.kR;kgh ,dkoj foospd ifjPNsn fygk %

(i) lqHkkf"krs in the vHk;D[kk.ka-

^vHk;D[kk.ka* e/khy lqHkkf"krs-

(ii) The fire-incident in mTtf;uh-

mTtf;uhrhy vkxhpk izlax-
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PALI

Genera Paper II

Pali Kusumanjali Chatuttho Bhago%

ikf« dqlqek¥t«h prqRFkks Hkkxks

(Lesson Nos. 9-14 & 18-23)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate into English or Marathi any two from each Section : [16]

izR;sd foHkkxkrh« dks.kR;kgh nksgksaps baxzth fdaok ejkBhr Hkk"kkarj djk %

Section A

(foHkkx A)

(A) vFk [kks vk;Lek iq..kks eUrkf.kiqŸkks lsuklua lalkesRok iŸkphojeknk; ;su lkofRFk

rsu pkfjda iDdkfe A vuqiqCcsu pkfjda pjekuks ;su lkofRFk tsroua vukFkfif.MdLl

vkjkeks ;su Hkxok rsuqil≥~dfe_ mil≥~dfeRok HkxoUra vfHkoknsRok ,deUra

fulhfn A ,deUra fuflÈka [kks vk;LeUra iq..ka eUrkf.kiqŸka Hkxok /kfEe;k dFkk;

lUnLlsfl leknisfl leqŸkstsfl lEigalsfl A vFk [kks vk;Lek iq..kks eUrkf.kiqŸkks

Hkxork /kfEe;k dFkk; lUnfLlrks leknfirks leqŸksftrks lEigaflrks Hkxorks Hkkflra

vfHkufUnRok vuqeksfnRok mÎk;kluk HkxoUra vfHkoknsRok infD[k.ka dRok ;su

vU/koua rsuqil≥~dfe fnokfogkjk; A
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(B) flfda uq rkga] ek«qD;iqŸk] ,oa vopa & ^,fg Roa] ek«qD;iqŸk] ef; cz„pfj;a

pj] vga rs C;kdfjLlkfe µ ^lLlrks «ksdks*fr ok] ^vlLlrks «ksdks*fr ok]

^vUrok «ksdks*fr ok] ^vuUr ok «ksdks*fr ok] ^ra thoa ra ljhj*fUr ok]

^v¥¥ka thoa v¥¥ka ljhj*fUr ok] ^gksfr rFkkxrks ija ej.kk*fr ok] ^u gksfr

rFkkxrks ija ej.kk*fr ok] ^gksfr p u p gksfr rFkkxrks ija ej.kk*fr

ok \ fluks gsra] HkUrsfi A flRoa ok iu ea ,oa vop µ vga] HkUrs] Hkxofr

cz„pfj;a pfjLlkfe] Hkxok es C;kdfjLlfr µ ^lLlrks «ksdks*fr ok] ^vlLlrks

«ksdks*fr ok] ^vUrok «ksdks*fr ok] ^vuUrok «ksdks*fr ok] ^ra thoa ra ljhj*fUr

ok] ^v¥¥ka thoa v¥¥ka ljhj*fUr ok] \

(C) ,oa oqŸks] oklsÎHkkj}ktk ek.kok HkxoUra ,rnokspq a µ flvfHkDdUra] Hkks

xksre] vfHkDdUra] Hkk s xksre ! ls∏;Fkkfi] Hkks xksre] fuDdqfTtra ok

mDdqTts∏;] ifVPNÈka ok foojs∏;] ewÛgLl ok eXxa vkfpD[ks∏;] vU/kdkjs ok

r s«iTtk sr a /kkj s∏; ^pD[k qeUrk s :ikfu nD[kUrh*fr A ,oeso a Hkk srk

xksresu vusdifj;k;su /kEeks idkflrks A ,rs e;a HkoUra xksrea lj.ka xPNke]

/kEe¥p fHkD[kql≥~?k¥p A miklds uks Hkoa xksreks /kkjsrq vTtrXxs ik.kqisrs lj.ka

xrsfifr A

Section B

(foHkkx B)

(A) fld.g[kU/kdlqo..kef.Mra] lksHkrs lqos.khfg«≥~dra A

ra tjk; [kf«ra flja dra] lPpokfnopua vUk¥¥kFkk AA

flfpŸkdkjlqdrko «sf[kdk] lksHkjs lq Hkeqdk iqjs ee A

rk tjk; of«fHkIi«fEcrk] lPpokfnopua vu¥¥kFkk AA
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(B) flHkLljk lq#fpjk ;Fkk e.kh] usŸkgslqefHkuh«ek;rk A

rs tjk;fHkgrk u lksHkjs] lPpokfnopua vu¥¥kFkk AA

fll.grq≥~xlfnlh p ukfldk] lksHkrs lq vfHk;ksCcua ifr A

lk tjk; midwf«rk fo;] lPpokfnopua vu¥¥kFkk AA

(C) flrLl rs ufRFk HkhrŸka] fHk∏;ks o..kks ilhnfr A

dLek u ifjnsosfl] ,o:is egCHk;s AA

flufRFk psrflda nqD[ka] vusiD[kLl xkef.k A

vfrDdUrk Hk;k lCcs] [kh.kla;kstuLl os AA

2. Explain with reference to the context any two from each

Section : [16]

izR;sd foHkkxkrh« dks.kR;kgh nksgksaps lanHkkZlfgr Li"Vhdj.k djk %

Section A

(foHkkx A)

(A) fd¥pkfi] Hkks xksre] czk„.kk ukukeXxs i¥¥kisfUr] vºfj;k czk„.kk frfŸkfj;k

czk„.kk NUnksdk czk„.kk cOgkfjT>k czk„.kk] vFk [kks lCckfu rkfu fu∏;kfudk

fu∏;fUr rDdjLl cz„lgC;rk; A

(B) ^lLlrks «ksdks*fr ok ^vlLlrks «ksdks*fr ok ^uso gksfr u u gksfr rFkkxrks

ija ej.kk*fr ok & ,okga Hkxofr cz„pfj;a pfjLlkfe_ uks ps es Hkxok C;kdfjLlfr

µ ^lLlrks «ksdks*fr ok ^vlLlrks «ksdks*fr ok ^uso gksfr u u gksfr rFkkxrks

ija ej.kk*fr ok & ,okga flD[ka iPpD[kk; ghuk;kofŸkLlkehfifr A

(C) bna nqD[k*fUr] ek«qD;iqŸk] e;k C;kdra_ ^v;a nqD[kleqn;ks*fr & e;k C;kdra_

^v;a nqD[kfujks/kks*fr & e;k C;kdra_ ^v;a nqD[kfujks/kxkfeuh ifVink*fr µ

e;k C;kdra A dLek psra] ek«qD;iqŸk] e;k C;kdra \
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Section B

(foHkkx B)

(A) flek es dqfT> egkohj] ek es dqfT> egkeqfu A

u fg dks/kijsrLl] lqfº vfRFk dqrks riks AA

(B) flrLlk vk;qD[k;a ¥kRok] nsfoUnks ,rnczfo A

^nnkfe rs nl ojs] ojHkÌs ;fnPNfl* AA

(C) fl;kfprk flo;ks lCcs] ,da ojenalq es A

lkof;Rok d..kHksfja] egknkua nnkega AA

3. Attempt any one from each Section in detail : [32]

izR;sd foHkkxkrh« dks.kR;kgh ,dk izðukps lfoLrj mŸkj |k %

Section A

(foHkkx A)

(A) rsfoTtlqŸkkps foospd ijh{k.k djk-

Evaluate critically rsfoTtlqŸk-

(B) pw«ek«q¡;lqŸkkps foospd ijh{k.k djk-

Evaluate critically pw«ek«q¡;lqŸk-

Section B

(foHkkx B)

(A) vEcik«hps thou-

Life of vEcik«h-

(B) nqD[kfujks/kxkfeuh ifVink-

Dukkhanirodhagamini  Patipada.
&
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4. Write a detailed note on any one from each Section : [16]

izR;sd foHkkxkrh« dks.kR;kgh ,dkoj lfoLrj Vhi f«gk %

Section A

(foHkkx A)

(A) vC;kdr izðu

(B) dq«widfHkD[kq A

Section B

(foHkkx B)

(A) osLlUrjpfj;k

(B) fuxzks/klke.ksj A
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S.Y. B.A. EXAMINATION, 2011

ECONOMICS

General Paper II (G-2)

(Banking and Co-operation in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]

(i) State the types of deposits.

(ii) Write the objectives of credit control.

(iii) Explain the role of co-operative agricultural marketing system.

(iv) State the types of Co-operative Housing Societies.

2. Write notes in 100 words each (any four) : [20]

(i) Advantages of Automated Teller Machine.

(ii) Scope of co-operation.

(iii) Primary Agricultural Co-operative Society.

(iv) Difference between Bank and moneylender.

(v) Functions of NABARD.

(vi) Problems of Co-operative Consumers Society in Maharashtra.

P.T.O.
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3. Answer the following questions in 200-250 words each (any three) : [30]

(i) What is Bill of Exchange ? Explain the characteristics of bill

of exchange.

(ii) Explain the functions of District Central Co-operative Bank.

(iii) Explain the functions of Reserve Bank of India.

(iv) State the meaning of globalization and explain its effect on

co-operative banking.

(v) Explain the principles of Banking.

4. Answer the following question in 500 words (any one) : [20]

(i) What is the process of credit creation of Commercial Bank ?

Explain its process of multiple credit creation.

(ii) Explain the problems of Diary Co-operative Institutes and suggest

the measures.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) Bsohaps fofo/k izdkj lkaxk-

(ii) irfu;a=.kkph mfÌ"Vs f«gk-

(iii) lgdkjh œ"kh foi.ku O;oLFksph Hkwfedk Li"V djk-

(iv) lgdkjh x`gfuekZ.k laLFksps izdkj lkaxk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(i) Lo;apf«r x.kd;a=kps Qk;ns-

(ii) lgdkjkph O;kIrh-

(iii) izkFkfed œ"kh lgdkjh laLFkk-

(iv) c°d vkf.k lkodkj ;krh« Qjd-

(v) ukckMZph dk;sZ-

(vi) egkjk"V™krh« xzkgd lgdkjh laLFkkaiq<h« leL;k-

3. [kk«h« izðukaph mŸkjs izR;sdh 200&250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) fofue; i= Eg.kts dk; \ fofue; i=kph oSfðk"VÓs Li"V djk-

(ii) ftYgk e/;orhZ lgdkjh c°dsph dk;sZ Li"V djk-

(iii) Hkkjrh; fj>oZ c°dsph dk;sZ Li"V djk-

(iv) tkxfrdhdj.kkpk vFkZ lkaxwu Hkkjrkrh« lgdkjh c°dkaoj >k«s«k ifj.kkae Li"V

djk-

(v) c°d O;olk;kph rRos Li"V djk-

4. [kk«h« izðukaph 500 ðkCnkar mŸkjs nÓk (dks.krkgh ,d) % [20]

(i) O;kikjh c°dkaph irfufeZrh izfÿ;k Eg.kts dk; \ O;kikjh c°dkaph cgqxq.khr

irfufeZrhph izfÿ;k Li"V djk-

(ii) egkjk"V™krh« nqX/k lgdkjh laLFkkaP;k leL;k lkaxwu R;koj mik; lqpok-
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S.Y. B.A. EXAMINATION, 2011

ECONOMICS

Special Paper I

(Micro Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the tools of economic analysis.

(2) Explain the concept of selling cost.

(3) State the characteristics of oligopoly.

(4) State the types of price elasticity of demand.

2. Write notes in 100 words each (any four) : [20]

(1) Collective bargaining

(2) Law of supply.

(3) Basic economic problems.

(4) Quasi rent.

(5) Innovation theory of profit.

(6) Characteristics of monopoly.

P.T.O.
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3. Answer the following questions in 200-250 words each (any three) : [30]

(1) Explain the liquidity preference theory of interest.

(2) Explain the Ricardian theory of rent.

(3) Describe the law of diminishing marginal utility.

(4) Explain the marginal productivity theory of distribution.

(5) State and explain the law of demand.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the law of variable proportions.

(2) What is perfect competition ? Explain long-run equilibrium of

the firm under perfect competition.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vkfFkZd foð«s"k.kkph lk/kus lkaxk-

(2) foÿh [kpZ ladYiuk Li"V djk-

(3) vYifoÿsrkf/kdkjkph oSfðk"VÓs lkaxk-

(4) ekx.khP;k fdaer «ofpdrsps izdkj lkaxk-
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2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(1) lkeqfgd lkSnkðkDrh-

(2) iqjoBÓkpk fu;e-

(3) eq«Hkwr vkfFkZd leL;k-

(4) vkHkkl [kaM-

(5) u∂;kpk uoizorZu flºkUr-

(6) eDrsnkjhph oSfðk"VÓs-

3. [kk«h« izðukaph 200&250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) O;ktkpk jks[krk ilarh flºkUr Li"V djk-

(2) fjdkMksZpk [kaM flºkUr Li"V djk-

(3) ?kVR;k flekar mi;ksfxrspk fu;e foðkn djk-

(4) foHkktukpk flekar mRikndrk flºkUr Li"V djk-

(5) ekx.khpk fu;e lkaxk o Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) cn«R;k izek.kkapk fu;e Li"V djk-

(2) iq.kZLi/kkZ Eg.kts dk; \ iq.kZLi/ksZrh« m|ksxlaLFkspk nh?kZdk«hu lerks« Li"V

djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3
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S.Y. B.A. EXAMINATION, 2011

ECONOMICS

Special Paper II

(Macro-Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the scope of macro-economics.

(ii) Explain the determinants of marginal efficiency of capital.

(iii) State the anti-cyclical fiscal policy.

(iv) Describe the concepts of Foreign Trade Policy.

2. Write notes in 100 words each (any four) : [20]

(i) Average and Marginal Propensity to Consume.

(ii) RBI’s several money measures.

(iii) Cost-push inflation.

(iv) Elements of monetarism.

(v) Stagflation.

(vi) Qualitative weapons of monetary policy.
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3. Answer the following questions in 200-250 words each (any three) : [30]

(i) Explain the difference between micro-economics and macro-

economics.

(ii) Explain the concept of investment multiplier.

(iii) State and explain the phases of business cycles.

(iv) Describe the objectives of macro-economic policies.

(v) Explain the causes of inflation.

4. Answer the following question in 500 words each (any one) : [20]

(i) State the definition of money. Explain in detail the functions

of money.

(ii) Explain the causes and consequences of deflation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) lexz«{kh vFkZðkkL=kph O;kIrh Li"V djk-

(ii) HkkaMo«kph flekar «kHk{kerk fu/kkZfjr dj.kkjs ?kVd Li"V djk-

(iii) O;kikj pÿ fojks/kh jktdks"kh; /kksj.k lkaxk-

(iv) fonsðk O;kikj /kksj.k gh ladYiuk foðkn djk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(i) ljkljh o flekar miHkksx izo`Ÿkh-

(ii) Hkkjrh; fj>oZ c°dsph iSðkkP;k iqjoBÓkph ekids-

(iii) [kpZ&nkc fufeZr p«uok<-

(iv) eqÊkoknkph ew«rRos-

(v) eanh;qDr p«uok<-

(vi) p«ufo"k;d /kksj.kkph xq.kkRed irfu;a=.k lk/kus-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) vaðk«{kh vFkZðkkL= vkf.k lexz«{kh vFkZðkkL=krh« Qjd Li"V djk-

(ii) xqaro.kwd xq.kdkph ladYiuk Li"V djk-

(iii) O;kikjpÿkP;k voLFkk lkaxk o Li"V djk-

(iv) lexz«{kh vkfFkZd /kksj.kkph mfÌ"Vs foðkn djk-

(v) p«uok<hph dkj.ks Li"V djk-

4. [kk«h« izðukph mŸkj 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) iSðkkph O;k[;k |k- iSðkkph dk;sZ lfoLrj Li"V djk-

(ii) p«u?kVhph dkj.ks o ifj.kke Li"V djk-
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Total No. of Questions—4+4] [Total No. of Printed Pages—4+2
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S.Y. B.A. EXAMINATION, 2011

POLITICS

[G-2 : General Paper II]

(Constitutional and Political Process in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions (in 50 words each) : [10]

(1) Philosophy of Preamble.

(2) Scope of Fundamental Rights.

(3) Empowerment of Women.

(4) Hindu Communalism in post 1990 period.

2. Answer any four questions (in 100 words each) : [20]

(1) The nature of Constituent Assembly.

(2) Relationship between Legislature and Executive.

(3) Importance of 1977 Lok Sabha election.

(4) Nature of Coalition Politics.

(5) Major issues in Peasant’s Movement.

(6) Role of Industries in development of Indian Economy.
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3. Answer any three questions (in 200 to 250 words each) : [30]

(1) Explain the relationship between Fundamental Rights and Directive

Principles of State Policy.

(2) Discuss the issue of Basic Structure of the Indian Constitution.

(3) Describe the Congress System.

(4) Discuss the role of Dominant Caste in Indian Politics.

(5) Explain the mobilization of OBC’s in Indian Political Processes.

4. Answer any one question (in 500 words) : [20]

(1) Critically examine the strong center framework of Indian

Federalism.

(2) Examine the nature and major issues in the Women’s Movement

in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

1. dks.kR;kgh nksu izðukaph mŸkjs f«gk (izR;sdh 50 ðkCnkar) % [10]

(1) mÌsð;if=dsrh« rŸoKku-

(2) ew«Hkwr gDdkaps Lo:i-

(3) efg«k lc«hdj.k-

(4) 1990 uarjP;k dk«[kaMkrh« fganw tekrokn-
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2. dks.kR;kgh pkj izðukaph mŸkjs f«gk (izR;sdh 100 ðkCnkar) % [20]

(1) jkT;?kVuk ifj"knsps Lo:i-

(2) dk;nseaMˇ o dk;Zdkjh eaMˇkrh« laca/k-

(3) 1977P;k «ksdlHkk fuoM.kwdhps egRo-

(4) vk?kkMhP;k jktdkj.kkps Lo:i-

(5) ðksrdjh pˇoˇhrh« egŸokps eqÌs-

(6) HkkjrkP;k vkfFkZd fodklke/kh« m|ksfxd {ks=kph Hkwfedk-

3. dks.kR;kgh rhu izðukaph mŸkjs f«gk (izR;sdh 200 rs 250 ðkCnkar) % [30]

(1) eq«Hkwr gDd vkf.k jkT;kP;k /kksj.kkph ekxZnðkZd rRos ;kaP;krh« laca/k Li"V

djk-

(2) Hkkjrh; jkT;?kVusP;k ew«Hkwr jpusP;k izðukaph ppkZ djk-

(3) dk°xzsl O;oLFksps o.kZu djk-

(4) Hkkjrh; jktdkj.kkrh« izHkwRoðkk«h tkrhP;k Hkwfedsph ppkZ djk-

(5) Hkkjrh; jktdh; izfÿ;srh« vkschlhaph ^œrh izo.krk* Li"V djk-

4. dks.kR;kgh ,dk izðukps mŸkj f«gk (500 ðkCnkar) % [20]

(1) Hkkjrh; la?kjkT;krh« ^izcˇ dsaÊ pkSdVhps* VhdkRed ijh{k.k djk-

(2) Hkkjrkrh« L=hoknh pˇoˇhps Lo:i vkf.k L=hoknh pˇoˇhrh« izeq[k izðukaps

ijh{k.k djk-
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(Political and Social Movements in India)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(1) The views of the reformers regarding British rule.

(2) The causes for the rise of Hindutva.

(3) Sub-regionalism in India.

(4) Chipko movement.

2. Attempt any four questions (in 100 words each) : [20]

(1) Discuss the main issues of the Renaissance Movement.

(2) Role of the Communist Movement in Indian Politics.

(3) The causes for the emergence of Naxalite Movement in India.

(4) The challenges before the women’s movement in India.

(5) The peasant movement in India.

(6) Narmada Bachao Movement.
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3. Attempt any three questions (in 200 to 250 words each) : [30]

(1) The role of the Moderates in the Indian National Congress.

(2) The causes for the role of the Socialist Movement in India.

(3) Evaluate O.B.C. Politics.

(4) Give a brief account of the movement for Linguistic State.

(5) Efforts at Women’s Empowerment.

4. Attempt any one question (in 500 words) : [20]

(1) Discuss Dr. Ambedkar’s contribution to the Dalit Movement.

(2) Critically examine the Naxalite Movement in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(1) lq/kkjdkaph fczVhðk jktoVh cÌ« Hkwfedk-

(2) fganwRokP;k mn;kph dkj.ks-

(3) Hkkjrkrh« miizknsfðkdokn-

(4) fpidks pˇoˇ-
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2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(1) izcks/kukP;k pˇoˇhrh« izeq[k eqÌÓkaph ppkZ djk-

(2) Hkkjrh; jktdkj.kkrh« dE;qfuLV pˇoˇhph Hkwfedk-

(3) Hkkjrkrh« u{k«oknh pˇoˇhP;k mn;kph dkj.ks-

(4) fL=oknh pˇoˇhiq<h« vkOgkus-

(5) Hkkjrkrh« ðksrdjh pˇoˇ-

(6) ueZnk cpko vkanks«u-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 200 rs 250 ðkCnkar) % [30]

(1) Hkkjrh; jk"V™h; dk°xzsle/kh« eokˇkaph Hkwfedk-

(2) Hkkjrkrh« lektoknh pˇoˇhP;k mn;kph dkj.ks-

(3) vks- ch- lh- jktdkj.kkps ewY;ekiu djk-

(4) Hkk"kkoj izkarjpuspk laf{kIr vk<kok ?;k-

(5) efg«k lc«hdj.kkP;k iz;Rukaps ijh{k.k djk-

4. [kk«h«iSdh dks.kR;kgh ,d izðu lksMok (500 ðkCnkar) % [20]

(1) MkW- vkacsMdjkauh n«hr pˇoˇh«k fn«s«s ;ksxnkukph ppkZ djk-

(2) Hkkjrkrh« u{k«oknh pˇoˇhps fVdkRed ijh{k.k djk-
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S.Y. B.A. EXAMINATION, 2011

POLITICS

Special Paper I

(S-1 : Western and Indian Political Thinkers)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(a) Aristotle’s conception of state.

(b) John Locke’s views on Natural Right.

(c) Mahatma Gandhi’s concept of Ahimsa.

(d) Dr. Ambedkar’s views on Hindu Dharma.

2. Attempt any four questions (in 100 words each) : [20]

(a) J.S. Mill’s idea of Representative Government.

(b) Justice Ranade’s Liberalism.

(c) Karl Marx’s views on Class Struggle.

(d) Mahatma Phule’s views on British Government.

(e) Ambedkar’s views on Caste system.

(f) Aristotle’s views on Slavery.

P.T.O.
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3. Attempt any three questions (in 250 words each) : [30]

(a) Explain John Locke’s views on Civil Society.

(b) Write Aristotle’s views on Revolution.

(c) Explain the thought of Dr. Ambedkar on Social democracy.

(d) State the views of Justice Ranade on Indian Economy.

(e) Explain Mahatma Phule’s thought about Caste system.

4. Attempt any one question (in 500 words) : [20]

(a) Critically examine the Marxian theory of Historical Materialism.

(b) Explain Mahatma Gandhi’s thought about Satyagraha.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkr) % [10]

(a) vWfjLVkWV«ps jkT;klaca/khps fopkj-

(b) tkWu «kWdps uSlfxZd gDdkckcrps fopkj-

(c) egkRek xka/khph vafglsph ladYiuk-

(d) Mk- vkacsMdjkaps fganq /keZfo"k;d fopkj-
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2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkr) % [20]

(a) ts- ,l- eh«ph izkfrfu/khd ðkklukfo"k;hph dYiuk-

(b) U;k- jkuMs ;kapk mnkjerokn-

(c) dk«Z ekDlZpk oxZla?k"kZfo"k;d fopkj-

(d) egkRek Qq«s ;kapk fczfVðk ðkklukcÌ« n`f"Vdksu-

(e) vkacsMdjkaps tkrh O;oLFksckcrps fopkj-

(f) vWfjLVkWV«ps xq«kefxjhfo"k;d fopkj-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkr) % [30]

(a) tkWu «kWdph ukxjh lektklaca/kh ers Li"V djk-

(b) vWfjLVkWV«ps ÿkarhfo"k;d fopkj f«gk-

(c) MkW- vkacsMdjkaps lkekftd «ksdðkkghckcrps fopkj Li"V djk-

(d) Hkkjrh; vFkZO;oLFksckcrps U;k- jkuMs ;kaps fopkj lkaxk-

(e) egkRek Qq«s ;kaps tkrh laLFkslaca/kh fopkj Li"V djk-

4. [kk«h«iSdh ,dk izðu lksMok (500 ðkCnkr) % [20]

(a) dk«Z ekDlZP;k ,sfrgkfld HkkSfrdoknkps fVdkRed ijh{k.k djk-

(b) egkRek xka/khps lR;kxzgfo"k;d fopkj Li"V djk-
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S.Y. B.A. EXAMINATION, 2011

POLITICS

Special Paper II

(S-2 : Modern Political Analysis)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(a) Features of traditional political analysis.

(b) Behavioural Approach.

(c) Importance of political recruitment.

(d) Aims of survey method.

2. Attempt any four questions (in 100 words each) : [20]

(a) What is Public Opinion ?

(b) Limitations of modern political analysis.

(c) Meaning and definitions of political socialization.

(d) Influencing factors on political development.

(e) Types of political communication

(f) Limitations of field study.

P.T.O.
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3. Attempt any three questions (in 250 words each) : [30]

(a) Write critiques on structural-functional approach.

(b) Explain the types of political culture.

(c) Explain the types of political change.

(d) Explain the agencies of political socialization.

(e) Explain the agencies of political recruitment.

4. Attempt any one question (in 500 words) : [20]

(a) Explain the levels of political participation.

(b) What is meant by political change ? Explain the features of

political change.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkr) % [10]

(a) ijaijkxr jktdh; foð«s"k.kkph oSfðk"VÓs-

(b) orZuoknh n`"Vhdksu-

(c) jktdh; Hkjrhps egRo-

(d) losZ{k.k iºrhps mÌsðk-
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2. dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkr) % [20]

(a) «ksder Eg.kts dk; \

(b) vk/kqfud jktdh; foð«s"k.kkP;k e;kZnk-

(c) jktdh; lkekftdj.kkpk vFkZ o O;k[;k-

(d) jktdh; fodklkoj izHkko Vkd.kkjs ?kVd-

(e) jktdh; lalwpukps izdkj-

(f) {ksf=; vH;kl iºrhojh« e;kZnk-

3. dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkr) % [30]

(a) jpukRed&dk;Zoknh n`"Vhdksukojh« Vhdk f«gk-

(b) jktdh; laLœrhps izdkj Li"V djk-

(c) jktdh; cn«kps izdkj Li"V djk-

(d) jktdh; lkekftdj.kkph lk/kus Li"V djk-

(e) jktdh; Hkjrhph lk/kus Li"V djk-

4. dks.krkgh ,d izðu lksMok (500 ðkCnkr) % [20]

(a) jktdh; lgHkkxkP;k ikrˇÓk Li"V djk-

(b) jktdh; cn« Eg.kts dk; \ jktdh; cn«kph oSfðk"VÓs Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3
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S.Y. B.A. EXAMINATION, 2011

HISTORY

General Paper II

[Modern India (1885-1992)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of ‘Modernism’.

(2) Explain the concept of ‘Satyagraha’.

(3) State the meaning of ‘Secular State’.

(4) What is meant by ‘Non-Alignment’ ?

2. Write short notes in 100 words each (any four) : [20]

(1) Anushilan Samiti.

(2) Jallianwala Bagh Tragedy.

(3) Foundation of Muslim League.

(4) Integration process of Junagadh Princely State.

(5) Feminist organisations in India.

(6) Globalization.

P.T.O.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Give an account of the political factors responsible for the

rise of Indian Nationalism.

(2) Give an account of the Civil Disobedience Movement.

(3) Discuss the consequences of the partition of India.

(4) Examine the relations between India and Sri Lanka.

(5) Review of the Green Revolution in India.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the contribution of Moderates (1885 to 1905) in Indian

National Movement.

(2) State the nature and importance of the peasant movement

in Independent India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) ^vk/kqfudrkokn* gh ladYiuk Li"V djk-

(2) ^lR;kxzg* gh ladYiuk Li"V djk-

(3) ^/kekZrhr jkT;* ;kpk vFkZ lkaxk-

(4) ^vf«Irrkokn* Eg.kts dk; \
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) vuqðkh«u lferh-

(2) tk«h;uok«k ckx gR;kdkaM-

(3) eqfL«e f«xph LFkkiuk-

(4) twukx< laLFkkuph fo«huhdj.k izÿh;k-

(5) Hkkjrkrh« L=hoknh la?kVuk-

(6) tkxfrdhdj.k-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) Hkkjrh; jk"V™oknkP;k mn;kl dkj.khHkwr Bj«sY;k jktfd; ?kVdkapk vk<kok ?;k-

(2) lfou; dk;nsHkax pˇoˇhpk vk<kok ?;k-

(3) HkkjrkP;k Qkˇ.khP;k ijh.kkekaph ppkZ djk-

(4) Hkkjr o Jh«adk ;kaP;krh« laca/kkps ijh{k.k djk-

(5) Hkkjrkrh« gfjr ÿkarhpk ekxksok ?;k-

4. [kk«h« izðukaps 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(1) Hkkjrh; jk"V™h; pˇoˇhrh« eokˇkaps (1885&1905) ;ksxnku Li"V djk-

(2) Lora= Hkkjrkrh« ðksrdjh pˇoˇhps Lo:i o egRo lkaxk-
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S.Y. B.A. EXAMINATION, 2011

HISTORY

Special Paper I

(Introduction to History)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :[10]

(i) What is ‘History’ ?

(ii) ‘All history is history of thoughts’. Explain the nature of history

with this statement.

(iii) What is ‘Nationalist School of Historiography’ ?

(iv) Why did Herodotus call as a Father of History ?

2. Write short notes in 100 words each (any four) : [20]

(i) Importance of History.

(ii) Ghost writer.

(iii) Differences between original and secondary sources.

(iv) Historical materialism.

(v) Ideology of Romila Thaper.

(vi) Historical writing of Toyanbee.

P.T.O.
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3. Answer the following questions in 250 words each (any three) : [30]

(i) State the historical significance of documents preserved in Pune

Archives.

(ii) What is ‘Internal Criticism’ ? Which problems arises in it ?

(iii) Explain the co-relations between History and Geography.

(iv) Examine the philosophical foundations of Marxist School of

Historiography.

(v) Evaluate K.A. Nilkantha Shastri’s contribution to the South

Indian History writing.

4. Answer the following question in 500 words (any one) : [20]

(i) Explain the contribution of T.S. Shejwalkar as a Maharashtra

Historian.

(ii) Examine Leopold Ranke’s achievements as scientific history writing.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(i) bfrgkl Eg.kts dk; \

(ii) ^loZ bfrgkl gk fopkjkapk bfrgkl vlrks-* ;k fo/kkukP;k vk/kkjs bfrgklkps

Lo:i Li"V djk-

(iii) ^jk"V™oknh bfrgkl «s[ku izokg* Eg.kts dk; \

(iv) fgjksMksVl«k ^bfrgklkpk tud* vls dka Eg.krkr \
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2. izR;sdh 100 ðkCnkr laf{kIr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) bfrgklkps egRo-

(ii) Nk;k «s[kd

(iii) ewˇ o nq∏;e lk/kukae/kh« Qjd-

(iv) ,sfrgkfld HkkSfrdokn-

(v) jkseh«k Fkkijph fopkj iz.kk«h-

(vi) vuksZYM VkW;Uchps bfrgkl «s[ku-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(i) iq.ks vfHk«s[kkxkjkrh« dkxn~i=kaps ,sfrgkfld egRo lkaxk-

(ii) ^varjax ijh{k.k* Eg.kts dk; \ R;kr dks.kR;k vMp.kh ;srkr \

(iii) bfrgkl vkf.k Hkwxks« ;kaP;krh« ijLijlaca/k Li"V djk-

(iv) ekDlZoknh bfrgkl «s[ku izokgkP;k rkfRod cSBdhps ijh{k.k djk-

(v) ds-vs- fuˇdaB ðkkL=haP;k nf{k.k Hkkjrh; bfrgkl «s[kukrh« dkefxjhps ewY;&

ekiu djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) egkjk"V™krh« Fkksj bfrgkldkj ;k ukR;kus Vh-,l- ðkstoˇdjkaph dkefxjh foðkn

djk-

(ii) ðkkL=h; bfrgkl «s[ku dk;kZrh« f«vksikWYM j°dsP;k ;ksxnkukps ijh{k.k djk-
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S.Y. B.A. EXAMINATION, 2011

HISTORY

Special Paper II

[Ancient India (300 B.C. to 1200 AD)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What is ‘Brahmane’ ?

(2) Explain the concept of ‘Varnashrama’.

(3) What is ‘Chaitya’ and ‘Vihar’ ?

(4) What is ‘Sangam Age’ ?

2. Write short notes in 100 words each (any four) : [20]

(1) Importance of Archaeological sources.

(2) Decline of Harappan Civilization.

(3) Materialistic School.

(4) Saptanga theory.

(5) Religious life of Satavahanas.

(6) Science in the age of Guptas.

P.T.O.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the changes in the society through the iron technology

in ancient India.

(2) Explain the Buddhist Philosophy.

(3) Write the social and economic life during the Mauryan period.

(4) Why did Gupta period call as the Golden Age ?

(5) Evaluate the achievements of the Pallavas in the history of

South India.

4. Answer any one of the following questions in 500 words : [20]

(1) Give an account of the post-Vedic literature.

(2) Evaluate the achievements of Samrat Harshavardhana.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) ^czk„.ks* Eg.kts dk; \

(2) ^o.kkZJe* gh ladYiuk Li"V djk-

(3) ^pSR;* vkf.k ^fogkj* Eg.kts dk; \

(4) ^laxe ;qx* Eg.kts dk; \
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) iqjkrRoh; lk/kukaps egRo-

(2) gjIik laLœrhpk Úgkl-

(3) HkkSfrdoknh laiznk;-

(4) lIrkax flºkar-

(5) lkrokgudk«hu /kkfeZd thou-

(6) xqIrdk«hu foKku-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) izkphu Hkkjrkr «ksgra=Kkukeqˇs lektkr ?kMwu vk«s«s fLFkR;arj Li"V djk-

(2) ckSº rRoKku Li"V djk-

(3) ekS;Zdkˇkrh« lkekftd vkf.k vkfFkZd thoukph ekfgrh f«gk-

(4) xqIrdkˇk«k lqo.kZ;qx vls dka EgV«s tkrs \

(5) nf{k.k HkkjrkP;k bfrgklkrh« iY«okaP;k dkefxjhpk vk<kok ?;k-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) mŸkj oSfnd ok≥~e;kpk vk<kok ?;k-

(2) lezkV g"kZo/kZukP;k dkefxjhps ewY;ekiu djk-
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[4001]-238

[History of U.S.A. (1914 to 2001 A.D.)]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Write the fourteen points of President Woodrow Wilson.

(2) Explain the concept of ‘New Deal’.

(3) State Good Neighbour Policy of President Roosevelt.

(4) Explain the ‘Eisenhower Doctrine’.

2. Write short notes in 100 words each (any four) : [20]

(1) Objectives of the League of Nations.

(2) Marshall Plan.

(3) Dr. Martin Luther King.

(4) Concept of ‘Cold War’.

(5) U.S.A. and China relations.

(6) ‘GATT’ treaty.

3. Answer the following questions in 250 words each (any three) : [30]

(1) State the causes of the Great Depression of 1929.

(2) Explain the role of U.S.A. in the World War II.
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(3) State the objectives of NATO. What role did it play in the

cold war ?

(4) Discuss America’s relation with India and Pakistan.

(5) State the salient features of ‘Dankel Proposal’.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the Foreign Policy of U.S.A. after World War II.

(2) Discuss the rise of America as world power.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) v/;{k oqM™ks foYlu ;kaps 14 eqÌs f«gk-

(2) ^U;w Mh«* gh ladYiuk Li"V djk-

(3) :>osYVps pkax«s ðkstkjh /kksj.k foðkn djk-

(4) vk;lsu gkWoj flºkUr Li"V djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) jk"V™la?kkph mÌh"Vs-

(2) ekðkZ« ;kstuk-
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(3) MkW- ekfVZu Y;wFkj fdax

(4) ðkhr ;qºkph ladYiuk

(5) vesjhdk&phu laca/k

(6) xWV djkj-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) 1929P;k egkeanhph dkj.ks foðkn djk-

(2) nqlÚ;k egk;qºkrh« vesjhdsph Hkwfedk Li"V djk-

(3) ukVksph mÌh"Vs lkaxk- ðkhr;qºkr frus dks.krh Hkwfedk ctko«h \

(4) vesjhdsP;k Hkkjr o ikfdLrku laca/kkph ppkZ djk-

(5) Mads« izLrkokph Bˇd oSfðk"VÓs foðkn djk-

4. [kk«h« izzðukps 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(1) nqlÚ;k egk;qºkuarjps vesfjdsps ijjk"V™h; /kksj.k Li"V djk-

(2) tkxfrd egklŸkk Eg.kwu vesfjdsP;k mn;kph ppkZ djk-
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S.Y. B.A. EXAMINATION, 2011

ANTHROPOLOGY

(G-2 : Indian Tribes and Tribal Welfare)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) State the concept of ‘Tribal Development’.

(2) What is Acculturation ?

(3) What is the role of magic in tribal society ?

(4) Distinguish between caste and tribe.

2. Write short notes on any four of the following in 100 words each : [20]

(1) Isolation

(2) I.T.D.P. (Integrated Tribal Development Programme)

(3) Nomadic Tribe

(4) Ghotul

(5) Deforestation

(6) Religious life of Warlis.

P.T.O.
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3. Answer any three of the following in 250 words each : [30]

(1) Describe the economic classification of Indian tribes.

(2) Explain the cultural life of Warlis and Gonds.

(3) Explain the nature of religion among Primitive Culture.

(4) What are the problems of scheduled caste ?

(5) Evaluate the policy of protective discrimination for

Adivasis.

4. Answer any one of the following in 500 words : [20]

(1) Explain the various preparations for anthropological field

work.

(2) Discuss the structure and functions of youth dormitories.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;Zr f«gk % [10]

(1) ^vkfnoklh fodklkph* ladYiuk lkaxk-

(2) lelaLœrhdj.k Eg.kts dk; \

(3) vkfnoklh lektkrh« tknwph Hkqfedk dk; vkgs \

(4) tkr vkf.k tekr ;krh« Qjd Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r fVik f«gk % [20]

(1) vf«Irrk

(2) ,dkfRed vkfnoklh fodkl dk;Zÿe (I.T.D.P.)

(3) HkVD;k tekrh

(4) ?kksrq«

(5) tax«rksM

(6) okj«haps /kkfeZd thou-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkai;±r f«gk % [30]

(1) Hkkjrh; vkfnoklhaps vkfFkZd oxhZdj.k djk-

(2) okj«h vkf.k xksaM tekrhaps lkaLœfrd thou Li"V djk-

(3) izkFkfed laLœrhrh« /kekZps Lo:i Li"V djk-

(4) vuqlqfpr tkrhP;k leL;k dks.kR;k vkgsr \

(5) vkfnoklhalkBh vl«s«s ^laj{k.kkRed i{kikr* /kksj.kkps eqY;ekiu djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkai;Zr f«gk % [20]

(1) ekuoðkkL=h; {ks=dk;kZlkBh «kx.kkjh fofo/k izdkjph r;kjh foðkn djk-

(2) ;qokx`gkaph jpuk o dk;sZ ;kaph ppkZ djk-
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S.Y. B.A. EXAMINATION, 2011

GEOGRAPHY

General Paper II

(Gg-210 : Geography of Human Resources)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]

(i) Write any four branches of Human Geography.

(ii) State two major cities in ‘Indo’ Civilization.

(iii) Write any two stages of human evolution.

(iv) State the main types of human races.

(v) State any two basics of racial classification.

(vi) State the location of ‘Pygmies.

(vii) State the location of Gonds.

(viii) Write any two principal language families.

(ix) Write the names of major religions in world.

P.T.O.
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(x) State any two affecting factors on location of settlement.

(xi) Write any two patterns of rural settlement.

(xii) State any two effects of Population Growth.

(xiii) Write any two importance of population in national development.

2. Answer in 50 words each (any two) : [10]

(i) Human Race

(ii) ‘Griffith Taylor’s theory of human race.

(iii) Language and national integration.

(iv) Impact of religion on social life.

3. Answer in 150 words each (any two) : [20]

(i) Describe the Human Geography in modern period.

(ii) Describe the ‘Tigris’ civilization.

(iii) Explain the types of rural settlement.

(iv) Explain the Malthus’ theory of population growth.

4. Answer in 300 words each (any two) : [30]

(i) What is Human Geography ? Explain the nature and scope

of Human Geography.

(ii) Give geographical account on ‘Eskimo’ tribe.

(iii) Give geographical account on ‘Bhil’ tribe.

(iv) Explain the causes and effects of migration.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) udkðkk LVsfUl« okij.;kl ijokuxh vkgs-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

1. izR;sdh lqekjs 20 ðkCnkai;±r mŸkjs f«gk (dks.krsgh ngk) % [20]

(i) ekuoh Hkwxks«kP;k dks.kR;kgh pkj ðkk[kk f«gk-

(ii) ^fla/kw* laLœrhrh« nksu izeq[k ðkgjs lkaxk-

(iii) ekuoh mRÿkarhps dks.krsgh nksu VIis f«gk-

(iv) ekuoh oaðkkps eq[; izdkj lkaxk-

(v) okaðkhd oxhZdj.kkps dks.krsgh nksu vk/kkj lkaxk-

(vi) fiXehaps oLrhLFkku lkaxk-

(vii) xksMkaps oLrhLFkku lkaxk-

(viii) dks.krsgh nksu izeq[k Hkk"kkdqˇs f«gk-

(ix) txkrh« izeq[k /kek±ph ukos f«gk-

(x) oLrhP;k LFkkukoj ifj.kke dj.kkjs dks.krsgh nksu ?kVd lkaxk-

(xi) xzkeh.k oLrhps dks.krsgh nksu vkœrhca/k f«gk-

(xii) «ksdla[;k ok<hps dks.krsgh nksu ifj.kke lkaxk-

(xiii) jk"V™h; fodklkrh« «ksdla[;sps dks.krsgh nksu egRo f«gk-
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2. izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ekuoh oaðk

(ii) fxzQhFk Vs«jpk ekuoh oaðk flºkar

(iii) Hkk"kk o jk"V™h; ,dkRerk

(iv) lkekthd thoukoj /kekZpk izHkko-

3. izR;sdh 150 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) vk/kqfud dkˇkrh« ekuoh Hkwxks«kps o.kZu djk-

(ii) frxzhl laLœrhps o.kZu djk-

(iii) xzkeh.k oLR;kaps izdkj Li"V djk-

(iv) ekYFklpk «ksdla[;k ok<hpk flºkar Li"V djk-

4. izR;sdh 300 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [30]

(i) ekuoh Hkwxks« Eg.kts dk; \ ekuoh Hkwxks«kps Lo:i o O;kIrh Li"V djk-

(ii) ^,fLdeks* tekrhoj HkkSxks«hd oŸkkar |k-

(iii) fHkY« tekrhoj HkkSxks«hd o`Ÿkkar |k-

(iv) LFk«karjkph dkj.ks o ifj.kke Li"V djk-
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[4001]-240

(Gg-210 : Geography and Natural Hazards)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) : [20]

(i) Define Environmental Geography.

(ii) What is Environmental Hazards ?

(iii) What is Environmental Management ?

(iv) Write any two types of Terrestrial Hazards.

(v) Define Climatological Hazards.

(vi) What is drought ?

(vii) Write any two names of cyclone.

(viii) What is landslide ?

(ix) What is Tsunami ?

(x) Give two causes of Tsunami.

(xi) What is soil degradation ?

(xii) Write any two effects of forest fire.

(xiii) Define desertification.
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2. Answer in 50 words each (any two) : [10]

(i) Ecology

(ii) Risk analysis

(iii) Causes of floods

(iv) Effects of desertification

3. Answer in 150 words each (any two) : [20]

(i) Explain the scope of Environmental Geography.

(ii) Describe Hazards awareness.

(iii) Write the causes and effects of earthquake.

(iv) Explain ‘Population Explosion’.

4. Answer in 300 words each (any two) : [30]

(i) Write the major approaches to study of man-environment

relationship.

(ii) Explain the pre and post-Hazards Management.

(iii) Explain the causes and effects of cyclone.

(iv) Explain the causes and effects of soil degradation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okj.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. izR;sdh lqekjs 20 ðkCnki;±r mŸkjs f«gk (dks.krsgh ngk) % [20]

(i) i;kZoj.k Hkwxks«kph O;k[;k |k-

(ii) i;kZoj.kh; vkiŸkh Eg.kts dk; \

(iii) i;kZoj.kh; O;oLFkkiu Eg.kts dk; \

(iv) HkwðkkL=h; vkiŸkhaps dks.krsgh nksu izdkj f«gk-

(v) okrkoj.kh; vkiŸkhph O;k[;k |k-

(vi) nq"dkˇ Eg.kts dk; \

(vii) vkork±ph dks.krsgh nksu ukos lkaxk-

(viii) ^Hkw&/klj.k* Eg.kts dk; \

(ix) Rlqukeh Eg.kts dk; \

(x) Rlqukehph nksu dkj.ks |k-

(xi) ènk Úgkl Eg.kts dk; \

(xii) o.kO;kps dks.krsgh nksu ifj.kke f«gk-

(xiii) okˇoaVhdj.kkph O;k[;k |k-

2. izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ikfjfLFkrhdh

(ii) ^/kksdk* foð«s"k.k

(iii) iwjkph dkj.ks

(iv) okˇoaVhdj.kkps ifj.kke-
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3. izR;sdh 150 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) i;kZoj.kh; Hkwxks«kph O;kIrh Li"V djk-

(ii) vkiŸkh lrdZrsps o.kZu djk-

(iii) Hkwdaikph dkj.ks o ifj.kke f«gk-

(iv) Li"V djk ^«ksdla[;k foLQksV*-

4. izR;sdh 300 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [30]

(i) ekuo o i;kZoj.k laca/k vH;klkps izeq[k n`"Vhdksu f«gk-

(ii) vkiŸkhiwoZ vkf.k vkiŸkhuarjps ^vkiŸkh O;oLFkkiu* Li"V djk-

(iii) vkorkZph (pÿokr) dkj.ks o ifj.kke Li"V djk-

(iv) ènk Úgklkph dkj.ks o ifj.kke Li"V djk-
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S.Y. B.A. EXAMINATION, 2011

GEOGRAPHY

[Gg-220 : China : A Geographical Analysis (S-1)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]

(1) Write any two name of neighbouring countries of China.

(2) State latitude and longitude extent of China.

(3) Write any two name of natural regions of China.

(4) State any two  name of seas along the China.

(5) State name of inland river in China.

(6) Write any two characteristics of monsoon in China.

(7) State any two iron and steel industrial regions in China.

(8) Write any two affecting factors on textile industry.

(9) Define rural-urban migration.

(10) What is urbanization ?

(11) Write any two importance of International Trade.

P.T.O.
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(12) State any two importance of railway transportation in regional

development.

(13) Write any two importance of communication in economic

development of China.

2. Answer in 50 words each (any two) : [10]

(1) Geographical location of China.

(2) Great plain in China.

(3) Airway transportation in China.

(4) Communication technology in China.

3. Answer in 150 words each (any two) : [20]

(1) Describe the Yangtse River system.

(2) Describe major climatic region of China.

(3) Describe the textile industry in China.

(4) Explain the problems related to urbanization.

4. Answer in 300 words each (any two) : [30]

(1) Discuss major soil types and their distribution in China.

(2) Explain forest types and their distribution in China.

(3) Describe the distribution of iron-ore in China.

(4) Describe various agricultural regions of China.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) udkðkk LVsfUl« okij.;kal ijokuxh vkgs-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. izR;sdh lqekjs 20 ðkCnki;±r mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) phuP;k ðkstkjh« dks.kR;kgh nksu nsðkkaph ukos f«gk-

(2) phupk v{ko`Ÿkh; o js[kko`Ÿkh; foLrkj lkaxk-

(3) phuP;k dks.kR;kgh nksu uSlfxZd foHkkxkph ukaos f«gk-

(4) phuP;k lHkksork«P;k dks.kR;kgh nksu leqÊkaph ukos lkaxk-

(5) phue/kh« Hkw[kaMkarxZr unhps ukao lkaxk-

(6) phuP;k ekUlwuph dks.krhgh nksu oSfðk"VÓs lkaxk-

(7) phue/kh« dks.kR;kgh nksu «ksg&iks«kn m|ksx foHkkx lkaxk-

(8) lqrhoL= m|ksxkoj ifj.kke dj.kkjs nksu ?kVd lkaxk-

(9) xzkeh.k&ukxjh LFk«karjkaph O;k[;k |k-

(10) ukxjhdj.k Eg.kts dk; \

(11) vkarjjk"V™h; O;kikjkps dks.krsgh nksu egRo f«gk-

(12) jsYos ogkrqdhps izknsfðkd fodklkrh« dks.krsgh nksu egRo lkaxk-

(13) phuP;k vkfFkZd fodklkrh« nˇ.koˇ.kkps dks.krsgh nksu egRo f«gk-
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2. izR;sdh 50 ðkCnkai;±r mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) phups HkkSxksf«d LFkku

(2) phue/kh« foLr`r eSnku

(3) phue/kh« gokbZ ogkrqd

(4) phue/kh« nˇ.koˇ.k ra=Kku-

3. izR;sdh 150 ðkCnkai;±r mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) ^;kaxRls* unhiz.kk«hps o.kZu djk-

(2) phue/kh« izeq[k gokeku foHkkxkps o.kZu djk-

(3) phue/kh« oL=m|ksxkps o.kZu djk-

(4) ukxfjdhdj.kklanHkkZrh« leL;k Li"V djk-

4. izR;sdh 300 ðkCnkai;±r mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) phue/kh« izeq[k e`nk&izdkj o R;kP;k forj.kkaph ppkZ djk-

(2) phue/kh« tax«kps izdkj o R;kaps forj.k Li"V djk-

(3) phue/kh« «ksg&[kfut forj.kkps o.kZu djk-

(4) phuP;k fofo/k œ"kh foHkkxkps o.kZu djk-
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[4001]-241

[Gg-220 : India—A Geographical Analysis (S-1)]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) [20]

(i) State the names of nothern neighbouring countries of

India.

(ii) Write the names of Indian Island.

(iii) Write two tributaries of Tapi river.

(iv) Define monsoon.

(v) What is soil conservation ?

(vi) Give the names of two trees in the tropical evergreen forest

of India.

(vii) Write the types of coal.

(viii) What is Blue Revolution ?

(ix) Write two problems of Indian Agriculture.

(x) Write any two iron and steel industrial centres in

India.
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(xi) Write any four locational factors affecting on textile

industry.

(xii) Define Migration.

(xiii) Write any two names of ports in India.

2. Answer in 50 words each (any two) : [10]

(i) Soil types in India.

(ii) Methods of soil conservation in India.

(iii) Distribution of iron-ore in India.

(iv) Green Revolution.

3. Answer in 150 words each (any two) : [20]

(i) Describe the Godavari river system.

(ii) Explain mechanism of Indian monsoon.

(iii) Explain the significance of agriculture in Indian economy.

(iv) Explain the industrial regions of India.

4. Answer in 300 words each (any two) : [30]

(i) State physiographic divisions of India. Explain any one of them

in detail.

(ii) Define deforestation. Explain the causes and effects of

deforestation.

(iii) Write in detail power resources in India.

(iv) Explain the problems of urbanization in India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. izR;sdh 20 ðkCnkr mŸkjs f«gk (dks.krsgh ngk) % [20]

(i) HkkjrkP;k mŸkjsdMh« ðkstkjh nsðkkaph ukos lkaxk-

(ii) Hkkjrh; csVkaph ukos f«gk-

(iii) rkih unhP;k nksu miu|k f«gk-

(iv) ekUlwuph O;k[;k |k-

(v) e`nk la/kkj.k Eg.kts dk; \

(vi) Hkkjrkrh« m".kdfVca/kh; lnkgjhr tax«krh« nksu o`{kkaph ukos |k-

(vii) dkš ðkkps izdkj f«gk-

(viii) ^fu« ÿkarh* Eg.kts dk; \

(ix) Hkkjrh; ðksrhP;k nksu leL;k f«gk-

(x) Hkkjrkrh« dks.krsgh nksu «ksg&iks«kn m|ksx dsaÊkph ukos f«gk-

(xi) lwrh oL=ks|ksxkP;k LFkkfudhdj.kkoj ifj.kke dj.kkjs dks.krsgh pkj ?kVd

f«gk-

(xii) LFk«karjkph O;k[;k |k-

(xiii) Hkkjrkrh« dks.kR;kgh nksu canjkaph ukos f«gk-



[4001]-241 8

2. izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) Hkkjrkrh« e`nk izdkj-

(ii) Hkkjrkrh« e`nk la/kkj.kkP;k iºrh-

(iii) Hkkjrkrh« «ksg&[kfut forj.k-

(iv) ^gfjr ÿkarh*-

3. izR;sdh 150 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) xksnkojh unh iz.kk«hps o.kZu djk-

(ii) Hkkjrh; ekUlwu fuehZrh izÿh;k Li"V djk-

(iii) Hkkjrh; vFkZO;oLFksrh« ðksrhps egRo Li"V djk-

(iv) Hkkjrkrh« vkS|ksfxd foHkkx Li"V djk-

4. izR;sdh 300 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [30]

(i) Hkkjrkps izkœrhd foHkkx lkaxwu dks.kR;kgh ,dk foHkkxkps lfoLrj Li"Vhdj.k

djk-

(ii) fuoZuhdj.k Eg.kts dk; \ fuoZuhdj.kkph dkj.ks o ifj.kke Li"V djk-

(iii) Hkkjrkrh« ðkDrhlk/kus lfoLrj f«gk-

(iv) Hkkjrkrh« ukxjhdhdj.kkP;k leL;k Li"V djk-
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Total No. of Questions—7+7+4] [Total No. of Printed Pages—4+1

[4001]-242

S.Y. B.A. EXAMINATION, 2011

MUSIC (laxhr)

(General G-2)

(jkxlaxhr xk;u)

(2008 PATTERN)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

fo'ks"k lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj fdaok rc«k ;kiSdh dks.krhgh ,d
izðuif=dk lksMok-

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) vfuok;Z izðu ,d vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj
izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph e/;&«; canhðk Loj&f«ficº djk- [5]

2. fcgkx fdaok ek«dal ;k iSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh vkjksg&vojksg&idM
;klg f«gk- [5]

3. vºk&rhurk« fdaok pkSrk« ;k iSdh dks.kR;kgh ,dk rk«kps Vkˇh&dk« iºrhus «s[ku
djk- [5]

4. [kk«h«iSdh dks.kR;kgh ikp O;k[;k f«gk % [5]

(1) vYiRo

(2) [kVdk

(3) ehaM
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(4) cg«kok

(5) o.kZ

(6) dk«

(7) d.k Loj

(8) fooknh Loj-

5. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(1) xzg&vaðk&U;kl Loj

(2) xzke

(3) p«&vp« Loj

(4) xkule; flºkar

(5) rkukaps izdkj-

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou&pfj= f«gk % [5]

(1) cStw ckojk

(2) ia- nŸkk=; fo".kw i«qLdj

(3) m- vCnq« djhe [kk°-

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) laxhr lHksps vk;kstu

(2) eh ,sd«s«h eSfQ«

(3) laxhr vkf.k fo|qr izlkj&ek/;es-
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[4001]-242

jkx laxhr Loj ok| oknu (lrkj)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk leku leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« jtk[kkuh xr Lojf«ihcº djk- [5]

2. jkx&ek«dal o jkx&fcgkx ;kiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj ðkkL=ksDr
ekfgrh f«gk- [5]

3. :id] f=rk«] ,drk« ;kiSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk« ;k
izek.ks «s[ku djk- [5]

4. O;k[;k f«gk (dks.kR;kgh ikp) % [5]

(1) Loj

(2) o.kZ

(3) xed

(4) vkorZu

(5) cgqRo

(6) lIrd

(7) oknh Loj

(8) xzg

(9) U;kl
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5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) xku le; flºkar

(2) rkukaps izdkj

(3) la/kh izdkðk jkx-

6. fucU/k f«gk (dks.krkgh ,d) % [5]

(1) laxhr lHksps vk;kstu

(2) «ksd laxhr

(3) /k`in xk;u-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) vkpk;Z ckck vY«kmÌhu [kk° lkgsc

(2) ia- fo".kq ukjk;.k Hkkr[kaMs

(3) mLrkn vCnq« djhe [kk° lkgsc-
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[4001]-242

rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— loZ izðu lksMok-

1. :id fdaok ,drk« ;kiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh f«gwu ,diV

vkf.k nqIiV f«gk- [5]

2. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(1) pÿnkj

(2) csne frgkbZ

(3) «Xxh

(4) tkrh-

3. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) rc«k Lojkr feˇo.;kps fu;e

(2) ia- i«qLdj iºrhph rk« f«ih-

4. rqeP;k vkoMR;k d«kdkjkP;k oknukph oSfðk"V~;s f«gk- [5]
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[4001]-243

S.Y. B.A. EXAMINATION, 2011

MUSIC (laxhr)

(Special S-1)

jkxlaxhr xk;u

(2008 PATTERN)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

fo'ks"k lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj fdaok rc«k ;kiSdh dks.krhgh ,d
izðuif=dk lksMok-

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) vfuok;Z izðu ,d vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj
izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr canhðk (cMk [;k«) Loj&f«ficº
djk- [5]

2. dY;k.k fdaok Nk;kuV ;k iSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh
vkjksg&vojksg&idM ;klg f«gk- [5]

3. fo«afcr rhurk« fdaok fo«afcr ,drk« ;k iSdh dks.kR;kgh ,dk rk«kps «s[ku
djk- [5]

4. [kk«h«iSdh dks.kR;kgh ikp O;k[;k f«gk % [5]

(1) vkanksf«r Loj

(2) [kVdk
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(3) ehaM

(4) eqdhZ

(5) tksM jkx

(6) rk«

(7) vuqoknh Loj

(8) oknh Loj-

5. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(1) xzg&vaðk&U;kl Loj

(2) iwoZ jkx&mŸkj jkx

(3) p«&vp« Loj

(4) laf/kizdkfðkr jkx

(5) Jqrh&Loj foHkktu-

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou pfj= f«gk % [5]

(1) ia- xtkuucqok tksðkh

(2) ia- jfoðkadj

(3) m- vehj [kk°-

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) daB lk/kuk

(2) «ksdlaxhr

(3) laxhr&xq#eq[kh fo|k-
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jkx laxhr Loj ok| oknu (lrkj)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« eflr[kkuh xr Loj f«ihcº djk- [5]

2. jkx&HkSjo o jkx&dsnkj ;kaiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj ðkkL=ksDr

ekfgrh f«gk- [5]

3. ,drk«] f=rk«] /kekj] pkSrk« ;kaiSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk«

;k izek.ks «s[ku djk- [5]

4. O;k[;k f«gk (dks.kR;kgh ikp) % [5]

(1) laf/kizdkðk jkx

(2) iwok±xoknh jkx

(3) mŸkjkaxoknh jkx

(4) vaðk Loj

(5) xzg Loj

(6) U;kl Loj

(7) viU;kl

(8) vkanksf«r-
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5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) jkx oxhZdj.k iºrh

(2) xk;d] uk;d] okXxs;dkj] d«koar-

6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) gkrkP;k r;kjhlkBh djko;kpk fj;kt

(2) fj;ktkps egRo

(3) laxhrµxq#eq[kh fo/kk-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) vkehj [kk°

(2) ia- xtkuujko tksðkh

(3) ia- Ogh- th- tksx-
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[4001]-243

rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— izFke izðu vfuok;Z- ,dw.k pkj izðu lksMok-

1. fr«okMk fdaok vkMk pkSrk« ;kiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh

vkf.k ,diV&nqIiV f«gk- [5]

2. «;dkjh vkf.k «;dkjhps izdkj ;k fo"k;h foLrkjkus f«gk- [5]

3. rcY;krh« fnY«h vkf.k «[kukS cktkafo"k;h FkksMD;kr foospu djk- [5]

4. rqEgh lkFk djhr vl«sY;k dks.kR;kgh ,dk xk;uizdkjkfo"k;h FkksMD;kr ekfgrh |k- [5]

5. rcY;kP;k fufeZrhfo"k;h FkksMD;kr foospu djk- [5]

6. rqeP;k vkoMR;k d«kdkjkps lkaxhfrd ;ksxnku foðkn djk- [5]
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S.Y. B.A. EXAMINATION, 2011

MUSIC

Special Paper 2

(jkxlaxhr xk;u)

(2008 PATTERN)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

fo'ks"k lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj fdaok rc«k ;kiSdh dks.krhgh ,d

izðuif=dk lksMok-

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) vfuok;Z izðu ,d vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr canhðk@cMk [;k« Loj&f«ficº

djk- [5]

2. HkSjo fdaok ckxsJh ;k iSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh vkjksg&vojksg&

idM ;klg f«gk- [5]

3. pkSnk ek=kaP;k dks.kR;kgh nksu rk«kaps «s[ku djk- [5]

4. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(1) /k`in

(2) /kekj

(3) Bqejh

(4) nknjk-
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5. [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr f«gk % [5]

(1) Loj«s[ku iºrhph e;kZnk

(2) lqxe xhr

(3) ik‹oZ xk;u

(4) laxhrkrh« dkO;kps LFkku-

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou&pfj= f«gk % [5]

(1) ia- Hkhelsu tksðkh

(2) ia- ftrsaÊ vfHk"ksdh

(3) Jherh csxe v[rj-

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) laxhr fðk{k.kkps Lo:i

(2) ik‹oZlaxhr

(3) laxhr vkf.k vk/kqfud oSKkfud midj.ks-
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[4001]-244
jkx laxhr Loj ok| oknu (lrkj)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« eflr[kkuh xr Loj f«ihcº djk- [5]

2. jkx&dY;k.k o d«korh ;k iSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj ðkkL=ksDr

ekfgrh f«gk- [5]

3. lq«rk«] fr«okMk] >qejk ;k iSdh dks.kR;kgh ,dk jkxkps ek=k] [kaM] Vkˇh] dk« ;k

izek.ks «s[ku djk- [5]

4. [kk«h« ladYiuk Li"V djk (dks.krsgh nksu) % [5]

(1) lrkj oknukrh« feaMps egRo

(2) lrkj oknukrh« rc«k lkFk

(3) ukVdkr laxhrkps egRo

(4) laxhr vkf.k lkfgR;-

5. FkksMD;kr ekfgrh f«gk (dks.krsgh nksu) % [5]

(1) egkjk"V™krh« «ksdlaxhr

(2) Loj«s[ku iºrhph O;kIrh o e;kZnk

(3) fj;ktkps egRo

(4) eflr[kkuh o jtk[kkuh xr

(5) lrkjps oSfðk"VÓ-
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6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) uHkksok.kh}kjs gks.kkjk laxhrkpk izpkj

(2) ðkkL=h; laxhrkpk flus laxhrkojh« izHkko

(3) laxhr fðk{k.kkps Lo:i-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) ia- ftrsaÊ vfHk"ksdh

(2) ia- Hkhelsu tksðkh

(3) mLrkn fcfLeY«k [kku-
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[4001]-244
rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— izFke izðu vfuok;Z- ,dw.k pkj izðu lksMok-

1. /kekj fdaok lw«rk« ;kiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh vkf.k ,diV&

nqIiV f«gk- [5]

2. [kk«h«iSdh nksuoj Vhik f«gk % [5]

(1) isðkdkj

(2) js«k

(3) jkS-

3. rk«&fufeZrhP;k flºkarkafo"k;h foLrkjkus f«gk- [5]

4. rcY;krh« vtjkMk vkf.k Q#Z[kkckn cktkafo"k;h FkksMD;kr foospu djk- [5]

5. uxek («gjk) ;k fo"k;koj FkksMD;kr foospu djk- [5]



P.T.O.
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S.Y. B.A. EXAMINATION, 2011

PUBLIC ADMINISTRATION

General Paper II

(Theory of Public Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the scope of Public Administration.

(ii) Describe the concept of Accountability.

(iii) State the benefits of Retirement.

(iv) Explain the determinants of Span of Control.

2. Write notes in 100 words each (any four) : [20]

(i) Types of Training.

(ii) Family Courts.

(iii) Administrative functions of Chief Executive.

(iv) Decision-Making Process.

(v) Administrative Tribunals in India.

(vi) Methods of Recruitment.
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3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(i) Explain the functions of Line and Staff Agencies.

(ii) State the differences between Public Administration and Private

Administration.

(iii) Explain the executive control over Public Administration.

(iv) What is Communication ? State the means of Communication.

(v) State the meaning and importance of Financial Administration.

4. Answer any one question (500 words) : [20]

(i) Explain the Behavioural Approach to the study of Public

Administration.

(ii) Describe the various stages of Budgetary Process in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) «ksd izðkklukph O;kIrh Li"V djk-

(ii) tckcnkjkph ladYiuk o.kZu djk-

(iii) lsokfuo`Ÿkhps Qk;ns lkaxk-

(iv) fu;=a.k d{kk fufðpr dj.kkjs ?kVd Li"V djk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(i) izfðk{k.kkps izdkj-

(ii) dkSVqafcd U;k;k«;s-

(iii) eq[; dk;kZf/kdkÚ;kph izðkkldh; dkes-

(iv) fu.kZ; fu/kkZj.k izfÿ;k-

(v) Hkkjrkrh« izðkkldh; U;k;f/kdj.ks-

(vi) HkjrhP;k iºrh-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) js"kk vkf.k LVkQ ?kVdkaph dkes Li"V djk-

(ii) «ksd izðkklu vkf.k [kktxh izðkklu ;krh« Hksn lkaxk-

(iii) «ksd izðkklukojh« dk;Zdkjh eaMˇkps fu;a=.k Li"V djk-

(iv) lalwpu Eg.kts dk; \ lalwpukps lk/kus lkaxk-

(v) foŸkh; izðkklukpk vFkZ vkf.k egRo lkaxk-

4. [kk«h«iSdh dks.krkgh ,d izðu lksMok (500 ðkCnkr) % [20]

(i) «ksd izðkklu vH;klkpk orZuoknh n`"Vhdksu Li"V djk-

(ii) Hkkjrkrh« vFkZladYikPpk fofo/k voLFkkaps o.kZu djk-
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S.Y. B.A. EXAMINATION, 2011

PUBLIC ADMINISTRATION

Special Paper I

(Administrative Thinkers)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain Kautilya’s views on Principles of Administration.

(ii) State the objectives of Scientific Management suggested by F.W.

Taylor.

(iii) Describe Weber’s views on Rational Authority.

(iv) Mention Herbert Simon’s views on Behaviourism.

2. Write notes in 100 words each (any four) : [20]

(i) Nehru’s views on Socialism.

(ii) Nature of ‘Sala Model’.

(iii) Chester Barnard’s theory of Authority.

P.T.O.
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(iv) Features of prismatic society suggested by Fred Riggs.

(v) Kautilya’s views on Administrative Corruption.

(vi) Woodrow Wilson’s view on Administration.

3. Answer the following questions in 200-250 words each

(any three) : [30]

(i) Explain Riggs structural functional approach.

(ii) State Nehru’s views on Decentralisation.

(iii) Mention Kautilya’s Nature of Rajdharm.

(iv) Critically evaluate Taylor’s concept of Scientific Management.

(v) Explain Nehru’s views on Bureaucracy.

4. Answer any one question (500 words) : [20]

(i) Explain Max Weber’s ‘Model of Bureaucracy’.

(ii) Examine Herbert Simon’s Decision Making Model.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) dkSfVY;kph izðkkldh; rŸokalaca/kh ers Li"V djk-

(ii) ,Q- MC«q- Vs«j ;kauh lwphr dss«s«s ðkkL=h; O;oLFkkiukph rRos lkaxk-
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(iii) foosdiz/kku vf/kdkjkojh« oscjph ers o.kZu djk-

(iv) orZuoknkojh« gcZVZ lk;euph ers ueqn djk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) lektoknklaca/kh usg:aph ers-

(ii) ^lk«k ekWMs«* ps Lo:i-

(iii) psLVj cukZMZpk vf/kdkjkpk flºkar-

(iv) ›sM fjXtuh lqpfo«s«h leikfðoZd lektkph oSfðk"VÓs-

(v) dkSfVY;kph izðkkldh; Hkz"Vkpkjklaca/kh ers-

(vi) izðkklukojh« foM™ks foYluph ers-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) fjXtpk jpukRed dk;Zoknh n`"Vhdksu Li"V djk-

(ii) usg:aph fodsaÊhdj.kklaca/kh ers lkaxk-

(iii) dkSfVY;kps jkt/kekZps Lo:i Li"V djk-

(iv) Vs«jpk ðkkL=h; O;oLFkkiukP;k ladYiusps fVdkRed eqY;ekiu djk-

(v) uksdjðkkghlaca/kh usg:aph ers Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) eWCl oscjps uksdjðkkghps izk:i Li"V djk-

(ii) gcZVZ lk;euP;k fu.kZ; izfÿ;k izk:ikps ifj{k.k djk-
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S.Y. B.A. EXAMINATION, 2011

PUBLIC ADMINISTRATION

Special Paper-II

(Institutions and Issues in Indian Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Evaluate the role of National Development Council.

(ii) Explain the features of Bureaucracy.

(iii) State the methods of Recruitment.

(iv) Mention the significance of e-Governance.

2. Write the notes in 100 words each (any four) : [20]

(i) Central services

(ii) Globalization

(iii) Structure of Union Public Service Commission

(iv) Estimate Committee

(v) Social Justice

(vi) Types of Training.

P.T.O.
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3. Answer the following questions in 200-250 words each

(any three) : [30]

(i) Explain the functions of Planning Commission in India.

(ii) Describe the role of National Commission for Woman.

(iii) State the nature of Reservation Policy.

(iv) Mention the functions of voluntary organisation.

(v) Explain the stages of Budgetary Process in India.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the structure and functions of Ministry of Finance.

(ii) Evaluate the role of Human Rights Commission.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) jk"V™h; fodkl ifj"knsP;k Hkwfedsps ifj{k.k djk-

(ii) uksdjðkkghph oSfðk"VÓs Li"V djk-

(iii) Hkjrhpk iºrh lkaxk-

(iv) bZ&ðkklukps egRo uewn djk-
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2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) dsaÊh; lsok

(ii) tkxfrdhdj.k

(iii) dsaÊh; «ksdlsok vk;ksxkph jpuk

(iv) vuqeku lferh

(v) lkekftd U;k;

(vi) izfðk{k.kkps izdkj-

3. [kk«h« izðukaph izR;sdh 200&250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) Hkkjrkrh« fu;kstu vk;ksxkph dkes Li"V djk-

(ii) jk"V™h; efg«k vk;ksxkph Hkwfedk o.kZu djk-

(iii) vkj{k.k /kksj.kkps Lo:i lkaxk-

(iv) Lo;alsoh la?kVusph dkes uewn djk-

(v) Hkkjrkrh« vankti=dkP;k voLFkk Li"V djk-

4. [k«h«iSdh izðukaph mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) vFkZ ea=k«;kph jpuk o dkes Li"V djk-

(ii) ekuoh gDd vk;ksxkP;k Hkwfedsps ifj{k.k djk-
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S.Y. B.A. EXAMINATION, 2011

PSYCHOLOGY

G-2 : Social Psychology

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) What is social loafing ?

(ii) Explain Door-in-the-face tachnique.

(iii) State “Proximity” as a determinant of attraction.

(iv) What is triangular theory of love ?

2. Answer in 100 words each (any four) : [20]

(i) What is self-concept ?

(ii) Explain the components of attitude.

(iii) What is schemas ?

(iv) What is group cohesiveness ?

(v) Explain ‘group size’ as a factor affecting conformity.

(vi) What is social attraction ?

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Describe self-presentation and self-regulation.

(ii) How are attitudes formed ?

(iii) Explain basic sources of attribution error.

(iv) Describe leadership styles.

(v) Explain obedience in detail.

4. Answer any one in 500 words : [20]

(i) What is Social Psychology ? Explain the theories in social

psychology.

(ii) What is communication ? Describe various codes of non-verbal

communication.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) lkekftd crko.kh Eg.kts dk; \

(ii) udkjkuarj gksdkj feˇfo.;kps ra= Li"V djk-

(iii) vkd"kZ.kkpk ,d ?kVd Eg.kwu ^^toˇhdrk** Li"V djk-

(iv) izsekpk f=dks.k flºkar Eg.kts dk; \
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2. izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(i) Lo&ladYiuk Eg.kts dk; \

(ii) vfHko`Ÿkhps ?kVd Li"V djk-

(iii) vkfn:i Eg.kts dk; \

(iv) lewg ,dkReHkko Eg.kts dk; \

(v) vuqlkfjrsoj ifj.kke dj.kkjk ?kVd Eg.kwu ^lewg vkdkj* Li"V djk-

(vi) lkekftd vkd"kZ.k Eg.kts dk; \

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) Lo&lknjhdj.k vkf.k Lo&fu;a=.kkps o.kZu djk-

(ii) vfHko`Ÿkh dðkk r;kj gksrkr \

(iii) lkekftd cks/kukrh« pqdk Li"V djk-

(iv) usr̀Ro ðkS«h (izdkj) o.kZu djk-

(v) vkKkik«ukps lfoLrj o.kZu djk-

4. dks.kR;kgh ,dkps 500 ðkCnkar mŸkj f«gk % [20]

(i) lkekftd ekulðkkL= Eg.kts dk; \ lkekftd ekulðkkL=krh« flºkar Li"V

djk-

(ii) laizs"k.k Eg.kts dk; \ vðkkfCnd laizs"k.kkrh« fofo/k iz?kkrkaps o.kZu djk-
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S.Y. B.A. EXAMINATION, 2011

PSYCHOLOGY

Special Paper-I

(Psychology of Adjustment)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) State the psychosexual developmental stages.

(ii) Explain the concept of financial difficulties.

(iii) Explain the concept of coping behaviour.

(iv) Explain the concept of health psychology.

2. Write short notes in 100 words each (any four) : [20]

(i) Bandura’s behaviour approach.

(ii) What is very important in happiness ?

(iii) Causes and effects of unemployment.

(iv) Explain in brief mind-body connection.

(v) Frustration.

(vi) Alcoholism.

P.T.O.
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3. Attempt any three questions in 200-250 words each : [30]

(i) Explain the predictors of marital success.

(ii) Describe the model of career choice and development given

by Holland.

(iii) Explain the types of motivational conflict.

(iv) Discuss Biomedical model.

(v) State the effects of smoking on health

4. Answer any one of the following questions in 500 words : [20]

(i) Define Abnormal behaviour. Explain the criteria of abnormal

behaviour.

(ii) Explain Ellis’s Rational-Emotive-Behaviour therapy (R.E.B.T).

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) ekulySafxd fodklkP;k voLFkk fo'kn djk-

(ii) vkfFkZd vMp.k gh ladYiuk Li"V djk-

(iii) lk/kd orZu gh ladYiuk Li"V djk-

(iv) vjksX;@LokLFk ekul'kkL= gh ladYiuk Li"V djk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) ckaMqjkpk orZuoknh n`f"Vdksu-

(ii) lq[kkP;k ckcr vfrðk; egŸokps dk; vlrs \

(iii) csdkjhph dkj.ks vkf.k ifj.kke-

(iv) ðkjhj&eu laca/k FkksMD;kr foðkn djk-

(v) oSQY; (Frustration).

(vi) e|klDrh-

3. [kk«h« izðukaph mŸkjs izR;sdh 200&250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) oSokghd ;'kkps iwoZdFku Li"V djk-

(ii) O;olk; fuoM o fodkl ;kckcr gkWyaM ;kauh fnysY;k izk:ikps o.kZu djk-

(iii) izsj.kk la?k"kkZps izdkj Li"V djk-

(iv) tSo&oS|d izk:ikph ppkZ djk-

(v) /kqezikukps LokLFkkojhy ifj.kke Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) vilkekU; orZukph O;k[;k |k- vilkekU; orZukps fud"k lfoLrj Li"V

djk-

(ii) ,fyl ;kaph rdZfu"B HkkokRed orZu mipkj iºrh (R.E.B.T.) Li"V djk-
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(Abnormal Psychology and Therapeutic Intervention)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) What is abnormal behaviour ?

(ii) Explain the negative symptoms of schizophrenia.

(iii) State the importance of Token Economy.

(iv) State the need for Psychotherapy.

2. Write short notes in 100 words each (any four) : [20]

(i) Brief Psychotic disorder.

(ii) Generalized anxiety disorder.

(iii) DSM-IV based classification of mental disorder.

(iv) Causes of abnormality.

(v) Systematic desensitization.

(vi) Yoga therapy.
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3. Attempt any three questions in 200-250 words each : [30]

(i) Explain the types of schizophrenia.

(ii) Describe the symptoms of depression disorder.

(iii) State the importance of success in psychotherapy.

(iv) Explain the aversion therapy.

(v) Describe the marital therapy.

4. Answer any one of the following questions in 500 words : [20]

(i) What is personality disorder ? Explain the odd and eccentric

personality disorder.

(ii) Describe fully the client centered therapy stages and its

evaluation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) vilkekU;@euksfoœrh orZu Eg.kts dk; \

(ii) fNUueuLdrsph udkjkRed «{k.ks Li"V djk-

(iii) izfrdkRed ikfjrksf"kdkps egRo lkaxk-

(iv) ekulksipkj iºrhph xjt lkaxk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) vYidkf«u euksfof{kIrh-

(ii) lkekU; fpaŸkk foœrh-

(iii) fM- ,l- ,e-&pkj izf.kr euksfoœrhps oxhZdj.k-

(iv) euksfoœrhph dkj.ks-

(v) iºrðkhj vkosnuðkh«u-

(vi) ;ksxk&mipkj iºrh-

3. [kk«h« izðukaph mŸkjs izR;sdh 200&250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) fNUueuLdrsps izdkj Li"V djk-

(ii) fo"kkn@volkn foœrhP;k «{k.kkaps o.kZu djk-

(iii) ekulksipkjkP;k ;ðkkps egRo lkaxk-

(iv) ijko`Ÿkh mipkj iºrh Li"V djk-

(v) oSokghd mipkj iºrhps o.kZu djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) O;fDreRo foœrh Eg.kts dk; \ fo«{k.k vkf.k fof{kIr O;fDreRokps izdkj

Li"V djk-

(ii) #X.kdasfÊr mipkj iºrhps o.kZu vkf.k eqY;ekiu djk-



Total No. of Questions —4+4] [Total No. of Printed Pages—4+2

[4001]-250

S.Y. B.A. EXAMINATION, 2011

PSYCHOLOGY

Special Paper-II

(S-2 : Positive Psychology and Counselling Psychology)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions in 50 words each : [10]

(i) Explain how children differ from adults.

(ii) Describe the Gestalt counseling.

(iii) Explain the concept of ‘hope’.

(iv) Describe person-centered counseling.

2. Write short notes in 100 words each (any four) : [20]

(i) Positive emotions and well-being

(ii) The life tasks of adulthood

(iii) Optimism and well-being

(iv) Successful aging

(v) Positive youth development

(vi) Emotional Intelligence.

P.T.O.
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3. Attempt any three questions in 200-250 words each : [30]

(i) Explain the stages of counseling process.

(ii) Describe the characteristics of effective counselor.

(iii) Explain the cognitive counseling.

(iv) State the importance of the communication with children.

(v) Explain the nature of positive psychology.

4. Attempt any one question in 500 words : [20]

(i) What is happiness ? Describe the determinants and measurement

technique of happiness.

(ii) Define counseling. Explain the characteristics of older adult

as a client.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) ckyd izkS<kai{kk osxˇs dls \ Li"V djk-

(ii) ^cks/kkRed leqins'ku* o.kZu djk-

(iii) ^vk'kk* ladYiuk Li"V djk-

(iv) ^O;fDrdsafÊr leqins'ku* o.kZu djk-
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2. [kkyhy izzðukaph izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) ldkjkRed Hkkouk vkf.k [kq'kkyh

(ii) izkS<koLFksrhy thou dk;sZ

(iii) vk'kkokn vkf.k [kq'kkyh

(iv) ;'kLoh o`ºkoLFkk

(v) ldkjkRed ;qok fodkl

(vi) Hkkofud cqfºeŸkk

3. [kk«h« izðukaph mŸkjs izR;sdh 200&250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(i) leqins'ku izfÿ;sP;k voLFkk Li"V djk-

(ii) izHkkoh leqins'kdkph xq.koSf'k"VÓs o.kZu djk-

(iii) ^cks/kkRed leqins'ku* Li"V djk-

(iv) ckydkacjkscjhˇ laoknkps egRo lkaxk-

(v) ldkjkRed ekul'kkL=kps Lo:i Li"V djk-

4. [kk«h« iz'ukaph mŸkjs 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) vkuanho`Ÿkh Eg.kts dk; \ vkuanho`Ÿkhps ?kVd vkf.k ekiura= o.kZu djk-

(ii) leqins'ku O;k[;k |k- ,d lYykFkhZ Eg.kwu o;Ld izkS<kph oSf'k"VÓs Li"V

djk-



[4001]-250 4

[4001]-250

(S-2 : Developmental Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions in 50 words each : [10]

(i) What are the areas in life span development ?

(ii) Explain the motor development in infancy.

(iii) State the development of ‘Self’ in middle childhood.

(iv) Explain the alternative views intelligence in early adulthood.

2. Write short notes in 100 words each (any four) : [20]

(i) The stages of development in prenatal period

(ii) Play interests in the preschool years

(iii) Puberty

(iv) Family relationships in Adolescence

(v) Problems of working women

(vi) Alzheimer’s disease.

3. Attempt any three questions in 200-250 words each : [30]

(i) Explain the threats of prenatal development.

(ii) Discuss the social development in preschool years.
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(iii) Explain the physical development in middle childhood.

(iv) Discuss the family relationship in middle age.

(v) Explain in detail the physical and mental disorders in late

adulthood.

4. Attempt any one question in 500 words : [20]

(i) Discuss in detail language development in infancy.

(ii) Explain in detail physical development in early adulthood.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) thoud{kk fodklkph {ks=s dks.krh \

(ii) ðkSðkkoLFksrh« dkjd fodkl Li"V djk-

(iii) e/;ckY;koLFksrh« ^Lo* fodkl Li"V djk-

(iv) iwoZizkS<koLFksrh« cqfºeŸksfo"k;h fofo/k izokg Li"V djk-

2. [kk«h« izðukaph izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) tUeiwoZ fodklkps VIis

(ii) iwoZðkk«s; o;krh« [ksˇkrhˇ vfHk:ph
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(iii) ikSaxM

(iv) fdðkksjkoLFksrhˇ dkSVqqafcd laca/k

(v) uksdjh dj.kkÚ;k fL=;kaP;k leL;k

(vi) vY>k;ej (Alzheimers) foœrh-

3. [kk«h« izðukaph izR;sdh mŸkjs 200&250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) tUeiwoZ fodklkps /kksds Li"V djk-

(ii) iwoZðkk«s; o;krhˇ lkekftd fodklkph ppkZ djk-

(iii) e/;ckY;koLFksrh« ðkkjhfjd fodkl Li"V djk-

(iv) e/;eo;krhˇ dkSVaqfcd laca/kkph ppkZ djk-

(v) òºkoLFksrh« ðkkjhfjd o ekufld fodkjkaph ppkZ djk-

4. [kk«h« izðukaph mŸkjs 300 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) ðkSðkkoLFksrh« Hkkf"kd fodklkph lfoLrj ppkZ djk-

(ii) iwoZizkS<koLFksrh« ðkkjhfjd fodkl lfoLrj Li"V djk-



Total No. of Questions —4] [Total No. of Printed Pages—3

[4001]-251

S.Y. B.A. EXAMINATION, 2011

GANDHIAN THOUGHT

G-2 : Socio-Political and Religious Thought

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(i) Explain briefly Gandhiji’s critique on Totalitarianism.

(ii) State and explain Gandhiji’s views on Hindu Culture.

(iii) Explain briefly Gandhiji’s idea of Swadeshi.

(iv) Explain Gandhiji’s views on use of machine.

2. Write short notes on any four of the following in 100 words each : [20]

(i) Gandhiji’s views regarding equality of wages

(ii) Gandhiji’s idea of decentralization

(iii) Spiritualization of politics

(iv) Punchayat Raj

(v) Removal of untouchability

(vi) Faith and Reason.

P.T.O.
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3. Answer any three of the following questions in 200-250 words each : [30]

(i) Explain Gandhiji’s views regarding Interreligious Harmony.

(ii) Bring out the importance of religious instructions through

education.

(iii) Explain Gandhiji’s criticism on modern civilization.

(iv) Explain the Rights and Duties of man according to Gandhiji.

(v) State and illustrate Gandhiji’s views regarding the role and

status of women in society.

4. Answer any one of the following questions in 500 words : [20]

(i) “Satyagraha is a way of Mass-Movement”. With the help of

this statement bring out Gandhiji’s views on Satyagraha.

(ii) Explain and discuss the importance of Gandhiji’s eighteen point

constructive programme of social change.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaps izR;sdh 50 ðkCnkr mŸkjs f«gk % [10]

(i) ,dkf/kdkjðkkghojh« xka/khthaph Vhdk FkksMD;kr Li"V djk-

(ii) fgUnq laLœrhcÌ«pk xka/khthapk n`"Vhdksu lkaxwu R;kps Li"Vhdj.k djk-

(iii) xka/khthaph Lonsðkhph dYiuk FkksMD;kr Li"V djk-

(iv) ;a=kaP;k okijkcÌ« xka/khthapk n`f"Vdksu Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh pkjk aoj izR;sdh 100 ðkCnkr FkksMD;kr Vhik f«gk % [20]

(i) leku osrukcÌ« xka/khthapk n`f"Vdksu

(ii) xka/khthapk fodsaÊhdj.kkph dYiuk

(iii) jktdkj.kkps vk/;kfRedj.k

(iv) iapk;rjkt

(v) vLi`ð;rsps fuewZ«u

(vi) Jºk vkf.k cqºh-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk % [30]

(i) vkarj/kfeZ; lwlaoknkcÌ« xka/khthapk n`f"Vdksu Li"V djk-

(ii) fðk{k.kkP;k ek/;ekrwu /kkfeZd fðk{k.kkps egRo foðkn djk-

(iii) vk/kqfud lektO;oLFksojh« xka/khthaph Vhdk Li"V djk-

(iv) xka/khthaP;k erkuwlkj O;fDrps gDd vkf.k drZO;s Li"V djk-

(v) fL=;kaps lektkrh« LFkku o Hkwfedk ;kcÌ«ph xka/khthaph ers lkaxwu R;kaps

foospu djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk % [20]

(i) ^^lR;kxzg gk ,d tuvkanks«ukpk ekxZ gks;**------------;k fo/kkukP;k vk/kkjs xkaËkhthaph

lR;kxzgkfo"k;hpk n`"Vhdksu Li"V djk

(ii) xka/khthapk lekt ifjorZuklaca/khpk vBjk d«eh fo/kk;d dk;Zÿe Li"V d:u

R;kps egRo foðkn djk-
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S.Y. B.A. EXAMINATION, 2011

YOGVIDYA

General Paper-II

Yogachi Sarvangeen Baithak

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]

(i) Explain the importance of meditation in college.

(ii) What is Yoga ?

2. Write short notes (any two) : [10]

(i) Scope of Yoga

(ii) Panchklesha

(iii) Kriyayog

(iv) Samadhi.

3. Answer any two questions from the following in 200 to 250 words

each : [15]

(i) Explain the use of Yoga for improving educational system.

P.T.O.
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(ii) What is the Nastik Darshan ? Discuss in detail Charvak darshan.

(iii) Explain the causes and effects of frustration.

4. Attempt any one question in detail : [10]

(i) Explain Patanjali’s Ashtang Yoga.

(ii) Discuss personality development and Yoga.

osˇ % 2 rkl ,dw .k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dkps 50 ðkCnkar Li"Vhdj.k |k % [5]

(i) egkfo|k«;hu Lrjkoj /;kukps egRo Li"V djk-

(ii) ;ksx Eg.kts dk; \

2. FkksMD;kr Vhik |k (dks.kR;kgh nksu) % [10]

(i) ;ksxkph O;kIrh

(ii) iapD«sðk

(iii) fÿ;k;ksx

(iv) lekf/k-
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3. [kk«h«iSdh dks.kR;kgh nksu izðukaps izR;sdh 200 rs 250 ðkCnkar mŸkj |k % [15]

(i) ðkS{kf.kd izfÿ;sr ;ksxlk/kuspk mi;ksx Li"V djk-

(ii) ukfLrd nðkZu Eg.kts dk; \ pkokZd nðkZu lfoLrj foðkn djk-

(iii) foQ«rsph dkj.ks o ifj.kke Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dkps lfoLrj mŸkj |k % [10]

(i) irat«hapk v"Vkax ;ksx Li"V djk-

(ii) O;fDreRo fodkl vkf.k ;ksx] ppkZ djk-



Total No. of Questions —4] [Total No. of Printed Pages—3

[4001]-253

S.Y. B.A. EXAMINATION, 2011

HISTORY OF CIVILIZATION

General Paper II

(Indian Culture)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Importance of Coins.

(ii) Varna system in Ancient Indian Society.

(iii) Features of Indian Painting.

(iv) Principles of Satyashodhak Samaj.

2. Write short notes in 100 words each (any four) : [20]

(i) Social life in Harappa Culture.

(ii) ‘Ashram System’ in Ancient Indian Society.

(iii) Panchsheel.

(iv) Consequences of Bhakti Movement

(v) Painting of Ajanta.

(vi) Information Technology.

P.T.O.
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3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(i) Discuss the archaeological sources of Ancient Indian History.

(ii) State the teaching of Jainism.

(iii) Review the work of ‘Bhakti Movement’.

(iv) Discuss the architecture of temples in Medieval India.

(v) State the progress in science from ancient to medieval period.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the ‘Cultural Identity’ of India.

(ii) State the contribution of Arya Samaj in Socio-religious movement

in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) uk.;kaps egRo-

(ii) izkphu Hkkjrh; lektkrh« o.kZO;oLFkk-

(iii) Hkkjrh; fp=d«sph oSfðk"VÓs-

(iv) lR;ðkks/kd lektkph rRos-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) gjkIik laLœrhrh« lekt thou-

(ii) izkphu Hkkjrh; lektkrh« vkJeO;oLFkk-

(iii) iapðkh«-

(iv) HkDrh pˇoˇhps ijh.kke-

(v) vftaBÓkph fp=d«k-

(vi) ekfgrh ra=Kku-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) izkphu HkkjrkP;k vH;klkP;k HkkSfrd lk/kukaph ppkZ djk-

(ii) tSu/kekZph fðkdo.k lkaxk-

(iii) HkDrh pˇoˇhP;k dk;kZpk vk<kok ?;k-

(iv) e/;;qxhu dkˇkrh« eafnj LFkkiR; d«sfo"k;h ppkZ djk-

(v) izkphu rss e/;;qxhu dkˇkrh« foKkuke/;s >k«s«h izxrh lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) Hkkjrkph ^laLœfrd vksˇ[k* Li"V djk-

(ii) Hkkjrkrh« lkekftd&/kkfeZd pˇoˇhr vk;Z lektkps dk;Z lkaxk-



Total No. of Questions —4] [Total No. of Printed Pages—3

[4001]-254

S.Y. B.A. EXAMINATION, 2011

HOME ECONOMICS

G-2 : Sociology of Family

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following concepts in 50 words each (any two) : [10]

(i) Nuclear family

(ii) Socialisation

(iii) Social institution

(iv) Child welfare.

2. Write short notes in 100 words each (any four) : [20]

(i) Importance of Sociology

(ii) Head of the family

(iii) Merits of Nuclear Family system

(iv) Family Disorganisation

(v) Types of Marriage

(vi) Human Race.

P.T.O.
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3. Answer the following questions in 200 words each (any three) : [30]

(i) Explain the importance of family in the process of socialisation

of the child.

(ii) Explain the merits and demerits of joint family system.

(iii) Describe the basic development of human race.

(iv) “Marriage as an Institution.” Explain.

(v) Explain the role of government in family and child welfare

in Indian society.

4. Answer the following questions in 500 words (any one) : [20]

(i) Explain the functions of family.

(ii) Explain the causes of family disintegration in rural and urban

sector in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« ladYiukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(i) v.kq dqVqac

(ii) lkekftdhdj.k

(iii) lkekftd laLFkk

(iv) ck« dY;k.k-
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2. izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) lektðkkL=kps egRo

(ii) dqVaqc izeq[k

(iii) v.kqdqVqac iºrhps xq.k

(iv) dqVaqc foLFkkiu

(v) fookgkps izdkj

(vi) ekuoh oaðk-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(i) ck«dkaP;k lkekftdhdj.k izfÿ;srh« dqVaqckps egRo Li"V djk-

(ii) ,d= dqVqac iºrhps xq.k&nks"k Li"V djk-

(iii) ekuoh oaðkkP;k eqˇHkwr fodklkps o.kZu djk-

(iv) ^^fookg ,d laLFkk vkgs** Li"V djk-

(v) Hkkjrh; lekT;krh« dqVaqc vkf.k ck« dY;k.kkrh« ðkklukph Hkwfedk Li"V

djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) dqVqaackph dk;sZ Li"V djk-

(ii) Hkkjrh; xzkeh.k vkf.k ðkgjh Hkkxkrh« dqVqac fo?kVukph dkj.ks Li"V djk-
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[4001]-255

S.Y. B.A. EXAMINATION, 2011

DEFENCE AND STRATEGIC STUDIES

D.S.—G-2 (A) : India’s National Security

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) What are the objectives of SAARC ?

(ii) State the threats to India’s Naval Security.

(iii) State the peaceful uses of Nuclear Power.

(iv) What are the objectives of Indian Foreign Policy ?

2. Write short notes in 100 words each (any four) : [20]

(i) Causes of the Insurgency

(ii) Geostrategic importance of Kashmir

(iii) Achievements of SAARC

(iv) Measures of Terrorism

(v) Treaty of Indo-Russia

(vi) Mac Mahon line

P.T.O.



[4001]-255 2

3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the meaning and concept of National Security.

(ii) Give an account of the activities of Superpowers in the Indian

Ocean.

(iii) What are the internal security problems of India ?

(iv) Explain the linkage between Foreign and Defence Policy.

(v) Describe Indo-China relations since 1990.

4. Answer in 500 words (any one) : [20]

(i) Explain the relation between India and USA.

(ii) Describe the Indo-Pak relations with special reference to the

nuclear debate.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) lkdZph mfÌ"Vs dks.krh \

(ii) Hkkjrh; ukfod lqj{ks«k vl«s«s /kksds lkaxk-

(iii) v.kqðkDrhpss ðkkarrke; mi;ksx lkaxk-

(iv) Hkkjrh; ijjk"V™h; /kksj.kkph mÌh"Vs dks.krh \
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) foI«oph dkj.ks

(ii) dkðehjps Hkwlkefjd egRo

(iii) lkdZps ;ðk

(iv) ngðkroknkoj mik;

(v) Hkkjr&jfðk;k djkj

(vi) eWdeksgu js"kk-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) jk"V™h; lqj{kspk vFkZ vkf.k ladYiuk Li"V djk-

(ii) fganh egklkxjkrh« egklŸkkaP;k gk«pk«hapk vk<kok ?;k-

(iii) HkkjrkP;k varxZr lqj{ksP;k leL;k dk; vkgsr \

(iv) ijjk"V™ vkf.k laj{k.k /kksj.kkrh« ijLij laca/k Li"V djk-

(v) 1990 iklwuP;k Hkkjr&phu laca/kkps o.kZu djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(i) Hkkjr vkf.k vesfjdk ;kaP;krh« laca/k Li"V djk-

(ii) vkf.od okn ;k eq|ka«k vuql:u Hkkjr&ikd laca/kkps o.kZu djk-
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D.S.—G-2 (B) : Cold War

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Explain the concept of Cold War.

(ii) State the characteristics of Truman Plan.

(iii) Explain the concept of Detente.

(iv) Why did cold war happen in Asia ?

2. Write short notes in 100 words each (any four) : [20]

(i) Cominform created

(ii) Characteristics of Baghdad Pact

(iii) Bay of Pigs Campaign

(iv) Khomeini Revolution

(v) East European Revolution of 1989

(vi) Moscow Summit 1972.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the causes of emergence of cold war.

(ii) Describe the importance of Middle-East.

(iii) Explain in detail the third stage of Cold War.

(iv) Define New Cold War and describe the effects of Afghanistan

crisis.

(v) Explain in detail the SEATO Pact.

4. Answer any one of the following questions in 500 words : [20]

(i) Describe the Cuban Missile Crisis of 1962.

(ii) Explain the causes of disintegration of Soviet Union.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ðkhr ;qºkaph ladYiuk Li"V djk-

(ii) V™qeu ;kstusph oSfðk"Vs lkaxk-

(iii) l«ks[kk@r.kkoðkSfFkY;kph ladYiuk Li"V djk-

(iv) vkfðk;kr ðkhr;qº dk vk«s \
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) dksfeuQkWeZph fufeZrh

(ii) cxnkn djkjkph oSfðk"Vs

(iii) cs&vkWQ fiXt eksghe

(iv) [kksesuhph ÿkUrh

(v) 1989 e/kh« iwoZ ;qjksikrh« ÿkarh

(vi) ekLdks ifj"kn~ 1972-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu ) % [30]

(i) ðkhr ;qº mn~Hko.;kph dkj.ks Li"V djk-

(ii) e/;iwoZsps egRo foðkn djk-

(iii) ðkhr ;qºkP;k frlÚ;k VII;kps lfoLrj o.kZu djk-

(iv) ufou ðkhr ;qºkph O;k[;k |k vkf.k vQxk.k la?k"kkZps ifj.kke foðkn djk-

(v) flvWVks (SEATO) djkj lfoLrj Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) 1962 e/kh« D;qcu {ksi.kkL= la?k"kZ foðkn djk-

(ii) lksfOg,V jfðk;kP;k fo?kVukph dkj.ks Li"V djk-
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[4001]-255

D.S.—G-2 (C) : Evolution of Strategic Thought

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Explain Clausewitz’s concept of total war.

(ii) Explain concept of war by Dupica.

(iii) According to Ludendorff what is the role of commander in

war ?

(iv) State the principles of war of Marshal Foch.

2. Write short notes in 100 words each (any four) : [20]

(i) Moltke

(ii) Liddle Hart

(iii) J.F.C. Fuller

(iv) Mackinder

(v) Karl Haushofer

(vi) Jomini.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Describe the views of Mao Zedong about Guerrilla

Strategy.

(ii) Explain the strategic thought by Che Guevara.

(iii) Describe Douhet’s theory of Air Power.

(iv) State geo-political thought by Karl Haushofer.

(v) Explain the theory of Sea Power by Admiral A.T. Mahan.

4. Answer in 500 words each (any one) : [20]

(i) Describe military thought by Liddle Hart.

(ii) Explain strategic thought by Jomini.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) D«kWtfoV>~ph lo±d"k ;qºkph ladYiuk Li"V djk-

(ii) Mwfidph ;qºkph ladYiuk Li"V djk-

(iii) «wMsuMkWQZP;k ers lsukirhph ;qºkrh« Hkwfedk dks.krh \

(iv) ekðkZ« Qksp ;kaph ;qº rRos lkaxk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) eksYVds

(ii) f«M« gkVZ

(iii) ts- ,Q- lh- Qq«j

(iv) eWfdUMj

(v) dk«Z gkSðkksQj

(vi) tksfeuh-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) ekvks >sMk°x ;kaps xfueh ;qºfurh fo"k;hps fopkj foðkn djk-

(ii) pss xsOgjk ;kaps lkefjd fopkj Li"V djk-

(iii) MwgsVP;k gokbZ ðkDrhP;k flºkarkps o.kZu djk-

(iv) dk«Z gkSðkksQj ;kaps Hkwjktfd; fopkj lkaxk-

(v) vWMfej« ,- Vh- egku ;kapk lkxjh lŸkspk flºkar Li"V djk-

4. izR;sdh 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(i) f«M« gkVZps «"djh fopkj foðkn djk-

(ii) tksfeuhps lkefjd fopkj Li"V djk-
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Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

[4001]-256

S.Y. B.A. EXAMINATION, 2011

DEFENCE AND STRATEGIC STUDIES

D.S. : (A) S1 : International and Regional Organisation

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Explain the functions of UN.

(ii) What are Human Rights ?

(iii) State the functions of ASEAN.

(iv) Describe the objectives of European Union.

2. Write short notes in 100 words each (any four) : [20]

(i) Objectives of UN

(ii) ASEAN

(iii) Structure of SAARC

(iv) NAFTA

(v) Peaceful settlement of disputes

(vi) Aims of European Union.
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3. Answer in 200 to 250 words each (any three) : [30]

(a) Describe the UN role in International peace and security.

(b) Explain the suggestion to strengthen the UN.

(c) State the aims, objectives and functions of NAFTA.

(d) Explain the future of UN.

(e) Describe the UN contribution in Human Rights.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the aims, objectives and functions of SAARC.

(ii) State the role of UN in the social and economic issues.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) la;qDr jk"V™kaph dk;sZ Li"V djk-

(ii) ekuoh gDd Eg.kts dk; \

(iii) vkfl;uph dk;sZ lkaxk-

(iv) ;qjksfi;u ;qfu;uph mfÌ"Vs foðkn djk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) la;qDr jk"V™kaph mfÌ"Vs

(ii) vkfl;u

(iii) lkdZph jpuk

(iv) uk∂rk

(v) izðu lksMfo.;kps ðkkarrke; ekxZ

(vi) ;qjksfi;u ;qfu;ps gsrw-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(a) vkarjjk"V™h; ðkkarrk o lqjf{krrk fVdfo.;krh« la;qDr jk"V™kP;k Hkwfedsps o.kZu

djk-

(b) ;q-,u~-P;k etcqrhps mik; Li"V djk-

(c) uk∂rkps gsrw] mfÌ"Vs vkf.k dk;sZ lkaxk-

(d) la;qDr jk"V™kaps HkforO; Li"V djk-

(e) ekuoh gDdkrh« la;qDr jk"V™kaps ;ksxnku foðkn djk-

4. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) lkdZps gsrw] mfÌ"Vs vkf.k dk;sZ Li"V djk-

(2) la;qDr jk"V™kaps lkekftd vkf.k vkfFkZd izðu lksMfo.;krh« dk;sZ foðkn djk-
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(D.S. S-1 (B) : India and Her Neighbours)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) What are the objectives of SAARC ?

(2) State the causes of India-China War.

(3) Explain India’s geo-strategic location.

(4) State Geostrategic importance of Bhutan.

2. Write short notes in 100 words each (any four) : [20]

(1) Geostrategic importance of Kashmir.

(2) Population as a factor of National Power.

(3) Maritime boundary.

(4) Co-operation of India and Myanmar.

(5) Tibet Issue.

(6) Simla Pact.

3. Answer in 200 to 250 words each (any three) : [30]

(1) Explain the ethnic problem in Sri Lanka.

(2) Explain the Geostrategic importance of India.
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(3) State the causes of 1965 War.

(4) Describe in detail Indo-Nepal relations.

(5) Describe India’s role in SAARC.

4. Answer any one of the following in 500 words : [20]

(1) “Border dispute is a crucial issue in India-China relations.”

Explain.

(2) Explain India’s role in the independence of Bangladesh.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k n”kZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) lkdZph mÌh"Vs dks.krh \

(2) Hkkjr&phu ;qºkph dkj.ks lkaxk-

(3) Hkkjrkps Hkwlkefjd LFkku Li"V djk-

(4) Hkwrkups Hkwlkefjd egRo lkaxk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(1) dkðehjps Hkwlkefjd egRo-

(2) «ksdla[;k jk"V™h; ðkDrhpk ,d ?kVd-
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(3) lkxjh lhek-

(4) Hkkjr o E;kuekj e/kh« lgdk;Z-

(5) frcsV izðu-

(6) fðke«k djkj-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) Jh«adsrh« okafðkd leL;k Li"V djk-

(2) Hkkjrkps Hkwlkejhd egRo Li"V djk-

(3) 1965 P;k ;qºkph dkj.ks lkaxk-

(4) Hkkjr&usikˇ laca/kkps lfoLrj o.kZu djk-

(5) HkkjrkP;k lkdZ e/kh« Hkwfedsps o.kZu djk-

4. [kk«h«iSdh dks.krsgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ^^Hkkjr vkf.k phu laca/kkr ^lhek fookn* gh ,d dBhu leL;k vkgs-**

Li"V djk-

(2) ckax«knsðk Lokra´;krh« Hkkjrkph Hkwfedk Li"V djk-
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S.Y. B.A. EXAMINATION, 2011

DEFENCE AND STRATEGIC STUDIES

(D.S. S-2 (A) Defence Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) What are the characteristics of War Time Economy ?

(2) State the means of Economic Warfare.

(3) State the effects of War Finance.

(4) Give types of Taxes.

2. Write short notes in 100 words each (any four) : [20]

(1) Importance of Strategic Minerals

(2) Development

(3) Rationing

(4) Defence Budget

(5) Importance of War Finance

(6) Effects of War on Economic Structure.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) What are the post-war problems ? Explain.

(2) Explain the determinants of India’s defence expenditure.

(3) Explain in detail the Economic Warfare.

(4) Contrast between defence and development.

(5) Explain the means of War Finance.

4. Answer in 500 words (any one) : [20]

(1) Describe the determinants of War Potential.

(2) Explain the parliamentary control of defence budget in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

1. [kk«h« izðukaph mŸkjs 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) ;qºdk«hu vFkZO;oLFksph oSfðk"Vs dks.krh \

(2) vkfFkZd ;qºiºrhph lk/kus lkaxk-

(3) ;qº foRrkps ifj.kke lkaxk-

(4) djkaps izdkj lkaxk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) lkefjd [kfutkaps egRo

(2) fodkl

(3) jsðkfuax

(4) laj{k.k vankti=d

(5) ;qº foŸkkps egRo

(6) ;qºkps vkfFkZd lajpusojh« ifj.kke-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) ;qºksŸkj dkˇkrh« leL;k dks.kR;k \ rs Li"V djk-

(2) HkkjrkP;k laj{k.k [kpkZps ?kVd Li"V djk-

(3) vkfFkZd ;qºkps lfoLrj o.kZu djk-

(4) laj{k.k vkf.k fodkl ;krh« Qjd Li"V djk-

(5) ;qº foŸkkph lk/kus Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkr f«gk % [20]

(1) ;qº {kersP;k ?kVdkaps o.kZu djk-

(2) Hkkjrh; lalnsps laj{k.k vankti=dkojh« fu;a=.k Li"V djk-
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(D.S. S-2 (B) Military Psychology and Sociology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the types of Leadership.

(2) Give the social changes brought by Army.

(3) State the social base of the Military Power.

(4) Write the characteristics of Armed Forces.

2. Write short notes in 100 words each (any four) : [20]

(1) Nature of Military Leadership

(2) Social causes of war

(3) Personality test

(4) Social aspect of victory

(5) Military sociology

(6) Groups structure.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) Discuss the motivation and training.

(2) State the effects of war on the society.

(3) What are the uses of psychology in defence problems ?

(4) Explain the concept of ‘Sociology of War’.

(5) Explain the role of Armed Forces in promoting national building.

4. Answer in 500 words (any one) : [20]

(1) Explain how the social background of defence personnel changes

the character and composition of the armed forces.

(2) Evaluate the relationship between human right and armed forces.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) usr`Rokps izdkj lkaxk-

(2) lsusus ?kMcwu vk.k«s«s lkekthd cn« lkaxk-

(3) «"djh ðkDrhpk lkekthd ik;k lkaxk-

(4) lðkL= lsukn«kph oSfðk"Vs f«gk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) «"djh usr`Rokps Lo:i

(2) ;qºkph lkekthd dkj.ks

(3) O;fDreRo pkp.kh

(4) fot;kpk lkekthd n`"Vhdksu

(5) «"djh lektðkkL=

(6) xVkaph jpuk-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) izsj.kk o izfðk{k.k ;koj ppkZ djk-

(2) lektkoj gks.kkjs ;qºkps ifj.kke lkaxk-

(3) laj{k.k leL;kae/kh« ekulðkkL=kps mi;ksx dks.krs \

(4) ^;qºkps lektðkkL=* gh ladYiuk Li"V djk-

(5) jk"V™h; ,dkRerk fuekZ.k dj.;krh« lðkL= n«kaph Hkwfedk Li"V djk-

4. 500 ðkCnkr mŸkj f«gk (dks.krkgh ,d) % [20]

(1) laj{k.k n«krh« O;DrhaP;k lkekthd ikðoZHkweheq š lsukn«kps pkfj´; vkf.k jpuk

dðkh cn«rs rs Li"V djk-

(2) lðkL= n«s vkf.k ekuoh gDd ;kaP;krh« laca/kkaps ewY;ekiu djk-
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S.Y. B.A. EXAMINATION, 2011

COMMERCE G-2

(Business Accounting)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculators is allowed.

1. Answer the following questions (any five) : [10]

(a) Who is a debtor ?

(b) Who is a creditor ?

(c) What is trade discount ?

(d) What is Narration ?

(e) What is transactions ?

(f) Who is an insolvent person ?

(g) Define ‘Book-keeping’.

2. State and explain the classification of accounts with three examples

of each type. [20]
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Or

Journalise the following transactions :

2010

March 1 Purchased goods from Soni on credit Rs. 2,000.

March 3 Purchased goods from Soni for cash Rs. 2,000.

March 6 Sold goods to Ajay on credit Rs. 1,500.

March 8 Sold goods to Ajay for cash Rs. 1,500.

March 10 Purchased furniture on credit from Kishor Rs. 3,000.

March 11 Paid to Soni Rs. 2,000.

March 13 Paid salary to Mr. Sachin by cheque Rs. 1,500.

March 15 Received commission Rs. 600.

March 18 Cash withdrawn from bank for office use Rs. 3,000.

March 20 Purchased machinery of Rs. 10,000 from Yuvraj, half of

the amount paid in cash.

March 21 Distributed goods Rs. 1,500 as free samples for

advertisements.

March 23 Cash Rs. 3,000 deposited in Bank.

March 24 Paid office rent in cash Rs. 700.

March 26 Paid wages Rs. 100 to Anil.

March 30 Purchased stationery Rs. 100.
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3. (A) What is Storekeeping ? What are the duties of a Store-

keeper ? [15]

Or

The Trial Balance of Mr. Thombare on 30th June, 2010 was

as follows :

Trial Balance

Particulars Debit Credit

Rs. Rs.

Capital — 25,000

Building 20,000 —

Drawing 750 —

Plant and Machinery 6,000 —

Cash at Bank 550 —

Purchases 47,000 —

Sales — 75,500

Purchase return — 1,000

Sales return 1,500 —

Carriage inward 850 —

Opening stock 11,000 —

Wages 6,000 —
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Postage and telegram 200 —

Debtors 17,600 —

Creditors — 12,600

Salaries 2,500 —

Rent and Insurance 400 —

Bad debt 250 —

Discount allowed 100 —

Discount received — 50

R.D.D. — 750

Outstanding salaries — 100

Trade expenses 300 —

Adjustment :

(1) R.D.D. is to be maintained 5% on debtors.

(2) Depreciate building at 5% and plant and machinery at

10% p.a.

(3) Closing stock was valued at Rs. 8,000.

Prepare a Trading and P & L A/c and Balance Sheet for the

year ended June, 2010.

(B) Describe with examples the various types of overheads.[15]
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Or

Prepare a Store Ledger Account from the following transactions

on the basis of ‘First In First Out’ method :

2009

May 1 Purchased 2000 units @ Rs. 4 per unit.

May 5 Purchased 250 units @ Rs. 5 per unit.

May 7 Issued 1100 units.

May 9 Purchased 3000 units @ Rs. 6 per unit.

May 15 Issued 2000 units.

May 17 Issued 500 units.

May 21 Issued 1000 units.

May 25 Purchased 2500 units @ Rs. 5.50 per unit.

May 28 Issued 1500 units.

4. Write notes on (any four) : [20]

(a) Subsidiary books

(b) Journal

(c) Purchase requisition

(d) Importance of Cost Accounting

(e) Causes of labour turnover

(f) Methods of remunerating labour.
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S.Y. B.A. EXAMINATION, 2011

MATHEMATICS

(FMG-2 : Operations Research)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of logarithmic table and calculators is allowed.

(iv) Graph-paper will be supplied on demand.

1. Attempt each of the following : [16]

(i) Write four applications of operations research.

(ii) Define slack and surplus variables.

(iii) Write the dual of the following L.P.P. :

min. Z = 2x1 – 3x2

subject to    5x1 + 4x3 ³ 5

       3x1 – 2x2 = 6

with        x1 ³ 0, x2 ³ 0

(iv) Define Unbalanced Transportation Problem. How do you balance

Unbalanced T.P. ?

(v) Write two differences between CPM and PERT.
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(vi) Define critical path.

(vii) Write four applications of replacement policies.

(viii) Define saddle point and fair game.

2. (A) Attempt any one of the following : [6]

(i) Solve the following L.P.P. by simplex method :

   max. Z = 2x1 + 3x2

subject to : x1 + x2 £ 1

         3x1 + x2 £ 4

with     x1 ³ 0, x2 ³ 0

(ii) Solve the following L.P.P. by Big-M method :

  min. Z = 2x1 + 3x2

 subject to : x1 + x2 ³ 5

         x1 + 2x2 ³ 6

with     x1 ³ 0, x2 ³ 0

(B) Attempt any two of the following : [10]

(i) Solve the following L.P.P. by Graphical method :

  min.   Z = 4x1 + 3x2

subject to : x1 + 3x2 ³ 9

        2x1 + 3x2 ³ 12

  x1 + x2 ³ 5

with     x1 ³ 0, x2 ³ 0
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(ii) The owner of a small machine shop has four mechanics

available to assign jobs for the day. Four jobs are offered

with expected profit for each mechanic on each job which

are as follows :

Job

A B C D

1 16 10 14 11

 Mechanic 2 14 11 15 15

3 15 15 13 12

4 13 12 14 15

Find the assignment of mechanics to the job that will

result in maximum profit.

(iii) Find the Initial Basic Feasible Solution for the following

Transportation Problem by North-West Corner rule :

 Market

M1 M2 M3 M4 Supply

P1 6 4 9 1 40

Plant P2 20 6 11 3 40

P3 7 1 0 14 50

P4 7 1 12 6 90

Demand 90 30 50 30
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3. (A) Attempt any one of the following : [8]

(i) Determine the optimum basic feasible solution to the

following T.P. :

Destination

A B C D Supply

P 10 2 20 11 15

Source Q 12 7 9 20 25

R 4 14 16 18 10

Demand 5 15 15 15

(ii) Solve the following Transportation problem to maximize

the profit :

Destination

D1 D2 D3 D4 Supply

O1 15 51 42 33 23

Origin O2 80 42 26 81 44

O3 90 40 66 60 33

Requirement 23 31 16 30
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(B) Attempt any one of the following : [8]

(i) Information on the activities required for a project is

as follows :

Name Activity Node Duration (days)

A 1—2 6

B 1—3 2

C 1—4 4

D 2—5 9

E 2—6 8

F 2—7 2

G 3—4 10

H 4—9 6

I 5—6 7

J 6—9 3

K 7—8 6

L 8—10 10

M 9—10 5

Construct a network diagram and find critical path.
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(ii) Reduce the following game by (2 × 2) game by using

Dominance rule :

Player B

B1 B2 B3 B4

A1 3 2 4 0

  Player A A2 3 4 2 4

A3 4 2 4 0

A4 0 4 0 8

4. (A) Attempt any one of the following : [6]

(i) The Simple Engineering Company has a machine whose

purchase price is Rs. 80,000. The expected maintenance

cost and resale price in different years are as given below :

Year Maintenance Cost Resale Value

(in thousand)

1 1,000 75

2 1,200 72

3 1,600 70

4 2,400 65

5 3,000 58

6 3,900 50

7 5,000 45

Determine at which time the machine be replaced.
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(ii) A machine M costing Rs. 9,000 has maintenance cost of

Rs. 200 in the first year of its operation which rises

by Rs. 2,000 in each of the successive years. Assuming

that the machine replacement can be done only at the

end of a year determine the best age at which the machine

be replaced.

(B) Attempt any two of the following : [10]

(i) We have seven jobs each of which must go through the

machine M1, M2 and M3 in the order M1–M2–M3. Determine

only sequence which will minimize total elapsed time :

Job
Machines

M1 M2 M3

A 3 4 6

B 8 3 7

C 7 2 5

D 4 5 11

E 9 1 5

F 8 4 6

G 7 3 12

(ii) Solve the following game :

8 7

6 4

− 
 − 

Player B

I II

1
Player A

2



[4001]-262 8

(iii) Solve the following game :

4 1 4 1 2

2 2 3 4 2

1 3 1 0 4

− − 
 −
 
 − − 

1 2 3 4 5

1

2

3

Player B

B B B B B

A

Player A A

A

5. (A) Attempt any one of the following : [6]

(i) Find the sequence that minimize the total elapsed time

required to complete the following tasks on machines A

and B in the order AB. Also find the minimum total

elapsed time :

Task A B

I 2 6

II 5 8

III 4 7

IV 9 4

V 6 3

VI 8 9

VII 7 3

VIII 5 8

IX 4 11
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(ii) Solve the following game graphically :

2 – 4 6 – 3 5

–3 4 – 4 1 0

 
 
 

1 2 3 4 5

1

2

Player B

B B B B B

A
Player A

A

.

(B) Attempt any one of the following : [10]

(i) The following table shows the jobs of project with their

duration in days. Draw the network and determine the

critical path. Also calculate all floats :

Jobs Duration

(in days)

1—2 2

1—3 7

1—4 8

2—5 3

3—5 6

3—6 10

3—7 4

4—6 6

5—7 2

6—8 5

7—8 6
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(ii) The following table shows the jobs of a network along

with their time estimates in days as :

Job   Time to tm tp

1—2 4 6 8

2—3 5 7 15

2—4 4 8 12

3—6 15 20 25

3—5 10 18 26

4—6 8 9 16

5—7 4 8 12

6—7 1 2 3

7—8 6 7 8

(a) Draw the project network.

(b) Find the critical path.
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S.Y. B.A. EXAMINATION, 2011

MATHEMATICAL STATISTICS (GENERAL)

(Discrete Probability Distributions and Statistical Methods)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Symbols and abbreviations have usual meanings.

(iv) Use of calculator and statistical tables are allowed.

(v) Graph paper will be provided on request.

1. Attempt any two of the following : [2×5=10]

(a) Define the following terms with an illustration.

(i) Discrete random variable (r.v.) on infinite sample space.

(ii) Probability mass function (p.m.f.) on infinite sample space.

(b) Show that all cumulants of Poisson distribution are equal to

parameter ‘m’. Hence find its variance.

P.T.O.
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(c) With usual notations, describe a large sample test for testing

H0 : P1 = P2 against H1 : P1 ≠ P2. Use α level of significance

(l.o.s.).

(d) Distinguish between chain base index numbers and fixed base

index numbers.

2. Attempt any four of the following : [4×5=20]

(a) Derive the recurrence relation between raw moments of Poisson

distribution.

(b) Define the term ‘moment generating function’ (m.g.f.). Derive

the m.g.f. of the Negative Binomial distribution with parameters

k and p.

(c) A coin is tossed 400 times and a head turned up 210 times.

Can the coin be regarded as fair ? Test at 5% l.o.s. Also

verify your result by confidence interval.

(d) Describe stepwise procedure of finding seasonal indices by simple

average method.

(e) With usual notations, show that :

( )
12 13 23

12.3
2 2
13 23

�

(1 ) 1

r r r
r

r r

-
=

- - .

(f) State and prove lack of memory property of geometric dis-

tribution.
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3. Attempt any three of the following : [3×10=30]

(a) (i) Describe the exponential smoothing method of estimating

trend values in a time series. [5]

(ii) Define the term m.g.f. of bivariate r.v. State and prove

its any two properties. [5]

(b) (i) Obtain the distribution function of geometric r.v. over the

range of non-negative integer values. [5]

(ii) Describe any two methods of estimating national income. [5]

(c) (i) Define the term ‘Expected value of a random variable (r.v.)’.

State and prove any two properties of it. [5]

(ii) An item is produced in large numbers. The machine is

known to produce 5% defectives. A quality control inspector

is examining the items by taking them at random. What

is the probability that at least 4 items are to be examined

in order to get 2 defectives ? [5]

(d) (i) Describe the logistic regression with one regressor in detail.

State any one real situation where it can be used. [6]

(ii) Explain the following terms : [4]

(1) Residuals

(2) Coefficient of multiple determination.
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(e) (i) Describe the procedure of testing equality of two population

correlation coefficients, state your assumptions. [5]

(ii) A consumer purchased 50 electric bulbs of brand A and

50 electric bulbs of brand B. Brand A bulbs gave an average

life of 1520 hours with a standard deviation of 60 hours

while brand B bulbs gave an average life of 1490 hours

with a standard deviation of 90 hours. Is there significant

difference in the mean life of the two brands of bulbs ?

Test at 4% l.o.s. [5]

4. Attempt any one of the following : [1×20=20]

(a) (i) Obtain the equation of regression plane of X1 on X2 and

X3 by the method of least squares. [10]

(ii) A television repairman finds that the time spent on his

job follows exponential distribution with mean of 30 minutes.

If he repairs sets in order in which they came in, and

if the arrival of sets follows a Poisson distribution with

an average rate of 10 per 8 hrs day,

calculate :

(1) The expected number of TV sets in the system.

(2) The probability of idle time of repairman. [6]
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(iii) Distinguish between ‘Statistic’ and ‘Parameter’ with an

illustration. [4]

(b) (i) Describe various considerations in the construction of

consumers price index numbers. [8]

(ii) Define ‘Multiple correlation coefficient (R1.23) in case of

trivariate data. Also, derive its expression in terms of total

correlation coefficients. [8]

(iii) Write a note on importance of national income. [4]
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S.Y. B.A. EXAMINATION, 2011

ENGLISH (General)

Paper II

(Understanding Fiction)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :

(i) Lord of the Flies : William Golding

(ii) Inside the Haveli : Rama Mehta

(iii) A Man of the People : Chinua Achebe

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(i) Explain the concept of allegory.

(ii) What do you know about regional novel ?

(iii) What is the significance of setting in the novel ?

(iv) Define plot and mention its types.

(v) What is a point of view ?

(vi) Explain an expository part of the novel.
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2. Answer any four of the following in not more than 150 words

each : [16]

(i) Bring out the element of cruelty in Jack.

(ii) Discuss ‘Lord of the Flies’ as a political novel.

(iii) How did Ralph organise the boys who crash landed on the

island ?

(iv) Comment on the structure of ‘Lord of the Flies’.

(v) Simon is an intended Christ figure in the novel. Explain.

(vi) How do innocence and experience connect thematically in ‘Lord

of the Flies’ ?

3. Attempt any two of the following : [16]

(i) Consider ‘Inside the Haveli’ as a story of change and growth.

(ii) What is the role of minor characters in ‘Inside the Haveli’ ?

(iii) How does Geeta try to bring about a social change through

education ?

4. Attempt any two of the following in not more than 150 words

each : [16]

(i) ‘Corruption of the government’ is one of the themes of ‘A

Man of the People’. Comment.

(ii) Explain irony in ‘A Man of the People’.

(iii) Sketch the character of Odili.
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5. Attempt any four of the following questions : [16]

(i) Comment on the setting in the novel, ‘Lord of the Flies’.

(ii) Write a note on the narrative techniques in ‘Lord of the

flies’.

(iii) Explain the life-like characters in ‘Inside the Haveli’.

(iv) State briefly the difference between the main plot and the

sub plot with reference to the novel, ‘Inside the Haveli’.

(v) Write a note on the use of flashback technique in ‘A Man

of the People’.

(vi) Describe ‘A Man of the People’ as a story of expectations.
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S.Y. B.A. EXAMINATION, 2011

ENGLISH

Special Paper-I

(Understanding Drama)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :

(i) The Importance of Being Earnest by Oscar Wilde

(ii) Death of a Salesman by Arthur Miller

(iii) Hayavadana by Girish Karnad

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four of the following questions : [16]

(i) What are the types of drama ?

(ii) Explain the significance of dialogue in drama.

(iii) Examine life-like characters with suitable examples.

(iv) Write a short note on the term poetic justice with suitable

examples.
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(v) What is melodrama ? Give examples.

(vi) Discuss the triangular structure of drama.

2. Attempt any four of the following questions : [16]

(i) Consider ‘The Importance of Being Earnest’ as a witty

comedy.

(ii) Comment on the title ‘The Importance of Being Earnest’.

(iii) Write a note on the ending of the play ‘The Importance of

Being Earnest’.

(iv) Write a note on the minor characters in ‘The Importance of

Being Earnest’.

(v) Describe Wilde’s use of role playing in ‘The Importance of Being

Earnest’.

(vi) Show how Wilde contrasts the urban social life with the rural

one in ‘The Importance of Being Earnest’.

3. Attempt any two of the following questions : [16]

(i) Discuss ‘Death of a Salesman’ as a play that blends past, present

and future.

(ii) Consider ‘Death of a Salesman’ as a realistic play.

(iii) Examine ‘Death of a Salesman’ as an American tragedy.



[4001]-265 3 P.T.O.

4. Attempt any two of the following questions : [16]

(i) Draw the character sketch of Padmini.

(ii) How does Karnad dramatise the theme of man’s incompleteness

in ‘Hayavadana’ ?

(iii) Comment on the role of co-incidence in ‘Hayavadana’.

5. Attempt any four of the following questions : [16]

(i) Write a brief note on the setting in ‘The Importance of Being

Earnest’.

(ii) Comment on the use of satire in ‘The Importance of Being

Earnest’.

(iii) Explain in brief the use of symbolism in ‘Death of a Salesman’.

(iv) Discuss the dramatic technique in ‘Death of a Salesman’.

(v) How does Karnad handle the Indian theatrical conventions in

‘Hayavadana’ ?

(vi) Comment on the use of humour and satire in ‘Hayavadana’.
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S.Y. B.A. EXAMINATION, 2011

ENGLISH

Special Paper-II

(Understanding Poetry)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed : Poetry Down the Ages.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(i) Define sonnet. Write its types and mention any two of its

characteristics.

(ii) Compare simile with metaphor and give suitable examples.

(iii) What is Metaphysical Poetry ? Write any two of its characteristics.

(iv) Compare blank verse with free verse. Give examples.

(v) State the difference between climax and anti-climax. Give its

examples.

(vi) Explain the term ‘song’. Mention its two characteristics.
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2. Answer any four of the following : [16]

(i) Discuss ‘A Valediction : Forbidding Mourning’ as a love poem.

(ii) Appreciate critically ‘To His Coy Mistress’.

(iii) Consider ‘The Tyger’ as a song of experience.

(iv) Describe the journey made by the poet to Lucy’s cottage in

‘Strange Fits of Passion Have I Known’.

(v) How does Shelley describe the Skylark in ‘To a Skylark’ ?

(vi) How does Keats present the theme of pathos of mortality

of man and immortality of art in ‘Ode on a Grecian Urn’ ?

3. Answer any two of the following : [16]

(i) Consider ‘Tears, Idle Tears’ as an elegiac poem.

(ii) Show how ‘The Darkling Thrush’ deals with isolation and

frustration.

(iii) Discuss ‘An Irish Airman Foresees his Death’ as a war poem.

4. Answer any two of the following : [16]

(i) Having turned away from love, Matthew Arnold justifies himself

in the poem ‘To Marguerite’. Comment.

(ii) Discuss in detail how ‘Felix Randal’ deals with the physical

as well as spiritual state of Felix Randal.

(iii) Comment on the poet’s views about death and immortality in

the poem ‘And Death shall have no Dominion’.
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5. Explain with reference to the context any four of the following : [16]

(i) .........Ay, like departing altar ministrants,

And leave me in my church, the church for peace,

That I may watch at leisure if he leers—

Old Gandolf, at me, from his onion-stone,

As still he envied me, so fair she was !

(ii) The circles of the stormy moon

Slide westward toward the River Plate,

Death and the Raven drift above

And sweeney guards the horned gate.

(iii) Or, after dark, will dubious women come

To make their children touch a particular stone;

Pick simples for a cancer; or on some

Advised night see walking a dead one ?

(iv) Surat ? Ah, yes,

Once only I stayed in Surat

With family members

Of my uncle’s very old friend

his wife was coocking nicely.........

That was long time ago.
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(v) The Angrez imprudently rub salt

in our wounds. Our pride

bites the dust;

Still pullulate the decrepit ruins.

(vi) Leave all for love;

Yet, hear me, yet,

One word more thy heart behoved

One pulse more of firm endeavour,..........
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S.Y. B.A. EXAMINATION, 2011

PHYSICAL EDUCATION

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (any ten) : [20]

(1) Events of Athletics.

(2) Definition of Physical Education.

(3) Name the Indian medal winner in Olympic.

(4) Define aims of Physical Education.

(5) Objectives of Physical Education.

(6) Basic skills of Kabaddi.

(7) Name the various Physical efficiencies.

(8) Name the various Yogasanas.

(9) Define Health Science.

(10) Importance of ‘First Aid’.

(11) Write Indian Games.

(12) Basic skills of Handball.
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2. Write the following questions in 50 words each (any two) : [10]

(1) Write a note on Exercise-Health-Wellness.

(2) Explain the impact of exercise on Respiratory System.

(3) Explain the rules of Kho-Kho.

3. Answer the following questions in 150 words each (any two) : [20]

(1) Explain the impact of exercise on digestive system.

(2) Draw a sketch of Volleyball ground.

(3) What is warming up Vs. warming down ? Explain.

4. Answer the following questions in 300 words each (any two) : [30]

(1) Describe ‘Kabaddi’ ground.

(2) Describe ‘Handball’ ground.

(3) Describe ‘Kho-kho’ ground.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) vkoð;d rsFks lqcd vkœrh dk<k-
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1. [kk«h« izðukaph mŸkjs izR;sdh 20 ðkCnkar f«gk (dks.krsgh ngk) % [20]

(1) vWFk«sfVDl e/kh« ckch f«gk-

(2) ðkkfjfjd fðk{k.kkph O;k[;k-

(3) Hkkjrkrh« oS;fDrd ind fotsrs vkWf«fEid iVwaph ukos-

(4) ðkkfjfjd fðk{k.kkph /;s;s-

(5) ðkkfjfjd fðk{k.kkph mfÌ"Vs-

(6) dcÏhrh« ew«Hkwr rRos-

(7) fofo/k ðkkfjfjd {kerk-

(8) fofo/k ;ksxklukaph ukos-

(9) vkjksX;ðkkL=kaph O;k[;k-

(10) izFkeksipkjkps egRo-

(11) Hkkjrh; [ksˇkaph ukos-

(12) gWUMckW« [ksˇkph ew«Hkwr dkSðkY;s-

2. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) fVi f«gk % O;k;keµvkjksX;µLokLF;-

(2) O;k;kekpk ðolu laLFksoj gks.kkjk ifj.kke lkaxk-

(3) [kks&[kksps fu;e lkaxk-

3. [kk«h« izðukaph mŸkjs izR;sdh 150 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) O;k;kekpk ipulaLFksoj gks.kkjk ifj.kke Li"V djk-
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(2) OgkW«hckW« eSnkukph vk[k.kh djk-

(3) okWfe±x vi o okWfe±x Mk≈u Eg.kts dk; rs Li"V djk-

4. [kk«h« izðukaph mŸkjs izR;sdh 300 ðkCnkar f«gk (dks.krsgh nksu) % [30]

(1) dcÏh eSnkups o.kZu djk-

(2) gWUMckW« eSnkups o.kZu djk-

(3) [kks&[kks eSnkups o.kZu djk-
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S.Y. B.A. EXAMINATION, 2011

MATHEMATICS

(MG-2 : Differential Equations and Linear Algebra)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt the following questions : [16]

(i) If 2(D) D 1f x= −  and (D) D 3g = + , then compute f(D) . g(D).

(ii) Find the orthogonal trajectory of the curve y2 = mx.

(iii) Solve the following differential equation :

( 1) . cos . sin 0y ye x dx e x dy+ + =

.

(iv) Solve :

3 2(D 3D 4) 0y− + = .

(v) Determine whether the set :

{( , , )|either 0 or 0}w x y z x y= = =

is a subspace of R3.
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(vi) If 

T : V V

 is a linear operator defined by 

T ( ) 0

, then

find Ker(T) and R(T).

(vii) Use the inner product :

1

0

, ( ) . ( )p q p x q x dx< > = ∫

and compute ,p q< >  for the vectors 

p x x

 and 

q x e

in the function space of continuous functions defined on

[0, 1].

(viii) Is the set {(1, 2, –3), (1, –3, 2), (2, –1, 5)} linearly dependant ?

Justify.

2. (A) Attempt any one of the following : [6]

(i) Explain the method of solving the linear differential

equation :

( ) . Q( )
dy

p x y x
dx

+ = .

(ii) If 1 ( )y x  and 

y x

 are solutions of the equation :

(D D ........... D ) 0

then prove that for any constants c1 and c2,

1 1 2 2. ( ) . ( )c y x c y x+  is also a solution of that equation,

where 

D

.
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(B) Attempt any two of the following : [10]

(i) Solve :

     
4 6 3

6 9 1

dy x y

dx x y

− +
=

− − .

(ii) Solve the differential equation :

2 3 3( ) 0x y dx x y dy− + = .

(iii) The rate of reduction of a person’s assets is proportional

to square root of the existing assets. If the assets dwindle

down from 25 lakhs to 6.25 lakhs in 2 years, find in

how many years the person will be bankrupt ?

3. (A) Attempt any one of the following : [8]

(i) Solve the differential equation :

2(D D 2) 6 6 xy x e−− − = +

by the method of undetermined coefficients.

(ii) Let

1
1 1(D) D D ........... Dn n

n nf a a a−
−= + + + +

and let V be a function of x. Then prove that :

1 1
[ . V] V

(D) (D )
ax axe e

f f a

 
=  + 

Hence solve :

2 3(D 4D 3) 2 xy x e− + = .
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(B) Attempt any one of the following : [8]

(i) Let

1 2S { , ,..........., }rv v v=

be a set of vectors in a vector space V. Then show

that :

(a) L(S) is a subspace of V.

(b) L(S) is the smallest subspace of V containing S,

where L(S) is linear span of S.

(ii) (a) Let the function 

T : R R

 be defined by :

T ( ) (1 1 1)x y z =

Is T linear transformation ?

(b) If 
T : R R

 be a linear map with

1 2 2 3 3T ( ) , T ( ) , T ( ) 0e e e e e= = = .

Then show that T 0,≠  and 

T 0

.

4. (A) Attempt any one of the following : [6]

(i) State and prove Cauchy-Schwarz inequality.

(ii) Find eigenvalues, eigen space, basis and dimension of eigen

space of the matrix :

2 1 1

A 0 3 1

2 1 3

− 
 = − 
  

.
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(B) Attempt any two of the following : [10]

(i) Let S be a set with two or more vectors in a vector

space V. Then prove that S is linearly dependant if and

only if at least one of the vectors in S is expressible

as a linear combination of the rest of vectors in S.

(ii) Find the standard matrix for linear transformation

4 3
T : R R→  defined by :

   T ( ) (2 4 , 5 5 3 , 2 3 )x y z w x y w x y z y z w= + − − + − + − .

(iii) Let R3 have the Euclidean inner product. Use Gram-

Schmidt process to transform the basis :

  

{(1 1 1) ( 1 1 0) (1 2 1)}−

into an orthonormal basis.

5. (A) Attempt any one of the following : [6]

(i) Let 

T : V W→

 be a linear transformation, then show

that :

(a) The kernel of T is a subspace of V.

(b) The range of T is a subspace of V.

(ii) Determine the basis and dimension for the solution space

of the system :

    

2 7 0

2 3 2 0

3 0

x y z

x y z

x y z

− + =

+ − =

− + =

.
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(B) Attempt any two of the following : [10]

(i) If K is a positive in teg, l is an eigenvalue of a matrix

A, X is a corresponding eigen vector, then show that

l
K is an eigenvalue of AK and X is the corresponding

eigen vector.

(ii) Show that the set :

1 1 1 1 1 1 1 2
, , , , 0 , , ,

5 5 5 2 2 3 3 3

−      
−      

      

is orthogonal with respect to the Euclidean inner

product. Convert it to an orthonormal set by normalising

the vectors.

(iii) Find the matrix P that orthogonally diagonalizes the

matrix :

1 3 0

A 3 2 1

0 1 1

 
 = − 
 − 

.
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S.Y. B.A. EXAMINATION, 2011

MATHEMATICS

MS-1 : (a) Number Theory and Complex Variables

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt the following questions : [16]

(i) If a|b and a|c then show that a|b + c.

(ii) Show that square of an odd integer is of the type 8k + 1.

(iii) Determine the number of zeros at the end of 100 !

(iv) Determine the number of solutions to the congruence

4x º  3 (mod 20).

(v) Evaluate 

0
lim
z

z

z®

 along imaginary axis.

(vi) Evaluate 
2

C

1

1

z z
dz

z

- +

-ò , where C is the circle 
1

2
z = .

(vii) Find the singular points of 
2

6
( )

( 3) ( 2 2)

z
f z

z z z

+
=

- + +
.

(viii) Prove that cosh2 z – sinh2 z = 1.

P.T.O.
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2. (A) Attempt any one of the following : [6]

(i) State and prove Wilson’s theorem.

(ii) State and prove Mobius inversion formula.

(B) Attempt any two of the following : [10]

(i) Find the remainder if 7202 + 11800 is divided by 101.

(ii) Find the greatest common divisor of 2378 and 1769

and express it in the form (2378)m + (1769)n, where

m, n ∈ Z.

(iii) Prove that 

( )

2

|

d n

d n

d n=Õ .

3. (A) Attempt any one of the following : [8]

(i) Find all integers x such that :

x º  5 (mod 7)

x 

º

 7 (mod 11)

   and x º  3 (mod 13)

(ii) (a) Show that there are arbitrarily large gaps in the

sequence of primes.

(b) Prove that there are no integers x, y, such that

(x, y) = 3 and x + y = 100.
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(B) Attempt any one of the following : [8]

(i) (a) Find an analytic function f(z) = u + iv if

u = x3 – 3xy2 and f(i) = 2.

(b) Prove that :

2

2 2
0

6( 1) ( 4)

x dx

x x

¥
p

=
+ +

ò

.

(ii) If w = f(z) is an analytical function of z, then prove that

f(z) is independent of z .

4. (A) Attempt any one of the following : [6]

(i) Suppose f(z) = u(x, y) + i v(x, y) and 

( )f z¢

 exists at

a point 0 0 0z x iy= + . Prove that the first order partial

derivatives of u and v exist and satisfy Cauchy-Riemann

equations ,x y y xu v u v= = -  at (x0, y0).

(ii) If f(z) is analytic in a region R between two simple closed

curves C1 and C2, then show that 
1 2C C

( ) ( )f z dz f z dz=ò ò .

(B) Attempt any two of the following : [10]

(i) If 
0

lim ( )
z z

f z
®

 exists, then show that it is unique.

(ii) Find all values of log (1 3)i+ .

(iii) If f(z) is continuous at z = i where

4 3 23 2 3 1
( )

z z z z
f z

z i

- + - +
=

-
,

then find f(i).
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5. (A) Attempt any one of the following : [6]

(i) Let f(z) be analytic within and on a closed contour C and

z0 is any point inside C. Then prove that :

0
0C

1 ( )
( )

2

f z
f z dz

i z z
=

p -ò .

(ii) By using residue theorem evaluate :

2

0
2 cos

d
p

q

+ qò .

(B) Attempt any two of the following : [10]

(i) If 2 3z< < , then expand 
4 4

( )
( 3) ( 2)

z
f z

z z z

+
=

- +
 in

Laurent’s series.

(ii) Prove that 2
0

cos
, 0.

21

aax
dx e a

x

¥
-p

= ³
+

ò

(iii) Evaluate by using residue theorem 
C

1 2

( 1) ( 2)

z
dz

z z z

-

- -ò

where C is the circle 
3

2
z = .
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[4001]-269

MS-1 : (b) Problem Course Based on Paper MG2 and AMG2

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [16]

(i) Show that whether the 

2

2 4( , ) (0,0)
lim

x y

xy

x y® +
 exists. If it exists,

find it.

(ii) Find the stationary points of the function

50 20
( , ) .f x y xy

x y
= + +

(iii) Solve : 

2

2

1

1

dy y

dx x

+
=

+
.

(iv) State whether the differential equation

2 2(1 ) (1 ) 0xy dx x y dy+ + + =  is exact or not.

(v) Show that the set , 0)}{(1,1,1) (1,1, 0), (1, 0 is linearly

independent.

(vi) Determine whether the set 

{ }3 2 2W ( , , ) / 0x y z x y= Î - =R

is a subspace of R3. Justify.

(vii) If 2( 1) cosa t j t k= - +

sin tb t i e j= +

find 
0

lim ( � )
t

a b
®

.

(viii) A space curve is given by 
2 32

, ,
3

x t y t z t= = = .

Find the unit tangent vector T  at t = 1.
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2. (A) Attempt any one of the following : [6]

(i) Solve the differential equation :

3 3dy
x y xy

dx
= - .

(ii) Solve the differential equation :

2
3

2
6 1 xd y dy
y e

dxdx
+ - = +

by using method of reduction of order.

(B) Attempt any two of the following : [10]

(i) Solve the equation (D2 + 4) y = cos 2x + cos 4x.

(ii) Solve the equation (D4 – 4D3 + 8D2 – 8D + 4) y = 0.

(iii) By using differentials, find the approximate value of

2 2(5.98) (8.01)+ .

3. (A) Attempt any one of the following : [8]

(i) Change the order of integration and hence evaluate :

211

2 2
0 0 (1 ) 1

x

y

dx dy

e x y

-

+ - -
ò ò .

(ii) Expand x3 + xy2 in powers of (x – 2) and (y – 1), by

using Taylor’s theorem.
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(B) Attempt any one of the following : [8]

(i) If T : R3 → R3 is a linear transformation given by

T(x, y, z) = (x + y – z, x – 2y + z, –2x – 2y + 2z)

find the basis and dimension of kernel of T and hence

state rank of T by using rank-nullity theorem.

(ii) Find the equations of tangent plane and normal line to

the surface xy + yz + zx = 7 at (1, 1, 3).

4. (A) Attempt any one of the following : [6]

(i) Let V be a vector space. If W1 and W2 are subspaces

of V, then prove that W1 ∩ W2 is a subspace of V.

(ii) Find the matrix P, that diagonalizes 
1 0

A
6 1

é ù
= ê ú-ë û

.

(B) Attempt any two of the following : [10]

(i) Determine whether 

1

B 9

3

é ù
ê ú= -ê ú
ê ú-ë û

 is in the column space of

A and if so express B as a linear combination of column

vectors of A, where 

1 3 2

A 1 2 3

2 1 2

-é ù
ê ú= -ê ú
ê ú-ë û

.

(ii) Let R2 be a Euclidean linear product space. Use

Gram-Schmidt process to transform the basis {u1 = (1, –3),

u2 = (2, 2)} into an orthonormal basis.

(iii) Verify Cayley-Hamilton theorem, for the matrix.

2 3
A

1 1

-é ù
= ê ú-ë û

and hence find A–1.
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5. (A) Attempt any one of the following : [6]

(i) Use Green’s theorem in plane to evaluate :

2 2( )

c

xy y dx x dy+ +ò

where C is the closed region bounded by the line

y = x and curve y = x2.

(ii) If  2F (2 2 ) 2 4x z i xy j xk= - - - , evaluate 
V

� F dvÑòòò

where V is the volume bounded by the planes x = 0,

y = 0, z = 0 and 2x + 2y + z = 4.

(B) Attempt any two of the following : [10]

(i) Find the directional derivative of 2 3xy yzf = +  at the

point (2, –1, 1) in the direction of i + 2j + 2k.

(ii) Show that 2 2F ( ) (2 )x y x i xy y j= - - - +  is conserva-

tive force field. Find the scalar field φ(x, y, z) such that

F = Ñ f .

(iii) Use Stokes’ theorem to evaluate 
C

( 2 )xe dx ydy dz+ -ò

where C is the curve x2 + y2 = 4; z = 2.
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S.Y. B.A. EXAMINATION, 2011

MATHEMATICS

MS-2 : Paper (a) and MS-2 Paper (b)

MS-2 : Paper (a) Combinatorics and Computational Geometry

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Choose relevent question paper and attempt the same.

(ii) All questions are compulsory.

(iii) Figures to the right indicate full marks.

1. Attempt each of the following questions : [16]

(i) How many 4-digit numbers (with repetition allowed) can be

formed using digits 0, 2, 4, 6, 8 ?

(ii) Find the characteristic equation of the recurrence relation :

1 23 2n n na a a- -= - .

(iii) Find the number of non-negative integer solutions of the

equation :

x + y + z + w = 17

(iv) If a school has 100 students with 50 students taking Hindi,

40 students taking Sanskrit, and 20 students taking both the

languages, how many students take neither Hindi nor Sanskrit

language ?

P.T.O.
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(v) Give two different parametric representations of the arc of

the ellipse 
2 2

1
25 4

x y
+ =  lying in the first quadrant.

(vi) The triangle with position vectors [1, 0], [0, 1] and [–1, 0]

is transformed by [T] = 
3 5

7 2

é ù
ê ú-ë û

 to create a second triangle

A* B* C*. Find the area of the triangle A* B* C*.

(vii) Define ‘Dimetric projection’ and ‘Isometric projection’.

(viii) Write the transformation matrix of the transformation given

by translation in the x, y, z directions by –1, –2, –3 followed

by a +30º rotation about the x-axis.

2. (a) Attempt any one of the following : [6]

(i) Show that the number of ways to select r objects with

repetition from n different types of objects is 
1n r

r

+ -æ ö
ç ÷è ø

.

(ii) Using combinational argument, prove that :

n k n n m

k m m k m

-æ ö æ ö æ ö æ ö
=ç ÷ ç ÷ ç ÷ ç ÷-è ø è ø è ø è ø

.

(b) Attempt any two of the following : [10]

(i) How many four digit numbers are there formed from the

digits 1, 2, 3, 4, 5 (with possible repetition) that are divisible

by four ?
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(ii) Given a collection of 2n objects, n identical and the other

n all distinct, how many different subcollections of n objects

are there ?

(iii) Show that any subset of n + 1 distinct integers between

1 and 2n (n ≥ 2) always contains a pair of integers with

no common divisor.

3. (a) Attempt any one of the following : [8]

(i) How many n-digit ternary (0, 1, 2) sequences are there

with at least one 0, at least one 1 and at least one 2 ?

(ii) Find a formula for an satisfying the relation :

2 42n n na a a- -= - -  with

a0 = 0, a1 = 1, a2 = 2, and a3 = 3.

(b) Attempt any one of the following : [8]

(i) Derive iterative formula to generate n uniformly spaced

points on the circumference of the circle.

2 2 2( ) ( ) Rx a y b- + - = .

(ii) Find the parametric equation of a Bézier curve determined

by control points B0 [1, 1], B1 [2, 3], B2[4, 3] and

B3[3, 1] and find the position vectors of the points on

the curve corresponding to the parameter values t = 0.15,

t = 0.5 and t = 0.85.
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4. (A) Attempt any one of the following : [6]

(i) Suppose a line segment AB having slope m is transformed

to line segment A*B* under 2 × 2 transformation matrix :

(T)
a b

c d

é ù
= ê ú
ë û

, then prove that slope of segment A*B* is

m* = 
b dm

a cm

+

+
. Hence, or otherwise prove that parallel

lines get transformed to parallel lines under the trans-

formation [T].

(ii) Write an algorithm for rotation about an arbitrary point

in a plane.

(B) Attempt any two of the following : [10]

(i) If the lines L1 : 3x + 2y = 5 and L2 : 7x – y = 6

are transformed to L1
* and L2

* under the transformation

1 2

0 1

-é ù
ê ú
ë û

, find the point of intersection of L1
* and L2

*.

(ii) Find the concatenated transformation matrix for reflection

through the line 
5

2
y =  and apply it on the position vector

[2, 3].

(iii) Find the concatenated transformation matrix for rotation

through 45º about x-axis, and rotation through 30º about

y-axis and apply it on the position vector [3, 2, 4, 1].
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5. (A) Attempt any one of the following : [6]

(i) Write an algorithm for reflection through an arbitrary plane

in space.

(ii) Write an algorithm to generate uniformly spaced n points

on the parabola y2 = 4ax.

(B) Attempt any two of the following : [10]

(i) Generate uniformly spaced 3 points on the hyperbolic segment

in the first segment for 4 ≤ x ≤ 8; where the equation

of the hyperbola is x2 – 4y2 = 4.

(ii) Obtain concatenated matrix representation of the following

transformations in order in a three space :

(p) Reflection in XZ plane.

(q) Rotation about z-axis by 45º.

(r) Translation in x, y, z direction by 2, 3, 5 respectively

(iii) State general parametric Bézier curve. Show that for any

given value of the parameter t, the summation of basis

functions is precisely 1.
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[4001]-277

MS-2 (b) : Graphics and Lattices

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following questions : [16]

(i) Is there a 3-regular graph with nine vertices ? Justify.

(ii) Define Euler diagraph and give an example.

(iii) Give an example of graph having exactly two cut vertices.

(iv) Find the center of the following graph :

(v) Draw the circuit represented by the Boolean function

[ ( ( ))]a b c d eÙ Ú Ù Ú .

(vi) Give an example of lattice which is modular but not

distributive.

(vii) Define complete lattice and give an example of lattice which

is not complete.

(viii) Define poset.

v3 v4

v7v6v5

v2v1
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2. (a) Attempt any one of the following : [6]

(i) Define isomorphic graphs and draw all possible non-

isomorphic trees on 5 vertices.

(ii) Prove that a tree with n vertices has n – 1 edges.

(b) Attempt any two of the following : [10]

(i) Find all fundamental circuits in a graph G with respect

to the spanning tree T given below :

G

T

v1

e1 e2

v2

e9

e6

e8

e7

e3

v3

e4

v4

e5

v5

v1

e1

v5 v2e6

e5 e3

v4 v3
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(ii) Let n be the total number of vertices and P be the number

of pendant vertices in a binary tree T, then show that

n is odd and 
1

P
2

n +
= .

(iii) Prove that an arborescence is a tree in which every vertex

other than a root has an indegree of exactly once.

3. (a) Attempt any one of the following : [8]

(i) Define Hamiltonian graph. Find Hamiltonian circuit in the

graph G whose incidence matrix is given below :

I (G) = 

1 2 3 4 5 6

1

2

3

4

1 0 0 1 1 0

1 1 0 0 0 1

0 1 1 0 1 0

0 0 1 1 0 1

e e e e e e

v

v

v

v

é ù
ê ú
ê ú
ê ú
ê ú
ë û

where vi’s denote vertices and ei’s denote edges. Also write

Adjacency matrix of the graph G.

(ii) The set of circuit vectors corresponding to the set of

fundamental circuits, with respect to any spanning tree

forms a basis for the circuit subspace Wr.

(b) Attempt any one of the following : [8]

(i) Show that set of all principal ideals of lattice L forms

a lattice under Í  and is a sublattice of ideal lattice I(L)

of L.



[4001]-270 9 P.T.O.

(ii) Show that the union of two ideals is an ideal iff one

of them is contained in the other. Further show that

intersection of two ideals is an ideal.

4. (a) Attmept any one of the following : [6]

(i) Show that homomorphic image of relatively complemented

lattice is relatively complemented.

(ii) If I is prime ideal of lattice L, then show that L–I is

a dual prime ideal.

(b) Attempt any two of the following : [10]

(i) Write the conjunctive normal form of the function( )x y zÙ Ú

.

(ii) Prove that dual of lattice is a lattice.

(iii) If element x has complement in a distributive lattice L,

then prove that it has relative complement in any interval

containing it.

5. (a) Attempt any one of the following : [6]

(i) A lattice L is distributive iff the equations : a ∧ c

= b ∧ c and a ∨ c = b ∨ c, imply a = b  a, b, c ∈ L
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(ii) Simplify the circuit :

(b) Attempt any two of the following : [10]

(i) Show that homomorphic image of modular lattice is

modular.

(ii) Draw the diagram of the lattice of factors of 100 under

divisibility. Also find two non-trivial ideals of the same

lattice.

(iii) In a Boolean algebra, show that :

( , ) [ (1, )] [ (0, )]f x y x f y x f y= Ù Ú Ù¢

ca'

a' b

a b' c

b c
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S.Y. B.A. EXAMINATION, 2011

LOGIC AND METHODOLOGY OF SCIENCE

Formal and Relational Logic

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain briefly the following concepts in 50 words each (any

two) : [10]

(i) Free variable

(ii) Consistency of P.M. System

(iii) Multiply General Propositions

(iv) Definite description.

2. Answer any four of the following : [20]

(i) Explain revised rule of U.I.

(ii) Explain two methods of specifying sets with example.

(iii) Explain, how to demonstrate the invalidity of an argument

in quantification logic.

P.T.O.
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(iv) Explain the traditional square of Opposition and its evaluation

from modern point of view.

(v) Symbolise the following propositions with the help of the symbols

given in brackets (any two)

(a) All astronauts are brave. (Ax : x is an astronaut;

Bx : x is brave)

(b) Doctors and lawyers are college graduates. (Dx : x is a

doctor, Lx : x is a lawyer, (Cx : x is a college graduate)

(c) Some cats are animals (Cx : x is a cat; Ax : x is an

animal)

(d) No students are lazy. (Sx : x is a student, Lx : L is

a lazy.)

(vi) If

U = {2, 5, 3, 4, 1, 8}

A = {4, 5, 3, 1}

B = {2, 4, 3, 8}

C = {5, 8}

then list the elements of the following sets :

(a) A ∩ B

(b) ~ A ∩ ~ C

(c) ~ A

(d) (B ∪ C) ∪ A

(e) ~ C ∪ ~ B
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3. Answer any three : [30]

(I) Prove the validity of the following (any two) :

(a) (x) [Ax ⊃ Bx]

~ Bt  / ∴ ~ At

(b) (x) [Ix ⊃ Jx]

(∃x) [Ix · ~ Jx]  /∴ (∃x) (Jx · Ix)

(c) (x) (Qx ⊃ Rx)

(∃x) [Qx ∨ Rx)  / ∴ (∃x) Rx

(d) (x) [Cx ⊃ Dx]

(x) [Ex ⊃ ~ Dx)  / ∴ (x) [Ex ⊃ ~ Cx]

(II) Prove any two of the following theorems with the help of

the Axioms given below :

Axioms :

(1)  ( )p p pÚ É

(2)  ( )q p qÉ Ú

(3)  ( ) ( )p q q pÚ É Ú

(4)  [ ( )] [ ( )]p q r q p rÚ Ú É Ú Ú

(5)  ( ) [( )] [ )]q r p q p rÉ É Ú É Ú

Theorems :

(1) ( ~ ) ~p p pÉ É

(2) ( ) [( ) ( )q r p q p rÉ É É É É ]

(3) p pÉ

(4)

( ~ ) ( ~ )p q q pÉ É É
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(III) Explain the need for relational logic.

(IV) Prove the validity of the following arguments (any two) :

(a) (1) (x) [ V x ( y ) O yx ]É $

(2) (x) [Oxa ⊃ Rxa]

(3) (x) ~ Rxa  / ∴ ~ Va

(b) Wgf

g = m

Wm / ∴ (∃x) (Wx · Wxf)

(c) (∃x) Lx ⊃ (Y) My  / ∴ (x) [Lx ⊃ (y) My]

(d) (x) (Ax ⊃ Bx)  / ∴ (x) (Bx ⊃ Cx) ⊃ (Ax ⊃ Cx)

(V) What is a set ? Explain with examples various sets and their

operations.

4. Answer any one of the following : [20]

(I) What is a dyadic relation ? Explain the attributes of a dyadic

relation with examples.

(II) (a) Prove the invalidity of the following arguments (any

three) : [15]

(i) (∃x) (Ax · Bx)

Aj  / ∴ Bj

(ii) (x) (Ax ⊃ Bx)

(x) (Cx ⊃ Bx)  / ∴ (x) (Ax ⊃ Cx)
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(iii) (x) (Hx ⊃ ∼ Ix)

(∃x) (Jx · ~Ix)  / ∴ (x) (Hx ⊃ Jx)

(iv) (x) (Wx ⊃ Yx)

(∃x) (Vx · Yx)  / ∴ (x) (Wx ⊃ Vx)

(v) (∃x) (Ax · Bx)

(∃x) (Ax · Cx)  / ∴ (∃x) (Bx ·  Cx)

(b) Write a note on Enthymeme. [5]

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) ewˇ baxzth izðuif=dkgh igkoh-

1. [kk«h« ladYiuk izR;sdh 50 ðkCnkar FkksMD;kr Li"V djk (dks.kR;kgh nksu) % [10]

(i) eq‰ pj

(ii) ih- ,e- iz.kk«hph lqlaxrrk

(iii) cgqlkekU;okph fo/kkus

(iv) fufçr o.kZu-

2. [kk«h«iSdh dks.kR;kgh pkjkaph mŸkjs |k % [20]

(i) oSfðod (lkoZf=d) mnkgj.khdj.kkP;k fu;ekph lq/kkfjr ekaM.kh Li"V djk-

(ii) lap nðkZfo.;kP;k nksu iºrh lksnkgj.k Li"V djk-

(iii) la[;kidh; rdZðkkL=krh« ;qfDroknkaph v;qq‰rk dðkh flº dsyh tkrs rs Li"V

djk-

(iv) ikjaifjd fo/kku pkSjl Li"V d:u R;kps vk/kqfud rdZðkkL=kP;k n`"Vhus ewY;ekiu

djk-



[4001]-272 6

(v) dalkr fn«sY;k fp�kaP;k lgk∏;kus iq<h« fo/kkukaps fp�kadu djk (dks.krhgh

nksu) %

(1) loZ varjǩ ohj ðkwj vlrkr- (Ax : x gk varjkˇohj vkgs- Bx : x

gk ðkwj vkgs-)

(2) MkWDVlZ vkf.k odh« egkfo|k«;hu inoh/kj vkgsr- (Dx : x gk MkWDVj

vkgs] Lx : x gk odh« vkgs] Cx : x gk egkfo|k«;hu inohËkj

vkgs-)

(3) dkgh ekatjs izk.kh vkgsr- (Cx : x gs ekatj vkgs] Ax : x gk izk.kh

vkgs-)

(4) ,d gh fo|kFkhZ vkˇðkh ukgh (Sx : x gk fo|kFkhZ vkgs] Lx : x

gk vkˇðkh vkgs-)

(vi) tj %

U = {2, 5, 3, 4, 1, 8}

A = {4, 5, 3, 1}

B = {2, 4, 3, 8}

C = {5, 8}

rj iq<h« lapkrh« lnL;kaph ;knh djk %

(v) A ∩ B

(c) ~ A ∩ ~ C

(d) ~ A

(M) (B ∪ C) ∪ A

(b) ~ C ∪ ~ B
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3. dks.kR;kgh rhukaph mŸkjs |k % [30]

(I) iq<h« ;qfDroknkaph ;q‰rk flº djk (dks.krsgh nksu) %

(v) (x) [Ax ⊃ Bx]

~ Bt  / ∴ ~ At

(c) (x) [Ix ⊃ Jx]

(∃x) [Ix · ~ Jx]  /∴ (∃x) (Jx · Ix)

(d) (x) (Qx ⊃ Rx)

(∃x) [Qx ∨ Rx)  / ∴ (∃x) Rx

(M) (x) [Cx ⊃ Dx]

(x) [Ex ⊃ ~ Dx)  / ∴ (x) [Ex ⊃ ~ Cx]

(II) ih- ,e- chtkuqeku iz.kk«hph dks.krhgh nksu izes;s [kk«h fn«sY;k ew«k/kkjkaP;k

lgk∏;kus flº djk- (dks.krhgh nksu) %

ew«k/kkj %

(1)  ( )p p pÚ É

(2)  ( )q p qÉ Ú

(3)  ( ) ( )p q q pÚ É Ú

(4)  [ ( )] [ ( )]p q r q p rÚ Ú É Ú Ú

(5)  ( ) [( ) ( )]q r p q p rÉ É Ú É Ú

izes;s %

(1) ( ~ ) ~p p pÉ É

(2) ( ) [( ) ( )q r p q p rÉ É É É É ]

(3) p pÉ

(4)

( ~ ) ( ~ )p q q pÉ É É



[4001]-272 8

(III) laaca/k rdZðkkL=kph vkoð;drk Li"V djk-

(IV) iq<h« ;qf‰oknkaph ;q‰rk flº djk (dks.krhgh nksu)-

(a) (1) (x) [Vx ( y) Oyx]É $

(2) (x) [Oxa ⊃ Rxa]

(3) (x) ~ Rxa  / ∴ ~ Va

(b) Wgf

g = m

Wm  / ∴ (∃x) (Wx · Wxf)

(c) (∃x) Lx ⊃ (Y) My  / ∴ (X) [Lx ⊃ (Y) My]

(d) (x) (Ax ⊃ Bx)  / ∴ (x) (Bx ⊃ Cx) ⊃ (Ax ⊃ Cx)

(V) lap Eg.kts dk; \ fofo/k lap o R;kaojh« izfÿ;k lksnkgj.k Li"V djk-

4. dks.kR;kgh ,dk izðukps mŸkj |k % [20]

(I) f}Ro laca/k Eg.kts dk; \ f}Ro laca/kkps xq.k/keZ lksnkgj.k Li"V djk-

(II) (v) iq<h« ;qf‰oknkaph v;q‰rk flº djk (dks.krsgh rhu) % [15]

(i) (∃x) (Ax · Bx)

Aj  / ∴ Bj

(ii) (x) (Ax ⊃ Bx)

(x) (Cx ⊃ Bx)  / ∴ (x) (Ax ⊃ Cx)

(iii) (x) (Hx ⊃ ∼ Ix)

(∃x) (Jx · ~Ix)  / ∴ (x) (Hx ⊃ Jx)

(iv) (x) (Wx ⊃ Yx)

(∃x) (Vx · Yx)  / ∴ (x) (Wx ⊃ Vx)

(v) (∃x) (Ax · Bx)

(∃x) (Ax · Cx)  / ∴ (∃x) (Bx ·  Cx)

(c) ^«qIrko;fodk* ;koj Vhi f«gk- [5]
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S.Y. B.A. EXAMINATION, 2011

SOCIOLOGY

Group A : Population and Society (G-2)

Or

     Group B : Introduction to Social Welfare and

 Social Legislation in India (G-2)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt Group ‘A’ or Group ‘B’.

(ii) All questions are compulsory.

(iii) Figures to the right indicate full marks.

lwpuk :— (i) xV ^v* fdaok xV ^c* lksMok-

(ii) loZ izðu lksMfo.ks vkoð;d vkgsr-

(iii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

Group ‘A’

Population and Society (G-2)

1. Answer any two of the following in maximum 50 words each : [10]

(1) Importance of population studies.

(2) Meaning of fecundity and sterility.
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(3) Characteristics of population in India.

(4) Pre-independence population policy.

2. Write short notes on any four of the following in maximum

100 words each : [20]

(1) Factors of maternal mortality.

(2) Sample survey method.

(3) Population policy influencing fertility.

(4) Means of population education.

(5) Female foeticide and female infanticide.

(6) Gender Development Report.

3. Write any three of the following in maximum 250 words

each : [30]

(1) Discuss the scope of population studies.

(2) Explain the characteristics and uses of census.

(3) Describe the Demographic Tradition theory of population growth.

(4) Discuss the failures of Family Planning Programme.

(5) Elaborate the concept and objectives of population education.
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4. Answer any one of the following in maximum 500 words : [20]

(1) Explain the relation between population growth and economic

development as two way process.

(2) Define migration. Discuss the push and pull factors of migration.

(ejkBh :ikarj)

xV ^v*

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh dek« 50 ðkCnkr mŸkjs f«gk % [10]

(1) «ksdla[;k vH;klkps egRo-

(2) oa/kRo o tuu {kerkpk vFkZ-

(3) Hkkjrkrh« «ksdla[;sph oSfðk"VÓs-

(4) Lokra´;iwoZ «ksdla[;k /kksj.k-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkr fVik f«gk % [20]

(1) ekrk e`R;qps ?kVd-

(2) uequk fuoM iºrh-

(3) tuukl izHkkfor dj.kkjs «ksdla[;k /kksj.k-

(4) «ksdla[;k fðk{k.kkpk vFkZ-

(5) L=h Hkzq.kgR;k o L=h vHkZd gR;k-

(6) f«axHkko fodkl vgok«-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh dek« 250 ðkCnkr f«gk % [30]

(1) «ksdla[;k vH;klkP;k O;kIrhph ppkZ djk-

(2) tux.kusph oSfðk"VÓs o mi;ksx Li"V djk-

(3) «ksdla[;k ok<hP;k «ksdla[;k ladez.k flºkarkps o.kZu djk-

(4) dqVqac fu;kstu dk;ZÿekP;k vi;ðkkph ppkZ djk-

(5) «ksdla[;k fðk{k.kkph mfn"V o ladYiuk foðkn djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps dek« 500 ðkCnkr mŸkj f«gk % [20]

(1) «ksdla[;k ok< vkf.k vkfFkZd fodkl ;krh« laca/k nqgsjh izfÿ;k Eg.kwu Li"V

djk-

(2) LFk«karjkph O;k[;k f«gk- LFk«karjkpk vkd"kZ.k o vilj.k ?kVdkaph ppkZ djk-

OR

(fdaok)

Group ‘B’

Introduction to Social Welfare and

Social Legislation in India (G-2)

1. Answer any two of the following in 50 words each : [10]

(1) Meaning of Social Welfare.

(2) Meaning of Sustainable Development.
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(3) Objectives of Operation Blackboard.

(4) Define Child Labour.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Social Security.

(2) Empowerment Approach.

(3) Self-employment.

(4) Savitribai Phule Palak Yojana.

(5) Non-governmental Organization.

(6) Minimum Wages Act.

3. Answer any three of the following in 250 words each : [30]

(1) Explain the need for Women Welfare.

(2) Describe the Constitutional Provisions for Social Welfare in

India.

(3) Elaborate the National Programme of Nutritional support to

Primary Education.

(4) Write the functions of Central Social Welfare Board.

(5) Evaluate the Reservation Policy for women based on 73rd

Constitutional Amendment.



[4001]-273 6

4. Answer any one of the following in 500 words : [20]

(1) Explain the historical background of Social Welfare in India.

(2) Describe the policy of protective discrimination for scheduled

caste and scheduled tribes.

(ejkBh :ikarj)

xV ^c*

1. [kk«h«iSdh dks.kR;kgh nksukaph izR;sdh 50 ðkCnkr mŸkjs f«gk % [10]

(1) lkekftd dY;k.kkpk vFkZ-

(2) ðkkðor fodklkpk vFkZ-

(3) [kMw&Qˇk ;kstuspk mn~nsðk-

(4) ck«dkexkj O;k[;k djk-

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkr fVik f«gk % [20]

(1) lkekftd lqjf{krrk-

(2) lc«hdj.k n`"Vhdksu-

(3) Lo;ajkstxkj-

(4) lkoh=hckbZ Qq«s ik«d ;kstuk-

(5) Lo;alsoh laLFkk-

(6) fdeku osru dk;nk-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 250 ðkCnkai;±r mŸkjs f«gk % [30]

(1) efg«k dY;k.kkph vkoð;drk Li"V djk-

(2) Hkkjrkrh« lkekftd dY;k.kkckcr ?kVukRed rjrqnh foðkn djk-

(3) izkFkfed fðk{k.kklkBh vl«sY;k jk"V™h; ldl vkgkj ;kstusps o.kZu djk-

(4) dsaÊh; lektdY;k.k eaMˇkph dk;sZ f«gk-

(5) 73O;k ?kVuknq#Lrhoj vk/kkfjr vl«sY;k efg«k vkj{k.k /kksj.kkps eqY;ekiu

djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk % [20]

(1) Hkkjrkrh« lkekftd dY;k.kkph ,sfrgklhd ikðoZHkweh Li"V djk-

(2) vuqlwphr tkrh o vuqlwphr tekrhlkBhaps lkekftd foHksnhdj.kkps /kksj.k Li"V

djk-
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S.Y. B.A. EXAMINATION, 2011

SOCIOLOGY

(S-1 : Foundations of Sociological Thought)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(i) Social impacts of French Revolution.

(ii) Types of Social Action (Weber)

(iii) Modernization (M.N. Srinivas)

(iv) Types of Suicide. (Durkheim)

2. Write short notes on any four of the following in maximum 100

words each : [20]

(i) Enlightenment.

(ii) Characteristics of Social Thought.

(iii) Functional Theory.

(iv) Sanskritization (M.N. Srinivas)

(v) Alienation (Marx).

(vi) Theory of Untouchability (Dr. Ambedkar)

P.T.O.



[4001]-274 2

3. Answer any three of the following in maximum 250 words

each : [30]

(i) Explain Comte’s theory of social statics and social dynamics.

(ii) Discuss the impacts of Industrial Revolution.

(iii) Describe the theory of class conflict by Karl Marx.

(iv) Elaborate the characteristics of caste explained by Dr. Ghurye.

(v) Explain the concept of Dominant Caste stated by Dr. M.N.

Srinivas.

4. Answer any one of the following in maximum 500 words : [20]

(i) Discuss Law of three stages explained by August Comte.

(ii) Explain Pareto’s theory of ‘Circulation of Elites’.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh 50 ðkCnkai;±r mŸkjs f«gk % [10]

(i) ›sap jkT;ÿkarhps lkekftd ifj.kke-

(ii) lkekftd fÿ;sps izdkj (oscj)

(iii) vk/kqfudhdj.k (,e- ,u- Jhfuokl)

(iv) vkRegR;sps izdkj (nq[khZe)
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2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r fVik f«gk % [20]

(i) izcks/ku

(ii) lkekftd fopkjkaph oSfðk"VÓs

(iii) izdk;Zokn flºkUr

(iv) laLœrhdj.k (,e- ,u- Jhfuokl)

(v) ijkRerk (ekDlZ)

(vi) vLi`ð;rsfo"k;hpk flºkUr (MkW- vkacsMdj)

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 250 ðkCnkai;±r mŸkjs f«gk % [30]

(i) vkWxLV dkWEV;kapk lkekftd fLFkrhðkh«rk o lkekftd xrhðkh«rspk flºkUr

Li"V djk-

(ii) vkSnÓksfxd ÿkarhP;k ifj.kkekaph ppkZ djk-

(iii) ekDlZP;k oxZla?k"kZ flºkUrkps o.kZu djk-

(iv) MkW- ?kq;sZ ;kauh Li"V ds«sY;k tkrhP;k oSfðk"VÓkaps foospu djk-

(v) MkW- ,e- ,u- Jhfuokl ;kaph ^izHkkoh tkr* ladYiuk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkai;±r mŸkj f«gk % [20]

(i) vkWxLV dkWEV us Li"V ds«sY;k rhu voLFkkaP;k fu;ekph ppkZ djk-

(ii) ijsVkspk ^Js"Bhtu vfHklj.k* flºkUr Li"V djk-
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S.Y. B.A. EXAMINATION, 2011

SOCIOLOGY

(S-2 : Indian Society : Issues and Problems)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(i) Causes of Social problems.

(ii) Nature of Gender inequality.

(iii) Generation gap.

(iv) Economic problems of Aged.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(i) Consequences of Dowry.

(ii) SEZ

(iii) Causes of Juvenile Delinquency.

(iv) Consequences of Alcoholism.

(v) Problems of Working Women.

(vi) Nature of Sexual abuse.

P.T.O.
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3. Answer any three of the following in maximum 250 words

each : [30]

(i) Discuss the causes of inequality of caste in India.

(ii) Elucidate the causes of Domestic violence.

(iii) Explain the concept of Regional Imbalances.

(iv) Discuss the consequences of Crime.

(v) Explain the causes of Terrorism.

4. Answer any one of the following in maximum 500 words : [20]

(i) Explain the causes and consequences of Poverty.

(ii) Discuss the causes of consequences of Corruption.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vfuok;Z vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksukaph izR;sdh 50 ðkCnkai;±r mŸkjs f«gk % [10]

(i) lkekftd leL;kaph dkj.ks-

(ii) f«axHkko fo"kersps Lo:i-

(iii) fi<hrh« varj-

(iv) o`ºkaP;k vkfFkZd leL;k-
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2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r FkksMD;kr fVik f«gk % [20]

(i) gqaMÓkps ifj.kke

(ii) foðks"k vkfFkZd {ks=

(iii) ck«xqUgsxkjhph dkj.ks

(iv) e|ikukps ifj.kke

(v) uksdjnkj efg«kaP;k leL;k

(vi) «Safxd Nˇkps Lo:i

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkai;±r f«gk % [30]

(i) Hkkjrkrh« tkrh fo"kersP;k dkj.kkaph ppkZ djk-

(ii) dkSVwafcd fgalkpkjkph dkj.ks foðkn djk-

(iii) izknsfðkd vlerksykph ladYiuk Li"V djk-

(iv) xqUgÓkaP;k ifj.kkekph ppkZ djk-

(v) ngðkroknkph dkj.ks Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukoj 500 ðkCnkai;±r mŸkj f«gk % [20]

(i) nkfjÊÓkph dkj.ks o ifj.kke Li"V djk-

(ii) Hkz"Vkpkjkph dkj.ks o ifj.kkekaph ppkZ djk-
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S.Y. B.A. EXAMINATION, 2011

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper II

[Outline of Political, Social and Economic Institutions of

Ancient India (600 B.C. to 1200 A.D.)]
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Duties of a ‘King’.

(ii) Functions of ‘Sabha’.

(iii) ‘Gurukula’ Education System.

(iv) Importance of ‘Ashrama System’.

2. Write notes on the following in 100 words each (any four) : [20]

(i) Theory of Kingship of the Mauryas.

(ii) Position of women during Rigveda Period.

(iii) Ancient Indian Courts.

(iv) Functions of Ministry.

(v) Demerits of Caste System.

(vi) Internal trade in Ancient India.

P.T.O.
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3. Answer the following questions in 200-250 words each

(any three) : [30]

(i) Explain the Archaeological sources for the study of Ancient

Indian Political Institutions.

(ii) Write an essay on ‘Saptanga Theory of State’.

(iii) Describe the system of functioning of Samiti.

(iv) Discuss about the main industries in Ancient India.

(v) Explain the different stages in the development of Ancient

Indian Coinage.

4. Answer any one of the following question in  500 words : [20]

(i) Discuss the features of Ancient Indian Republics.

(ii) Take a review of different samskars (Sacraments) in Ancient

Period.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) jktkph drZO;s-

(ii) lHksps dk;s

(iii) xq#dq« fðk{k.k iºrh-

(iv) vkJe O;oLFksps egRo-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(i) ekS;Z jktin ladYiuk-

(ii) ΩXosndk«hu L=h;kaph fLFkrh-

(iii) izkphu Hkkjrh; U;k;k«;s-

(iv) eaf=eaMˇkps dk;Z-

(v) tkrhO;oLFksps nks"k-

(vi) izkphu Hkkjrh; varxZr O;kikj-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu)% [30]

(i) izkphu Hkkjrh; jktdh; laLFkkP;k vH;klkph iqjkrRoh; lk/kus Li"V djk-

(ii) jkT;kpk ^lIrkax flºkar* ;koj fuca/k f«gk-

(iii) lferhph dk;Ziºrh o.kZu djk-

(iv) izkphu Hkkjrkrh« izeq[k m|ksxkafo"k;h ppkZ djk-

(v) izkphu Hkkjrh; uk.;kaP;k fodklkrh« fofo/k VIis Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) izkphu Hkkjrh; x.kjkT;kaP;k oSfðk"VÓkaph ppkZ djk-

(ii) izkphu dkˇkrh« fofo/k laLdkjkapk vk<kok ?;k-
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S.Y. B.A. EXAMINATION, 2011

MATHEMATICAL PREREQUISITES

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of electronic calculator is allowed.

1. Attempt any ten of the following : [20]

(1) Express the function 72 as logsxy = .

(2) If y = log (6x2), find 
dy

dx
.

(3) Evaluate :

1

3
dx

xò

(4) Define Improper Integral.

(5) Evaluate :

10
2

1

3x dxò .

(6) Specify the order and degree of the given differential

equation :

22

2
12

d y dy
x

dxdx

æ ö
+ =ç ÷è ø

P.T.O.



[4001]-277 2

(7) Define Integrating factor.

(8) If 3 3 3Z x y y= + , find Zx.

(9) Using common logs to solve y = 625(0.8).

(10) Verify :

2
3

64

1

9x dx
-

=ò .

(11) Define Homogeneous function.

(12) Write the Bernoulli differential equation.

(13) Determine the value of the following integral :

5x dxò .

2. Attempt any two of the following : [10]

(1) Show that :

4 0 4
3 2 3 2 3 2

4 4 0

(8 9 ) (8 9 ) (8 9 )x x dx x x dx x x dx

- -

+ = + + +ò ò ò

(2) Explain Exact differential equation.

(3) Solve the difference equation yt – yt–1 = 17 check answer

at t = 0 and t = 1.

3. Attempt any two of the following : [20]

(1) For the data given below, determine :

(a) Market price Pt in any time period.

(b) The equilibrium price Pe.
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where,

Qdt = 180 – 0.75 Pt

Qst = – 30 + 0.3Pt–1, P0 = 220.

(2) Why the integral given below is improper and test for

convergence :

2 2
1

2

( 1)

x
dx

x

¥

+
ò .

(3) How long will it take money to double at 5 percent interest

when compounded quarterly ?

4. Attempt any two of the following : [30]

(1) Solve the differential equation :

(7y + 4t2)dy + 4ty dt = 0.

(2) Given y = 4xe3x, find the critical values and determine whether

the function is maximized or minimized.

(3) Explain in detail “THE HARROD MODEL”.
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S.Y. B.A. EXAMINATION, 2011

STATISTICS (Descriptive) (General-2)

(Research Methodology, Sampling Techniques and

Statistics Quality Control)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of statistical table and calculator is allowed.

(iv) Symbols and abbreviations have their usual meanings.

(v) Graph papers will be supplied on request.

1. Attempt any two of the following : [2×5=10]

(a) What is a research design ? Mention various steps involved

in its preparation.

(b) In SRSWOR, show that the probability of getting any sample

of size n from a finite population of size N is same equal

to N

1

Cn
.

(c) Distinguish between process control and lot control.

(d) State various criteria for detecting lack of control.

P.T.O.
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2. Attempt any four of the following : [4×5=20]

(a) Discuss the problem of determining the sample size under SRSWR

when the variable under study is discrete taking only two values

0 and 1.

(b) State the reason behind using an auxiliary variable in estimation.

State the ratio and regression estimators of the population

mean.

(c) Distinguish between Nominal scale and Ordinal scale. Give an

illustration of Likert scale.

(d) Why do we draw both R-chart and X -chart ? State the control

limits for X -chart and R-chart.

(e) The following data give number of defects per pen in a randomly

selected 10 pens from the manufacturing process :

2, 3, 4, 0, 5, 2, 3, 1, 2, 2.

Draw a suitable control chart for number of defects per unit

and comment on the state of statistical control of the process.

(f) In a single sampling plan with N = 1000, n = 150 and

C = 2. Compute AOQ if all lots submitted are 2% defective.

3. Attempt any three of the following : [3×10=30]

(a) Explain the various steps involved in the planning and execution

of a large scale sample survey.
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(b) State and prove the unbiased estimator of the population mean

in case of stratified random sampling. Further show that V( )stx

is minimum if ni ∝ NiSi(i = 1, 2, ......, k) for a fixed sample

size 

1

k

i

i

n n

=

= ∑

.

(c) From the following data, obtain all possible systematic samples

of size 4 :

20, 22, 25, 27, 28, 30, 35, 40, 41, 42,

45, 50, 52, 55, 60, 65, 70, 72, 73, 74.

(i) State the formulae for the unbiased estimators of the

population mean and its variance under systematic sampling.

(ii) Verify that sample mean sysx  is an unbiased estimator

of the population mean. Obtain the variance of this unbiased

estimator.

(d) Control charts for 

X

 and R are maintained on the tensile

strength of a metal fastner. After analysing 30 subgroups each

of size 5, the following informations are obtained :

30 30

1 1

R 1350, X 12,870i i

i i= =

= =∑ ∑

State necessary assumptions, and obtain :

(i) Control limits of X -chart.

(ii) Estimate of the process standard deviation σ.

(iii) Estimate the percent defectives if the specification limits

are 440 ± 40.
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(e) (i) Describe double sampling plan in lot control. [4]

(ii) For double sampling plan :

N = 1000, n1 = 50, n2 = 100, C1 = 1 and C2 = 2

if the lots submitted for inspection are 4% defection, find

AOQ and ATI. [6]

4. Attempt any one of the following : [1×20=20]

(a) (i) In SRSWOR, with usual notations, show that E(s2) = S2.

Hence state the unbiased estimator of V( )x . [10]

(ii) A process produces 3% defectives. If n = 4, what would

be 3σ limits for the p-chart ? In this chart, what is the

probability of detecting a shift to 5% defectives in the

next sample of 400 units. [10]

(b) (i) Explain the terms : Consumer’s risk, LTPD and AOQ. [9]

(ii) Distinguish between defective and defect as used

in SQC. [5]

(iii) Write a note on OC curve of a single sampling plan. [6]
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S.Y. B.A. EXAMINATION, 2011

STATISTICS (Descriptive)

Special Paper I

(Continuous Probability Distributions and Demography)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Symbols and abbreviations have usual meanings.

(iv) Use of calculator and statistical table is allowed.

(v) Graph paper will be provided on request.

1. Attempt any two of the following : [2×5=10]

(a) If X ® U(a, b), then find the probability distribution of :

X
Y = .

a

b a

-

-

(b) Verify whether the random variables (r.v.s.) X and Y are

independent for the following p.d.f. :

f(x, y) = e–(x + y); x > 0, y > 0.

(c) Obtain the mode of the Chi-square distribution with n degrees

of freedom (d.f.).
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(d) The p.d.f. of r.v. X is :

f(x) = k(x – 1)3 ;  1 £ x £ 3, k > 0

= 0 ;  otherwise.

Find the value of k. Also find mean of X.

2. Attempt any four of the following : [4×5=20]

(a) Define the following terms :

(i) Distribution function of r.v. X (d.f)

(ii) Moment generating function of X (m.g.f.)

(iii) Probability density function of X (p.d.f.).

(b) Define gamma distribution with parameters (a, l). State and

prove its additive property.

(c) Describe the test procedure for testing H0 : m1 = m2 against

H1 : m1 < m2, state your assumptions.

(d) Let X ® N(m, s
2) with p.d.f. as :

( )
( )21

12 36
18

x x

f x ke

é ù
- - +ê úë û= ; k > 0, –¥ < x < ¥.

Find the mean and variance of the distribution. Also, compute

P[X ³ 12].

(e) The following is the information of certain town of swine-flu

cases. Test at 5% level of significance (l.o.s.), whether the

vaccination is effective to control the said disease ?

Vaccinated Not Vaccinated

Affected 03 22

Not affected 52 23
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(f) Define the following terms :

(i) GFR

(ii) GRR

(iii) ASFR.

3. Attempt any three of the following : [3×10=30]

(a) If X follows Poisson distribution with parameter (m), then

show that as m ® ¥, probability distribution of 
X m

m

-
 tends

to N(0, 1).

(b) Define Student’s t-variate with n d.f. and hence obtain its p.d.f.

(c) The joint p.d.f. of (X, Y) is given below :

f(x, y) = 2 ;  0 < x < y < 1

= 0 ;  otherwise.

Find :

(i) E(Y/X = x)

(ii) E(X/Y = y).

(d) If X and Y are two independent Chi-square variates with ‘m’

and ‘n’ degrees of freedom respectively, then show that

U = X + Y and V = 
X

Y
 are independently distributed.

(e) Let X1, X2, X3, ........., Xn be a random sample from

N(m, s
2), then show that X  and ( )

22S X Xi= -å  are

independently distributed random variables. Also find the

probability distribution of 

2

2

Sn

s
.
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4. Attempt any one of the following : [1×20=20]

(a) (i) Show that the mode of F distribution with n1 and n2

d.f. is always less than unity. [7]

(ii) The following is the information of random samples drawn

from two independent normal populations :

Sample No. Sample Size S x
i

S x
i
2

1 9 9.6 61.52

2 11 16.5 73.26

Test whether two populations have same variance. [Use

a = 2%.] [7]

(iii) Describe the test procedure for testing H0 : r = 0, state

your assumptions. [6]

(b) (i) Explain in detail paired t-test along with the assumptions

made. Give one illustration in which this test can be

used. [7]

(ii) Calculate ASFR and NRR for the following data :

Age in years Female population No. of births Survival factor

15—19 9000 180 0.92

20—24 9200 1012 0.91

25—29 8900 1068 0.90

30—34 8600 774 0.89

35—39 8400 420 0.89

40—44 8500 170 0.86

Consider proportion of female births = 0.48. Also interpret

NRR. [7]

(iii) State and prove lack of memory property of Exponential

distribution with parameter (a). [6]
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APPLIED MATHEMATICS

(AMG-2 : Calculus of Several Variables and Vector Calculus)
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following questions : [16]

(i) Show that the function f defined by :

1 1
( , ) sin sin , if 0

0 , if 0

f x y x y xy
y x

xy

   = + ≠  
  

= =

is continuous at (0, 0).

(ii) If

( , ) | |f x y x y= ,

then find the value of ( 4, 1)xf − .
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(iii) If

u x y

,

then show that :

.

(iv) Change the order of integration of :

2 2

0 0
( , )

a a x

f x y dy dx
−

∫ ∫ .

(v) If

3 3 3( , , ) 3 ,x y z x y z xyzφ = + + −

then find curl grad f.

(vi) Let

tan3 log (1 ) 2 1
( ) , 0

xx x
f x i j k x

x x x

+ −
= + + ≠ .

Find a vector (0)f  so that f  is continuous at x = 0.

(vii) If

( , ) cos sin ,f x y x yi x yj yk= + +

then find df .

(viii) Evaluate the integral of :

2 2( , ) ( ) 2f x y x y i xyj= + +

from o (0, 0) to p (1, 1) along the parabola y2 = 2x.
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2. (A) Attempt any one of the following : [6]

(i) If ( , )f x y  is a differentiable function of x and y and

( , ), ( , )x u v y u v= φ = ψ

 are differentiable functions of u and

v, then prove that :

f f x f y

u x u y u

∂ ∂ ∂ ∂ ∂
= +

∂ ∂ ∂ ∂ ∂

f f x f y

v x v y v

∂ ∂ ∂ ∂ ∂
= +

∂ ∂ ∂ ∂ ∂ .

(ii) If ( , )f x y  has an extremum at (a, b) and if the partial

derivatives 

,x yf f

 exist in a neighbourhood of (a, b), then

prove that :

( , ) ( , ) 0x yf a b f a b= =
.

(B) Attempt any two of the following : [10]

(i) If

2 2 1

2

( , ) ( ) tan , if 0

, if 0
2

y
f x y x y x

x

y x

−  = + ≠ 
 

π
= =

,

then show that :

(0, 0) (0, 0)xy yxf f≠ .
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(ii) Expand

f x y x y y

in powers of (x – 1) and (y + 2).

(iii) Evaluate

R

y
dx dy

x∫∫ ,

where R is the region bounded by the lines x = 2,

x = 4, y = x, y = 2x.

3. (A) Attempt any one of the following : [8]

(i) Evaluate

3

R

( )x y dx dy+∫∫ ,

where R is the region bounded by x + y = 1,

x + y = 4,  x – 2y = 1, x – 2y = –2.

(ii) If

3 3
1tan ,

x y
u

x y

−  +
=  

− 

then show that :

2 2 2
2 2 2

2 2
2 (1 4sin ) sin 2

u u u
x xy y u u

x yx y

∂ ∂ ∂
+ + = −

∂ ∂∂ ∂
.
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(B) Attempt any one of the following : [8]

(i) Prove that a non-constant differentiable vector function

( )u t  is of constant direction if and only if :

0
du

u
dt

× =

.

(ii) Find the directional derivative of :

2 3( , , )x y z xy yzφ = +

at the point (2, –1, 1) in the direction of 2 2i j k+ + .

In what direction is the directional derivative maximum ?

What is the magnitude of this maximum directional

derivative ?

4. (A) Attempt any one of the following : [6]

(i) If 

,u φ

 are respectively vector and scalar functions of

x, y, z possessing first order partial derivatives, then

prove that :

curl ( ) grad curlu u uφ = φ × + φ

.

(ii) If 

( , , )x y zφ

 is a scalar function, then prove that 

gradφ φ

is irrotational.



[4001]-280 6

(B) Attempt any two of the following : [10]

(i) If 

r xi yj zk

 and 

r r

, then prove that :

div ( ( ))

.

(ii) If ( , , )x y zφ  is a scalar function, then prove that :

curl (grad ) 0

.

(iii) Find the acute angle between the tangents to the

curve :

2 32r t i tj t k= + +

at t = 1 and t = 2.

5. (A) Attempt any one of the following : [6]

(i) Prove that :

  2 3 2F ( cos ) (2 sin 4) (3 )y x z i y x j xz z k= + + − + +

is a conservative force field and find a scalar potential

f such that :

F grad= φ .

(ii) Evaluate :

(2 4) (5 3 6)

c

x y dx y x dy− + + + −∫

around a triangle c in xy-plane whose vertices are

(0, 0), (3, 0), (3, 2) traversed in anticlockwise direction.
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(B) Attempt any two of the following : [10]

(i) Verify Stokes’ theorem for :

F yi zj xk= + +

and S, a surface of the sphere 2 2 2 1x y z+ + =  above the

xy-plane.

(ii) Show that :

2 2 2

S

( ) . 0x i y j z k n ds+ + =∫∫ ,

where S denotes the surface of the ellipsoid :

2 2 2

2 2 2
1

x y z

a b c
+ + = .

(iii) Verify Green’s theorem in the plane for :

2 2( 2 ) ( 3)f x xy i x y j= − + +

over the region bounded by y2 = 8x and x = 2.
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APPLIED STATISTICS (GENERAL)

(Applications of Statistics and Theory of Probability)
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of statistical tables and scientific calculator is allowed.

(iv) Symbols have their usual meanings.

(v) Graph papers will be provided on request.

1. Attempt any two of the following : [2×5=10]

(a) A bag contains 20 tickets numbered 1 to 20. One ticket is

drawn at random. Find the number of ways in which :

(i) it will have number greater than 12

(ii) it will be multiple of 3 or 5.

(b) A random experiment results in the following sample

space :

Ω = {1, 2, 3, 6, 8, 11, 15, 18, 20}. Let events A, B and

C defined on Ω be A : {1, 3, 8, 18, 20}, B : {1, 2, 3, 11,

15, 18, 20} and C : {1, 2, 20}.

Find P(A ∩ B'), P(A' ∪ B') and P((A ∩ B) ∪ C), assuming

equally likely sample points.

P.T.O.
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(c) What are index numbers ? Why are they called economic

barometers ?

(d) (i) Define :

(1) Union of two events

(2) Conditional probability.

(ii) State the axioms of probability.

2. Attempt any four of the following : [4×5=20]

(a) A discrete r.v. X has p.m.f. :
2

( ) , 1, 2, 3, 4
30

x
p x x= = .

Find E(X2 + 3X + 5).

(b) Describe :

(i) trend and

(ii) irregular variation in time series.

(c) (i) Define pairwise and complete independence of three

events.

(ii) For two independent events A and B, if P(A) = 0.4 and

P(B) = 0.3, find P(A ∩ B').

(d) Define Poisson distribution. State its mean and variance. State

the additive property of Poisson distribution. Also give real

life situations where this distribution is applied.
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(e) Explain the concept of :

(i) Multiple correlation

(ii) Partial correlation.

(f) Estimate the standardized death rates for the two countries

from the data in the table given below :

Age Group        Death rate per 1000 Standardized

(Years) Country A Country B Population

(in lakhs)

0—5 20 5 100

5—20 1 0.5 200

20—35 1.4 2 180

35—50 5 3.5 150

50—65 7.3 5 70

Above 65 40 20 10

Comment on the results obtained.

3. Attempt any three of the following : [3×10=30]

(a) (i) It is known from the past experience that 3% of the items

manufactured by a certain machine are defective. Find the

probability that, out of 10 items manufactured by this

machine :

(1) at most two are defective

(2) exactly three are defective. [5]
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(ii) For two-dimensional discrete random variable (X, Y)

define :

(1) Joint probability mass function (p.m.f.)

(2) Covariance

(3) Independence of random variables X and Y. [5]

(b) The mean, standard deviation and correlation coefficients obtained

for three characteristics X1, X2 and X3 are given below :

1X  = 20, σ1 = 4, r12 = 0.55

2X  = 8, σ2 = 1, r23 = 0.45

3X  = 610, σ3 = 81, r13 = 0.65

(i) Obtain the equation of plane of regression of X1 on X2

and X3.

(ii) Estimate X1 when X2 = 5 and X3 = 500.

(c) The joint distribution of (X, Y) is given below :

    X    
Y

1 2

0 0.2 0.1

2 0.2 0.3

4 0.1 0.1

Find :

(i) conditional p.m.f. of X given Y = 1.

(ii) conditional mean and variance of X given Y = 1.

(d) (i) Two fair dice are thrown. Find the probability distribution

of difference of points appearing on the top faces of

dice (X). [6]
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(ii) The price and quantities for year 2005 and 2008 of

commodities are as given in the table below :

Year       2005       2008

Commodity Price Quantity Price Quantity

(p0) (q0) (p1) (q1)

A 10 50 23 40

B 15 25 20 50

C 8 30 15 25

D 24 30 20 25

Calculate price index number for year 2008 taking 2005

as a base year using (I) Laspeyre’s formula and (II) Paasche’s

formula. [4]

(e) (i) If X and Y are two independent discrete random variables

with V(X) = 3 and V(Y) = 12, compute V(X + 3Y). [2]

(ii) Let X follow Poisson distribution with mean 5.

Find :

(1) P(X > 3)

(2) mode of the distribution. [3]

(iii) Probability distribution of a random variable X is given

in the following table :

X P(x)

0 0.10

1 0.15

2 0.30

3 0.20

4 0.14

5 0.09

6 0.02

Obtain :

(1) Mean and variance of X

(2) P(X = 4|X > 2). [5]
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4. Attempt any one of the following : [1×20=20]

(a) (i) The data given below are the average quarterly sales of

a certain item (in Rs.) for different years.

Compute seasonal indices by the method of simple averages

for these data : [6]

 Year 
 Quarter

I II III IV

2001 15 15 20 18

2002 18 18 22 16

2003 20 18 25 17

2004 22 13 19 16

(ii) One card is drawn from a full pack of 52 playing cards.

Discuss the pairwise independence of the following three

events :

A : A heart card is drawn.

B : King of heart is drawn.

C : Honour card (i.e. any one of Ace, King, Queen, Jack

card) is drawn. [6]

(iii) Discuss the usefulness of time series analysis. [4]

(iv) Explain the terms : G.R.R., N.R.R. and give its

interpretation. [4]
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(b) (i) Describe the method of estimating seasonal indices by link

relative method. [10]

(ii) Let X → B(n1 = 3, p = 0.4) and Y → B(n2 = 4,

p = 0.4) be two independent binomial variables. If

Z = X + Y, then find P(Z > 5). Also compute mean and

variance of Z. [5]

(iii) Define discrete uniform distribution. State its mean and

standard deviation. Also, give any two real life situations

where the uniform distribution is applicable. [3]

(iv) Let the p.m.f. of a uniform random variate be :

p(x) = k, x = 5, 6, ........, 16, k > 0.

Find the value of k. [2]
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S.Y. B.A. EXAMINATION, 2011

PHILOSOPHY

(G-2 : Philosophy of Indian Saints)

(Alternate Syllabus)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(i) Explain the term ‘Akal’.

(ii) Explain the impact of Shaivavada on Saint Jnanadeva.

(iii) What is Saint ?

(iv) Explain Basaveshwara’s approach to Pravritti-Nivritti.

2. Write short notes on any four of the following questions in 100

words each : [20]

(i) Bahenabai’s concept of True Brahman.

(ii) Samartha Ramdasa’s Maharashtra Dharma.

(iii) Saint Tukarama’s concept of God.

(iv) Chidvilasavada.

(v) Guru Nanak’s concept of Omkar.

(vi) Kabir’s criticism of traditional religion.

P.T.O.
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3. Answer any three of the following questions in 200-250 words

each : [30]

(i) Explain fully Saint Jnanadeva’s concept of God.

(ii) Explain the nauture of Ultimate Reality according to Saint

Kabir.

(iii) Explain Guru Nanak’s concepts of Hukum and Bhay.

(iv) Explain Basaveshvara’s Kayak-siddhant.

(v) Explain Saint Tukarama’s concept of True Dharma.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain Samartha Ramadasa’s monotheistic approach to Brahma

and Maya.

(ii) Explain the nature and role of Bhakti Movement in medieval

India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dkgh igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu  izðukaph mŸkjs izR;sdh 50 ðkCnkaar |k % [10]

(i) vdk« gh laKk Li"V djk-

(ii) lar Kkunsokaojh« ðkSooknkpk izHkko Li"V djk-

(iii) lar Eg.kts dk; \

(iv) closðojkapk izo`Ÿkh&fuo`Ÿkhfo"k;d n`f"Vdksu Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVi.k f«gk % [20]

(i) lar cgs.kkckb±ph [kÚ;k czk„.kkph ladYiuk-

(ii) leFkZ jkenklkapk egkjk"V™ /keZ-

(iii) lar rqdkjkekaph ijesðoj ladYiuk-

(iv) fpf}«klokn-

(v) xq# ukudkaph vksadkj ladYiuk-

(vi) lar dfcjkaph ikjaikfjd /kekZojh« fVdk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200&250 ðkCnkar |k % [30]

(i) lar Kkunsokaph bZðoj ladYiuk lfoLrj foðkn djk-

(ii) lar dfcjkauk vfHkizsr vl«sY;k vafre ln~lŸksps Lo:i lfoLrj foðkn djk-

(iii) xq: ukudkaP;k gqdwe o Hk; ;k ladYiuk Li"V djk-

(iv) closðojkapk dk;d&flºkar foðkn djk-

(v) lar rqdkjkekaph [kÚ;k /kekZph ladYiuk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar |k % [20]

(i) leFkZ jkenklkapk cz„ o ek;k ;kckcrpk ,dsðojoknh n`f"Vdksu Li"V djk-

(ii) e/;;qxhu Hkkjrkrh« HkDrh&pˇoˇhps Lo:i o Hkwfedk ;kfo"k;h ppkZ djk-
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(G-2 : Philosophy and Good Life)

(Alternate Syllabus)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(i) What is the doctrine of Panchakosha ?

(ii) What is biocentrism ?

(iii) Describe Charvaka’s concept of Moksha.

(iv) What is business ethics ?

2. Write short notes on any four of the following questions in 100

words each : [20]

(i) The need for a Code of Conduct for Media.

(ii) Ashtanga Yoga.

(iii) Paternalism.

(iv) Aristotle’s concept of virtue

(v) Religious tolerance.

(vi) Shallow ecology.
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3. Answer any three of the following questions in 200-250 words

each : [30]

(i) Discuss Aristotle’s concept of eudaemonia.

(ii) What are the ethical issues concerning employers and employees ?

(iii) State and discuss the Buddhist concept of Arhat.

(iv) Critically discuss the issue of vegetarianism.

(v) What are the main principles of bio-medical ethics ? Discuss

any one of them.

4. Answer any one of the following questions in 500 words : [20]

(i) Discuss the ideal of ‘Jeevan Mukta’ and Dnyana Marga as a

way to achieve it as per Vedanta Darshan.

(ii) Write an elaborate essay on ethical issues concerning euthanasia.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dkgh igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar |k % [10]

(i) iapdksðk flºkar Eg.kts dk; \

(ii) ^thodsaÊokn Eg.kts dk; \

(iii) pkokZdkaP;k ^eks{k* ladYiusps o.kZu djk-

(iv) /kanÓkps uhfrðkkL= Eg.kts dk; \
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVi.k f«gk % [20]

(i) ek/;ekalkBh vkpkjlafgrsph xjt-

(ii) v"Vkax ;ksx

(iii) iSr`dokn

(iv) vfjLVkWV«ph ^ln~xq.k* ladYiuk-

(v) /kkfeZd lfg".kqrk

(vi) mFk« ifjljfoKku-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200&250 ðkCnkar nÓk % [30]

(i) vWfjLVkWV«P;k ^;wMseksfu;k* ;k ladYiusph ppkZ djk-

(ii) ek«d&uksdj laca/kkrh« uSfrd eqÌs dks.krs vkgsr \

(iii) ckSºkaph ^vgZr* ladYiuk lkaxwu frph ppkZ djk-

(iv) ðkkdkgkjoknkP;k eqnn~Ókph fpfdRld ppkZ djk-

(v) tSo&oSnÓdh; uhfrðkkL=krh« izeq[k rRos dks.krh \ dks.kR;kgh ,dkph ppkZ

djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar nÓk % [20]

(i) osnkUr nðkZukuqlkj thoueqDrkpk vknðkZ vkf.k rks izkIr dj.;kpk mik; Eg.kwu

KkuekxZ ;kaph ppkZ djk-

(ii) LosPNkej.klaca/kh uSfrd ewY;kaoj foLr`r fuca/k f«gk-
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S.Y. B.A. EXAMINATION, 2011

PHILOSOPHY

Special Paper (S.1)

(Indian Philosophical Approaches)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Explain the Buddhist concept of Nirvana.

(2) Explain Charvaka’s criticism on Vedic Ritualism.

(3) Explain the concept of Chittavritti according to Yoga.

(4) Explain the criticism of Upanishadic philosophy on ritualism

of Brahmanas.

2. Write short notes on any four of the following questions in 100

words each : [20]

(1) Jaina’s Anekantvada.

(2) Doctrine of Eight-fold Path in Buddhism.

(3) The concept of Atman according to Vaisesika Darshan.

(4) Akhyativada of Mimamsa Darshan.

(5) Vedanta’s Mayavada.

(6) Para and Apara Vidya according to Upanishadas.

P.T.O.
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3. Answer any three of the following questions in 200-250 words each : [30]

(1) Explain the interrelation between Purusha and Prakriti according

to Sankhya.

(2) Explain the nature and classification of Pratyaksha Pramana

in Nyaya Darshan.

(3) Explain Charvaka’s Dehatmavada.

(4) Explain the Upanishadic distinction between Vidya and Avidya.

(5) Explain the idea of Pratityasamutpada according to Buddhism.

4. Answer any one of the following questions in 500 words : [20]

(1) Write an essay on the doctrine of Nishkam Karmayoga according

to Bhagwatgita.

(2) Explain and critically evaluate Jaina theory of Bondage and

Liberation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk % [10]

(1) ckSºkaph ^fuokZ.k* ladYiuk Li"V djk-
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(2) oSnhd deZdkaMkojh« pkokZdkaph Vhdk Li"V djk-

(3) ;ksx nðkZukuwlkj fpŸk`o`Ÿkh gh ladYiuk Li"V djk-

(4) czkEg.;kae/kh« deZdkaMkoj mifu"knkapk rRoKkukus ds«s«h Vhdk Li"V djk-

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkr Vhik f«gk % [20]

(1) tSukapk vusdkarokn

(2) cqºkapk vk;Z v"Vkax ekxZ

(3) oSðksf"kd nðkZukuwlkj vkRE;kph ladYiuk

(4) feekalk nðkZukrh« v[;krhokn

(5) osnkarkpk ek;kokn

(6) mifu"knkauwlkj ijk vkf.k vijk fo|k-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk % [30]

(1) lka[; nðkZukuwlj iq#"k vkf.k izœrh ;kaP;krh« ijLijlaca/k Li"V djk-

(2) U;k; nðkZukuwlkj izR;{k izek.kkps Lo:i vkf.k oxhZdj.k Li"V djk-

(3) pkokZdkapk nsgkReokn Li"V djk-

(4) fo|k vkf.k vfo|k ;kr mifu"knkauh ds«s«k Hksn Li"V djk-

(5) ckSº nðkZukrh« ^izfrR;leqRikn* gh dYiuk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk % [20]

(1) Hkxor~fxrsrh« fu"dke deZ;ksxkph fðkdo.k ;koj lfoLrj fuca/k f«gk-

(2) ca/k vkf.k eks{k ;klaca/khph tSukaph miiŸkh Li"V d:u frps fpfdRld ijh{k.k

djk-
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S.Y. B.A. EXAMINATION, 2011

PHILOSOPHY : (S-2)

(History of Western Philosophy Ancients, Medievals and Modern)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(a) State Thale’s view about reality.

(b) State and examine St. Anselm’s argument for the existence

of God.

(c) Explain the notion of cogito in Descartes.

(d) Bring out the basic features of Berkeley’s empiricism.

2. Write notes on any four of the following in 100 words each : [20]

(a) Heraclitus’s view of reality.

(b) Plato’s response to Sophist’s relativism.

(c) St. Augustine’s concept of God.

(d) Leibniz’s distinction between Truths of reasons and Truths of

facts.

(e) Kant’s distinction between analytic and synthetic judgement

(f) Spinoza’s Pantheism.

P.T.O.
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3. Answer any three of the following in 250 words each : [30]

(a) What, according to Socrates, is the relation between virtue

and knowledge ? Discuss.

(b) State and explain Plato’s theory of forms.

(c) Discuss Hume’s views on Causation.

(d) Explain Spinoza’s concept of substance as a response to Descartes’

dualism.

(e) Elaborate Kant’s critique of empiricism.

4. Answer any one of the following in 500 words : [20]

(a) Write an essay on Hegel’s Absolute Idealism.

(b) What is the problem of change ? Discuss Aristotle’s view of

causation as a response to it.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMokosr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) ewˇ baxzth izðuif=dk gh igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(v) Fksf«lpk fo'okfo"k;hpk n`f"Vdksu lkaxk-

(c) lar vUlsYepk bZðojkP;k vfLrRokfo"k;hpk ;qfDrokn lkaxwu R;kps ijh{k.k

djk-

(d) nsdkrZP;k rRoKkukrh« fopkjdj.kkjkeh gh dYiuk Li"V djk-

(M) cdZf«P;k vuqHkooknkps ew«Hkwr xq.k/keZ foðkn djk-
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar Vhik f«gk % [20]

(v) gsjkfD«Vlpk foðokfo"k;hpk n`"Vhdksu-

(c) lksfQLVkaP;k lkis{krkoknk«k I«sVkspk izfrlkn-

(d) lar vkWxLVhuph bZðojfo"k;d ladYiuk-

(M) «kbfCu>us cqºhxE; lR; vkf.k rF;fo"k;d lR; ;kar ds«s«k Hksn-

(b) dkaVus foð«s"kd vkf.k lað«s"kd fu"d"kZ fo/kkukar ds«s«k Qjd-

(Q) fLiuks>kpk losZðojokn-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [30]

(v) lkWÿsfVlP;k erkuqlkj ln~xq.k vkf.k Kku ;karh« laca/k dk; vkgs \ ppkZ

djk-

(c) I«sVksph vkdkjfo"k;d miiŸkh lkaxk vkf.k Li"V djk-

(d) dkj.krsfo"k;d gÓweP;k fopkjkaph ppkZ djk-

(M) nsdkrZP;k }Sroknkr izfrlkn Eg.kwu fLiuks>kph ÊO;fo"k;d ladYiuk Li"V djk-

(b) dkaVus vuqHkooknkph ds«s«h fpfdRlk riðkh«okj ekaMk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(v) gsxs«P;k dso« fpn~oknkoj fuca/k f«gk-

(c) ifjorZukph leL;k dk; vkgs \ ;k leL;s«k izfrlkn Eg.kwu vWfjLVkWV«P;k

dkj.kfo"k;d izfrlknkaph ppkZ djk-
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S.Y. B.A. EXAMINATION, 2011

COMPUTER APPLICATIONS

Course III (Vocational)

(Theory)

RDBMS

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Question No. 1 is compulsory and solve any five from the

remaining questions.

(ii) Draw a neat labelled diagram wherever necessary.

(iii) Figures to the right indicate full marks.

1. Define RDBMS. Explain the advantages of RDBMS. [10]

2. Explain in brief the following terms with syntax and example : [6]

(a) Create Table

(b) Grant

3. Explain in brief the concept of Normalization upto third Normal

Form. [6]

P.T.O.
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4. Explain the following functions : [6]

(a) Max()

(b) Count()

5. Explain in brief the following : [6]

(a) Primary Key

(b) DCL

6. Explain the following with examples : [6]

(a) Where and Order By Clause

(b) Like Operator.

7. Explain in brief Structured Query Language and its features. [6]
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S.Y. B.A. EXAMINATION, 2011

FUNCTIONAL ENGLISH

(Vocational Stream)

Paper III

(Advanced Writing Skills and Introduction to Electronic Media)
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) (i) Give two different adjectives each to describe the

following : [5]

• A movie

• A friend

• A scene

• A building

• A favourite dish.

Or

(ii) Give one word for the following : [5]

• Small one of a lion

• The person who presides over a meeting

P.T.O.
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• A set of basic laws and principles for a country that

describes the rights and duties of the citizens

• A protest march

• One who takes care of a patient.

(B) (i) Identify the register of the following paragraph and underline

its markers : [5]

Acupuncture, a system of treatment of diseases, has been

practised in China for nearly five thousand years. It consists

in the rapid insertion of fine steel needles, about six

centimetres long, in particular spots on the body of the

patient. After inserting the needle, the doctor twirls it

between his thumb and forefinger. There are hundreds of

acupuncture points on the body. When a puncture is made

on a spot on the body, energy flows from there along

lines known as ‘meridians’ to the diseased organs. This

flow of energy helps to restore the balance of the system

and thus correct the disorder.

Or

(ii) Identify the style of each of the following sentences : [5]

(1) What about having a cup of tea ?

(2) All the visitors are requested to maintain silence.

(3) The arrival of His Majesty is awaited.

(4) Can I borrow your tape recorder please ?

(5) I think India will be a Superpower in 2020.
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2. (i) You are selected for a National Level NSS Camp to be held

in Jaisalmer, Rajasthan. Write a letter to the Head of your

department requesting him to allow you to remain absent for

twenty days. [5]

Or

(ii) Write a letter to your brother working in Pune to buy some

books for you that you need for your study. [5]

3. (A) You are working for a computer institute that wants to start

another branch in your city. You are asked to make a survey

and submit the report to the director of the institute. Write

the report considering the following points :

locality; target group; other computer institutes; courses; means

of transport. Include your comments and recommendations. [10]

(B) Write a report of the tree plantation programme conducted

by your college on the occasion of the Independence

Day. [10]

4. (A) The Arts Circle of your college has invited a well-known actor

for its inauguration. You have to compere the programme. Write

the script for it considering the points given below : [10]

• Welcome song
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• Lighting of the auspicious lamp and worshipping the idol

of Nataraj, the God of Fine Arts

• Introductory remarks by the Chairman of Arts Circle

• Felicitations of the guests

• Introduction of the chief guest

• Speech by the chief guest

• Presidential address by the Principal

• Vote of thanks.

(B) Answer the following questions (any two) : [10]

(1) What are the different types of Radio Programmes ? Write

a note on any one of them.

(2) Comment on the entertainment value of Radio.

(3) What are the qualities of a good radio announcer ?

(C) Answer the following questions (any two) : [10]

(1) Explain the concept ‘programmes for select audience’. Give

examples.

(2) To what extent, are private news channels a credible source

of information ? Explain.

(3) “Language skills and presence of mind along with the

knowledge of the given issue are essential qualities of a

good TV correspondent.” Explain.
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5. Answer the following questions (Any three) : [15]

(1) In what way a sports commentator on radio, in the absence

of TV camera, requires superior languages skills ?

(2) How can the Electronic Media be useful in educating

people ?

(3) Comment on the statement, “Electronic media adversely affect

the reading habits of children.”

(4) Compare TV and Radio news with special reference to the

use of language.

(5) Which electronic media, according to you is more appealing ?

Why ?
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat labelled diagrams and sketches wherever

necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (Around 50 words) : [10]

(i) Departments of Travel Agency

(ii) IATA

(iii) Tourists cars

(iv) Define Marketing.

2. Write short notes on any four (Around 100 words) : [20]

(i) Travel insurance

(ii) Exchange rate

P.T.O.
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(iii) Ground staff

(iv) Break journey

(v) Indian Airlines

(vi) Pamphlets.

3. Answer any three (200-250 words each) : [30]

(i) Definition and importance of hotels.

(ii) Linkage of tourism with tourism organizations.

(iii) Explain the development of marketing strategies in tourism

industry.

(iv) Write the definition and procedure of VISA.

(v) Explain “Dubai Shopping Festival”.

4. Answer in detail any one (Around 500 words) : [20]

(i) How does tourism industry link travel agency and accommodation

industry ?

(ii) Explain Royal Orient and mention its Itinerary.
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(iz;kstuewyd fganh % oksds'kuy)

iz'ui= III

(jktHkk"kk fganh] fganh esa i=kpkj] foKkiu] i=dkfjrk rFkk vuqokn&1)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks x, vad iz'u ds iw.kk±d gSa A

(iii) foHkkx ^v* vkSj ^c* ds mŸkj ,d gh mŸkj&iqfLrdk esa fyf[k, A

foHkkx ^v*

1. (d) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [10]

(i) jktHkk"kk vf/kfu;e 1976 ds izeq[k mica/k]

(ii) ljdkjh vkSj v/kZljdkjh i= esa varj]

(iii) okf.kfT;d] O;kikfjd i=ksa ds dk;Z]

(iv) foKkiu ds mn~ns'; A

([k) jk"V™Hkk"kk izdk'ku] ubZ fnYyh dh vksj ls izxfr cqd lsaVj] iq.ks dks uohure

izdkf'kr ^O;kogkfjd fganh* iqLrd ds foÿ; izLrko dk izk:i rS;kj dhft,A [6]

vFkok

egkohj bysfDV™dy iq.ks dh vksj ls fofM;ksdkWu daiuh vkSjaxkckn dks okWf'kax

e'khu ds ewY; rFkk ÿ; dh 'krs± iwNus ds laca/k esa i= fyf[k, A

P.T.O.
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2. (x) fuEufyf[kr esa ls fdUghas rhu iz'uksa ds mŸkj la{ksi esa fyf[k, % [9]

(i) fganh esa dk;Zlk/kd Kku dk D;k vFkZ gS \

(ii) ^d* vkSj ^x* {ks= ds chp gksus okys i=kfn O;ogkj dk Lo:i crkb, A

(iii) ifji= dk Lo:i Li"V dhft, A

(iv) ^ladYi* ds izeq[k vax dkSu&ls gSa \

(v) iwNrkN dk i= fy[krs le; fdu ckrksa dh vksj /;ku nsuk pkfg, A

(?k) fuEufyf[kr lkr foKkiu&okD;ka'kksa@?kks"kokD;ksa ds vkxs muds mRikn~;&oLrq ds

uke fyf[k, % [7]

(i) vc bafM;k cusxk Vk;xj----------------- A

(ii) Veh Hkh [kq'k vkSj eEeh Hkh [kq'k----------------- A

(iii) [kqf'k;ksa dh pkch----------------- A

(iv) [kwclwjrh cl esa] nqfu;k dneksa esa-----------------A

(v) lqj{kk dh xSjaVh-----------------A

(vi) gj lQyrk ds fy, 'kkafr t:jh gS-----------------A

(vii) lQsn cky] cu x, vk[kjh-----------------A

foHkkx ^c*

3. (p) fuEufyf[kr vuqPNsn dk fganh esa vuqokn dhft, % [7]

euhyk jk=h manjksck f'kaD;koj p<rkr gs ekghr >kys gksrs- rsFkwu R;kyk gkdywu

dksBhP;k [kksyhdMs ?kkyfo.ks Hkkx gksrs Eg.kwu euhus izFke f'kaD;koj [kkywu
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gYyk p<foyk- euh f'kaD;koj ;sbZy v'kh Hkhrh okVwu manjksckus [kkyh mMh

ek:u vkiY;k fcˇkph okV /kjyh- rsOgk rs ,dne dksBhP;k [kksyhdMs

/kkoys- i.k okVsr R;kauk is<k fnlyk- ^fouk'kdkys foijhr cqn~f/k* ;k U;k;kus

is<k mpywu rks vkiY;k iksjkalkBh ?kjh U;kok vls okVwu rs fufe"kkr

v/kkjkr Fkkacys- fu'kk.kh rj Bjyhp gksrh- euhus vkiys ?kkjs Mkš s yqdyqdfoys

o rkcMrksc mMh ek:u manjkph idMyh-

(N) izfrla'kks/ku ds fpg~uksa dk iz;ksx djrs gq, fuEufyf[kr ifjPNsn dks fQj

ls fyf[k, % [7]

lk/kqus le>k;k] ^^egkjkt] Hkz"V kpkj vkS j lnk pkj euq"; dh vkRek esa

bZekudy fQj dj nsrk gS vkSj fdlhdh vkRek esa csbZekuh dh A bl dy

esa ls bZeku vkSj csbZekuh ds Lo j fud yrs gSa ftUgsa ^vkRek dh iwdkj*

ds vuqlkj gh vkn eh dke djrk gS A iZ'u gS fd ftu dh vkRek ls

csbZekuh ds Loj fudyrs gS] mUgsa nkcdj bZeku ds Loj dS ls fudkys tk,° \

eSa dbZ o"kks± ls blhds fpaUru esa yxk gq° A vHkh eSaus ;g lnkpkj dk

rkoht cuk;k gS A ftl vkneh dh Hkw tkij ;g c/kk° gksxk] og lnkpkjh

gks tk,xk A

4. (t) vkids egkfon~;ky; esa Nk=ksa ds fy, f}&fnolh; vuqokn dk;Z'kkyk dk vk;kstu

fd;k tk jgk gS A bl lanHkZ esa izsl&foKfIr rS;kj dhft, A [6]

(>) (I) fuEufyf[kr esa ls fdUgha ik°p ds fganh ikfjHkkf"kd 'kCn fyf[k, % [5]

(i) Adjustment of Account
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(ii) Data collection

(iii) Credit Balance

(iv) Come into force

(v) Quasi judicial

(vi) Buzzer

(vii) Curve

(viii) Water fight.

(II) fuEufyf[kr esa ls fdUgha ik°p ds vaxzsth ikfjHkkf"kd 'kCn fyf[k, % [5]

(i) okf"kZdh

(ii) izkoj.k i=

(iii) udn cV~Vk

(iv) voewY;uij

(v) Hkw&{kj.k

(vi) izToyu

(vii) /kqjkHkkj

(viii) fxV~Vh xkMh A

5. fuEufyf[kr esa ls fdUgha rhu ij fVIif.k;k° fyf[k, % [18]

(i) i=dkfjrk dk mn~ns';]

(ii) izfrla'kks/kd ds xq.k]

(iii) laoknnkrk dh Jsf.k;k°]

(iv) ekbÿkslkW∂V ,Dlsy]

(v) dk;kZy;ksa esa ,e-,l-oMZ dh mi;ksfxrk A
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Time : Two Hours Maximum Marks : 40

N.B. :— (i) Question No. 1 is compulsory and solve any five rest of

the questions.

(ii) Draw a neat-labelled diagram wherever necessary.

(iii) Figures to the right indicate full marks.

1. Explain System Development Life Cycle with diagram. [10]

2. What is a system ? What are the elements of a system ? [6]

3. Who is System Analyst ? State the role of system analyst. [6]

4. Explain the following : [6]

(a) Integrated system

(b) Flow-charting.

5. What is E-R model ? Explain in brief key elements of E-R model. [6]

6. Explain the need of feasibility study before taking up the task of

system design. [6]

7. What is normalisation ? What are the different forms of normali-

sation ? [6]

P.T.O.
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